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1. Ty fareg GifAadt GENERAL ELECTRICALENGINEERING

forres o 1.5 KW wre7 %7 s w97 % i, MCB 1 72w
For the protection of single-phase 1.5 kW motor, a MCB of rating [b]
should be provided
() 10A (b) 16A (c) 32 A (d) 63 A
AT 1T ST
The low power factor results in [a]
(a)z1f 7 721 £ Increased losses(b) =1+ #1 57 %771 ¥ Decreased losses
(c) #1177 #7E nfraAa /81 2 No effect on losses(d) Jz=7 s+ nfwfamsft
Better generating efficiency
1 wi=7 F7=7/ Low power factor [b]
(a) g7 7 wper FaEraw Aids the voltage regulation(b) #1=== 7sir19a 7 573/ Increase the
voltage regulation (cj7m==+ =w=#r7 51 31 5791 #/Decrease the voltage regulation
(d)=74= % 71 %17 771 /None of the above
T AT T T ST — T §7A g A9 AT AEAT 2
The power factor of the AC supply can be improved by using [c]
(a) Fr#m T927/Synchronous generator (b) =zfFas w127 Universal molor
(c) = w=za77 Synchronous condenser  (d) mTATSCR
440 V 771 A7 ArgA §1 — F =7 § 7ofiga e A £
A distribution line of 440 V is classified as [b]

@) LV (b) MV (c) HV (d) EHV
FaffaaT 5§ — 57 des o927 § 57 § I7q0T AT (#ar v @

Which of the following is not used as a overhead conductor [c]
(a) ACSR (b) Weasel (c)PILCA (d) Zebra

Frarfafaa i 7 — ofa7 fer STew e

Which of the following reduces the power factor [d]
(a) 5127 a7 &tz Motor on noload  (b) =73 Tz7 Tube lights (c) TrFans

(d) v sr<1All of the above

Under high voltage test cable shall withstand an AC voltage of [b]
(@)  1.5kV (b) 3kV (c) 5.2 KV (d) 7.2 kV

IF PSR 22 ¥ FANE, FA9 AT deA - F age FEde g

Under high voltage test cable shall withstand a DC voltage of [d]

(@)  1.5kV. _ (b)3kV _ (c) 5.2 kV (d) 7.2kV
FI7 AT=7 THA T T AT - AT arg § et e e

Under water immersion test cable is immersed in a water bath at [c]
(@) 40°C (b) 50" C (c) 60° C (d)70° C
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1.

13.

14,

15.

165,

17.

18.

19.

7 THR 252 F 0. Faa 1 vw v 7 WA arvee § g mr A e 24 99 ¥ aw, v e
¥ B e @ el S fa wm Teea — 2

For water immersion test, cable is immersed in hot water at specified [d]
temperature, after 24 hrs the voltage applied between conductor and water for

five minutes s

(@ 3kV (b) 4 kV (c) 5 KV (d) B kV

FAT T Iz -
Unit of energy is [b]

() Kilo volt hours (b) Kilo watt hours (c) Kilo watt

Ohm’s law ¥ s=7117

As per Ohm's law [a]
@mVv=IR bV=IR c)R = VXI

Tz #1777 -— ¥ Unit of resistance is [c]
(a)Ampere  b) Volis ¢) Ohmd) 7= # 71 712 771 none of the above

AT 415 volts SOHz T#TE § %77 2 Ff A2 4 —- 3

In three phase 415 volts 50 Hz supply, the phase to phase vollageis [b]
(1)220 Volts b) 415 volts c) 440 volts

A1 w7 415 volts 50 Hz 4T § %% 7 %7 a2 § ~—— 2

In three phase 415 volts 50 Hz supply, the phase to neutral voltage is [b]
(i) 220 volts (b) 240 volts (c) 440 volts

4 sq. mm PVC a7 # , 4 sq. mm —s
In 4 sq. mm PVC wire, 4 sg. mm stand for [c]
i) =T+ #1911 Thickness of wire (b) aTa= #i #ar¥/Length of wire

(c) arre 41 777TE 77 477/ The area of thickness of wire

FHT FT qT9 F 97 7600 T — FET 2

The instrument to measure the light is called [b]
(a) =T Tongtlester (b)  =rdf=7 Lux meter (c)srz#1dr=r Micro meter

500 watt 7+ 1 10 7= % oo swamer fem a w7 5501 1 =79 —- 211
10 hours use of 500 watt lamp will consume the energy [c]
(a1) 10 units (b) 20 units (c)  Sunits
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20, MCB/TPN # rrat € =5y ——

No. of poles in MCB/TPN is [b]
(u) 2 poles (b) 4 poles c) 3 paoles

2. AC.f1—3FTD.C.RTTATATAIZ
A.C. is converted into D.C. by [d]
{a) =ra=TH1 Dynamo (b) #1=7 Motor.
(¢) ==+ Transformer (d) = Rectifier

22. Farad—wraf= %
Faradis a unit of (D]
(a) e Flux (b) #iferz=1 Capacitance
(c) e mee=r Mutual inductance (d) #2%=7 ¥1 9f5717 Resistance of a conductor

I
i

ety —wrafe=
A kilowatt-houris a unit of [a]

(@) == Energy (b) TAfET= frafi=aElectrical potential
(c) wiaT Power (d) o= %72 Electric current

24, 100 watt s FRrga s 200 Volts w e s= 717, T s o sz —g fer s 2

An electric lamp is marked 100 watt. It is working on 200 Volts. [a]
The current through the lamp is given as
1) 0.5 Amp. (b) 0.2 Amp. (c) 5.0 Amp. (d)1.0 Amp.

25. C/H s7=9m F77 7 T2 Fwtates 7= ae B am,
Before carrying out O/H maintenance following is due [d]
i) zr=rprge w1 fFw ais Far 2Transformeris swilched off

by =Tt 7= e At e o £ DG set is switched off
) =T A 5 st fr ar £ HT panel is switched off
d) w705 OfH =7 %55 4% 17 earthed o 71 * Respective O/H feeder is

switched off and earthed
20, grzwamtrrd | Ay Ay — R I e
In house wiring the red wire indicates the [al]

i) %7 Phase(b) === Neutrd  (c)a =m9= Earth wire(d) 3= ar37Dead wire
27, grEmamt E v A —afEA AT

In house wiring the black wire indicates the [b]
u) %7 Phase  (b) =iz7Neutral (c) s+ Earth wire (d) Dead wire
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29,

30,

3L

Yo

33.

33.

36,

[

ZrEH AT § 297 A7 —ATA TAT S
In house wiring the green wire indicates the

i) 77 (Phase  (b) === Neutral (¢) #+4 =T77 Earth wire (d) #= 3197 Dead

wire,

4 717 T Tz 0, A Few7 — % fam g fer e
In 4 wire electric circuit, the black conductor s used for
i) F#/Phase  (b) 7z7Neutral (c) =+ =77 Earth wire(d) *#+Armour

Fafa e, 99 1 -— F97 F2F7 9 T Ay AT e
In cabling system the earth is connected with conductor having

i) AT Red (b) AT blue  (c) 1 yellow (d)=r= Armour

F9E T YT — .
Unit of current is

i) Watt (b) Ampere (c) Volt (d) ochm

#127 nfeite — F9797 TA7 £ Heater element is made up of

1) f=Tin (b) Frar Nichrome  (c) =Tt Silver (d) =vi= # 7 T7¢Any above
TFATEE 7+t 77 fprlz — S AT AT S

Filament of incandescent lamp i1s made of

a) Tin (b) Nichrome (c) Tungusten (d) Silver
TARAZT e FTAT AT

An insulator should have

a) =g 757 High resistance  (b) =3 F=r7#== High conductance

(c) =3 Tzi="FHigh conductivity (d) 77w =47 All of the above

e w1 e w9 ¥ o et 9 7 — 7 s e 2
Which of the following is used to make electric connections
) ar=a+ Solder (b) PG 797 clamp

() Fr== Thimbles (d) =i =+t All above

Fr=far gefrey s &1 afF #1979 F B0 —— 3oy 57 3y B A 2
Instrument used for measuring the speed of rotating machines/

appliances is

i) 7 Hz7 Lux meter  (b) *#1+fi=+ Tachometer (c) wrzams=T Micrometer

(d) =74 % 7 #1¢ 797 None above

[c]

(0]

[d]

[b]

[b]

[c]

[a]

[d]

[b]
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37.  arwifery $r Gt arm F Fr —— e & T e e d
Instrument used for measuring the thickness of wire/strip is [c]
i) Fer#ET Lux meter  (b) Z=f=7 Tachometer (¢) sz z"Micrometer

(d) i & 41 7 None above ‘
38.  FETEF SIOAT ATRIA AT F A TR FT TTATT AT ATAT

Instrument used for measuring the voltage across a circult is [b]
i) g7 Ammeter (b) =417 voltmeter (c) wwiHr=7 Thermometer
(d) =7= # 31 ¥7¢ 7771 None above

390, FeEAmA TR — 3w i rrm My A e

Instrument used for measuring the current is [a]
o) JuiT=7 Ammeter (b) ar=siT=7voltmeter (c) wwiz7 Thermometer
(d) = & 7 ¥ 771 None above
40,  ATTEA AT T AT — 3w w1 i e AT 2
Instrument used for measuring the temperature is [c]

i) awiTET Ammeter (b) ar==wT=7voltmeter  (c) @wT#="Thermometer
(d) =7 = # 7 71z 771 None above

41. TR S99 — F AT 0T AT R
Nlumination level is measured in terms of [a]
i) 7 Lux (p)sr=Volt  (c) "fErvAmpere  (d)#rs Ohm
42— T I FIA F SAATEN A A U AAT 2
Insulating resistance is measured by using [b]
) geAEsMultimeter  (b) Teerue swrrinsulation Megger(c) #r=Tz7Voltmeter
(d) #rinfr=s Hydrometer
43. mfirar e s P e g —sw T ey o 2
Which of the following is used for rechification of AC supply [a]

i) =rirzsi/Diodes (b) =if=r=+ Transistors (c) FTi#=7/Capacitor
(d) #F=#/Resistors
44, Fvamfer s auy e dard s il
Which preparation should be done starting a new wiring [a]
i) i+ 477 F97T Prepare a wiring diagram  (b)uf= fom= 5 o e
Prepare for shock treatment (C) 7151 Both a & b (d) 7%= # & %72 571 None of the above

45, amafiw sz ®, WA F1 - 7T ATOAT

In wiring circuit the fuse will be placed or [a]
(a) "7Phase (b) =rz=Neutral
(c) =1 Earth (d) =rg= & # v 7¢1 Any of the above
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46. w7 ATze ¥ A amten 5938 399 7 vea, FefHiae 8 7 — 777 fen Jm
Which of the following tests should be done before connecting a wiring to the main line
[a]

(a) IR test (b) FF==rfr ==Continuity test (c) =21 z==Polarity test(d) =TI= 7 7
7Tt Any above

47 wraw rater merdt &1 v st & & -2

Which of the following is a common wiring fault [d]
(@) «m% = Short circuit (b) == 7= Open circuit(c) 777 = 1TFuse blown
(d) =i+ 7+1/All above

AB.rafRF A T Ae g g —=2

Wattage rating range of electric kettle is [b]
(a) 50-500 W (b) 350-1000 W (c) 1000-1500 W (d) 1200-1600 W

49, T AT TAtHE dre F A — T s fer A

Device used for auto off an electric iron is [a]
(a) === fers Thermostat switch(b) 7 7 Az0verload relay  (c) zrzw 27 Fa=Time delayf
switch (d) == & 7 12 Any of the above

50. w7 w07 TR TfE it geeE ¥ A4 E

Can you repair an immersion rod [a]
(a) =¥1 No (b) zTYes (c) wrr feafs v+ wnars 21t depend on condition(d) TTi= & 7 %1
771 None above.

51,9107 = %1 —— FT TaTdET a7 % 5 v fey s g

A wire gauge is used to measure diameler of [a]
(a) 7127 Wire (b) F=7rcable (c) OH F=%=7 conductor (d) 7= ® 71 FrEAny
above

52, a7 FT Fr v = A IR A -—g s B am 2
To improve the power factor, capacitors are connected in the [a]
circuit as
(@) 77 T Parallel pathb) 7777 77 Series path
(c) Any of a & b # 71 712 ¥ (d) =T ¥ 7 ¥77 777 None of the above

53. fat % e Trardt ¥ s At 7 st a7 e ot wea F B, FefEfEE
To switch ON or switch OFF the supply in accordance with day light,following is used [al
(a) 7rz= femrsz Taw=rLight dependent resistor(b) =r=f&w nfafzr srrsLight emitting diode
(c) Any of a & b =141 # 7 F1% TR (d) =74 # ¥ %7 7771 None of the above
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54 At a oty w9z srefer e &

In arder to draw more current from the electric source [a]
(a) #fersr=t A w w7 Fam 7 2 Resistors are connectedin paralle!
(b)y=fimr==1 ¥ o 7%= fr 77 & Resistors are connected in series
(¢) "Tafe=st Fdfer e e @ 3992 o o 2Resistors are connected in series and
parallel
(d) =ri= # & %1¢ 7#1 None of the above.

a5 71260 W and 100 W sty Bt 5 2 o7 svar? &1 573 4 w97 B o 3 A7 Fr o+
FforE 79T T

Ifa 60 W and 100 W lamps in series and are connected to a source of supply,

which lamp will give mare light [b]

(@) 100 W (b) 60 W

(c) Zr41 =1 77¢ 7 7191 T Both will give same light  (d) #7F +ft =77 71 7777. None of the bulb
will glow.

56  mfar F7 7 = fAuifer G a2

Power is defined as [ b]
(a) 7 575 f1 9wa7 Capacity of doing work(b) 77 57+ 7 77Rate of doing work
(c) = = 71 %1 wr=%= Product of force and distance (d) w1 3171 31 72 #1771 Energy dissipated
by load.

57 P s AR
Unit of electric Energy is c]
(a) FemaTzKilowatt (b) =f= watt
(c) Firiratz #a-Kllowatt hour (d) afz Z=rwatt hour

58 =1 F1 FATTF AT e AT ATATE
The internal resistance of battery is increased by [a]
(a) @1 47 7 7 ghaincrease in no. of cells
(hy ==t 7 5w 4 w5t Decrease in no. of cells
(¢) =T # & %12 471 None of the above
(dy  #Fradivb /Bothaandb

59 FH7T e FATZTIATE
A generalors converts [c]
(@) Il 3T 71 7122 § Mechanical energy into light
(hy  wAfFF 531 a w7 $iElectrical energy to mechanical energy
(¢) sl A 7 aTezF 531 § Mechanical energy to electrical energy
(d)  Fr=w a5 771 None of the above

Page 10 of 11§




B0 T AT W UMAT ST — F AN 2

Power factor of AC circuit is equal to [c]
(@) w= v w1 #5Tan of phase angle(b) = rifi= %1 77 Sine of phase angle

() =7 v 71 rCosine of phase angle(d) =71 7 7 712 771 None of the above

61 T THFIZ FT TIATZA e FT THA 2

Resistance of open circull is equal to [b]
(a) «71 Zero (b) === finfinity(c) 1 ohm 1 +f 777 Less than 1 ohm

(d) =74 ® 7 %1% 571 None above

62 Al 17 — F7 F79 % B s ey a2

Laminated core is used to reduce [b]
(a) Frfifefam =7 Hysteresis loss  (b) 7#1 #7= snwEddy current loss
(c) 77 AmwCopper loss ; (d) = =7 iron loss

63 Tamfafas 4 51— 319 sAasu= mad] a7 2

Which of the following is not a non conventiona energy source [d]
(a) #r=1¥ Solar (b) =741 M Bio gas
(c) 73T Wind (d) F=Electricity
64 FTAT 577 -— F o Ty ey a2
Solar energy |s used for [d]
(a) AsfErLighting (b) =T T ¥ FmCooking
(c) 5= = FrBattery charging (d) =vi= 47 All above
63 A s ey arzfas e — 2.
Solar and wind hybrid system is [a]
(@) e FE T FTBecoming popular (b) 7%= ##1 & Not possible

(c) F=a=sra= At ArConventional energy source (d) =14 7 7 772 577 None of the above

OO i i — e

Bio gas depends on [b]
(a)  fF=7 531 Electrical energy (b) = T2t Waste products
(c) #™T Bothaand b (d) 5= # & 71 = None of the above

67  Frefafes 7 — e arefon ffaes 1 wfemmm ad &
Which of the following is not a constituent of a solar lighting system [d]

(1) =rETIwEF @19 Photo voltaic cell (b) &% =7 3=¥171 Back up batteries
(c) =17 Charger (d) =+ =12+ Earth wire.
age 10 of 100
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68 fFeEfEada-~maw e ad s

Which of the following is not a type of fuse [c]
(u) HRC (b) Framr7a7 Rewirable
(c) Frerfirs Ceramic (d) zr7 ar3=Dropout

69 T # e A S oo a2
Which of the following is not a type of generating station? [d]

(a) w7 Thermal (b) =fFasNuclear  (c) #TzETHydro (d) o=~ Atmospheric

70w T — dravee s arem s amadt A

Which of the following is not a part of overhead distribution line [d]
a)  FEET T F79 A0 Cross ar . :
(a4) Conductor (b) zr7=7 Insulator  (c) FOSS AMS  4yFrr=r Thimbleg
71 3 %A1, 440 V dra7ze Rfzsaem area, § - w77 51 gepey 1 A At G A
Type of insulator not used in a 3 phase, 440 V overhead distribution line [e]

(a) = Pin (b) s Shackle (¢) === Disc (d) =74= % 7 777 71 None above

72 7%= 51 5T 1 wfr § Frranfer (e §) § ez § w2 FRmmrs T e—
Instrument connected in the circuit with the ammeter (in panel) tofacilitate the measurement of
current is [a]
(@) #+= === Current transformer (b) T==fra= zi=rerd+ Potentia transformer
(c) mHT=urT TR Excitation transformer(d) T @ 7 ¥7F 7#1 None of the above

73 iz Framg s 2
Capacitor opposes [a]

(@) =17 T=7 @ 7f7a77 |nstantaneous change of voltage (b) =17 777 7
nfraa=instantaneous change of current (c) #=F17 THim==7 7 7fra7= Instantaneous change in

resistance (d) =73 # =1 51 471 None of the above
74, T AT wTAT £
Inductor opposes (bl

(@) =17 a7 7 7fva44 /Instantaneous change of voltage
(b) 7= %72 1 nfea-=Instantaneous change of current
(e)7=rr #hmrze 7 ThraA/instantaneous changein resistance

(d) 7= # a1 5% 777 /None of the above
75 Fie—-F
Currentis [a]

(a) Rate of flow of charge (b) Gradual change in resistance
(b) Linear change in capacitance (d) None of the above.
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76,97 frovaa ® 7w wa T e &, A1 fgrae T —

When resistances are connected in parallel, the equivalent resistance [a]
(a) 1771 Decreases (b) 777 Increases

(c) w12 ied= w1 2 No change (d) =2 a1 52 %41  May increase or decrease

77. w2 forfre & o v fr oy & A S viee—

When resistances are connected in series, the equivalent resistance [b]
(a)7=71 Decreases (b) 7777 Increases
(c) #ir¢ =7+ 471 2 No change (d) 7% =1 == s1%=1 & May increase or decrease
78 Diode® 7= 1 W1 7 — § 757 4 @qa4 241 £
Diode allows the flow of the current [a]

(a) 7= 2211 % In one direction(b) #T1 Rt 7 In both the directions
(¢) ##% %1 w1 #1 sl 741 291 2 Flow of current not allowed (d) == & # %72 ##1 None of the

above,

78 77 Ttz W v | w9 o o = & Ay i vl -
When capacitances are connectedin parallel, the equivalent capacitance [b]

(a) 711 Decreases (b) 7771 /Increases
(c) #% afad= = Zvnno change(d) 42 a7 9= 77 5May increase or decrease

79 v wmiEEAEs w1 By # s o # A7 il
When capacitances are connected in series, the equwalenl n:apacttanoe [a]

(a) 7=Decreases (b) 7= Increases
(c) 7% 7fv== 71 FrNo change (d) 7= =1 %= 5577 #May increase or decrease
80 60 W ¥ =1 5fiv 100 Wa m= afsa #1220 Vot s 5 o s g sae fm a2 frasiz 7 339

Two lamps of 60 W and one of 100 W are connected in Parellel to a supply 220 V, the

current flowing in the circuit will be [a]
(a) 1A (b) 2A
(c) 3A (d) 4A

81 A 2 x40 W ar zrzw fefir, 5 faw 1 10 w7z a9t £ | vf Fomr ey Rz — 20l
A 2 x 40 W box type fitting glows for 10 hrs in a day, units consumed per day

will be [c]
(a) 0.72 (b) 0.04
(c) 0.8 (d) 1

82 A 2 x 40 W ars zror i, 7 g 7 10 9= 791 & 47 73 we & fam of# 1f5= @ Rs. 3/-
1 77 77 B T — #
A 2 x 40 W box type htting glows for 10 hrs in a day. electric charges [c]

for the month of June @ Rs. 3/- per unit will be Rs.
(@) 18 (b) 3.60
(c)72 (d) 80
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B3, i ey e B 12 o2 e s 7 afs R g - 2T

One ordinary ceiling fan works for 12 hrs in a day, units consumed per day will be [a]
(a) 0.72 (b) 0.04
(c)0.8 (d)1

84 ¥ mrary &= fam 7 12 92 7 A7 0fF fm of 1= @ Rs. 20- #7777 fgg o -—Fnfi

One ordinary ceiling fan works for 12 hrs in a day, electric charges per day [b]

@ Rs. 2/- per unit will be
(a)0.72 (b) 1.44
(c) 0.8 (d) 1

85 7% 20 T9 T2 797 (150 W) ofF 2= 8 7= 571 & | ofF B wrey afiE — 2,

One 20 inch desert cooler (150 W) works for 8 hrs per day, units consumed per [a]
day will be

(@12 (b)1.8 (€) 2.1 (d)2.4

86 y 20 TR A7 (150 W)t 9 it 8 2 7 w+ft & et we F Fvw A af2@ Rs. 8- Fr o
One 20 inch desert cooler (150 W) waorks for 8 hrs per day, electric charges for

the month of July @ Rs. 3/- per unit will be [a]
(a) 111.6 (b) 110.2 (c) 90 (d) 115.3

B71500 W =7 25 dz7 Fmitee, a1 afA Gm 2 927 5 [0 sfa =41 2, 6 929 & v

A geyser of 25 ltrs., 1500 W remains ON for 2 hrs per day. unitsconsumed for 6 months will be
(a) 540 (b) 480 (c) 620 (d) 700

88, i 60 w a7 7 2 i, afF e 10 921 & o s 2, 00 G A afae — a2t

One 60w lamp and 2 fans works for 10 hrs per day, units consumed per day will be [a]

(a) 1.8 (b) 2.1 (c}1.7 (d)3

89 % 10 hp pumpaf® &= 10 721 ¥ P w7 5947 &, miferss s ——- 79T

A 10 hp pump works for 10 hrs per day, monthly consumption will be [d]

(a) 223.8 (b) 2.23 (c) 22.38 (d) 2238

90 F=#1 % 1.5 hp 5127 317 7=+ 717 327 6 921 ¥ Fw w9 7 & L ofs o ame oS — v

A grinders in a factory, equipped with 1.5 hp motor, works for 6 hrs [b]
per day, the units consumed per day will be
(a) 5.490 (b) 6.714 (c) 2388 (d) 1940

91 @ 1 Tz sheae0,1 ohm 4% 1 A 97 T0ATE W9 AT 929 F1 A w0 A0 7 37 v e
H¥aw fFaram g, i g —tar frafF adr 2
Internal resistance of a cell is 0.1 ohm and 10 cells are connected in [b]
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series to form a battery supplying a current of 1 A, the power lost in the battery is
(@) 0.5 W (b) 1W (c)5W (d) 50 W

62 s vrf1e w1 e —— A1 (dry condition )7 2

The resistance of human body lies between (dry condition) [d]
(a) 100-200 ohm (b) 5 K ohm-50 K ohm

(c) 1 M ohm-10 M ohm (d) 100 k ohm-500 K ohm
93 Tem =31 59d — 1 /A F Fr s fear @ £,

Instrument used to measure electric energy consumption is [c]
(@) F=rarH=rGalvanometer (b) ATz Potentiometer
(c) st #1=7 Energy meter (d) == 7 & %1% 577 None of the above
94, il ¥ 7 — 717 Fr fro T 2
Which of the following keeps the poles straight [a]
(a) == #7=Stay rod (b) w71 s Cross arm
(c) ==+Conductor (d) =er==Insulator
95 a7 F AT —TEAT 2.
Inside the geyser there is a [b]

(d) Tvd= % 7 %1 71 None of the above
96 17 7 FsiTeT Frater F e FrafAfas § 79— w7 300 ey wrar 2
Which of the following Is used tor concealed wiringin a house [a]
(a) PVC conduit (b) Gl pipe  (c) Spun concrete pipe (d) Any of the above.
g7 wrEz gt § frr o B o st e o e g e e -
I'he size ot copper wire used for point wirng in sq mm is [a]
(@15 (b) 2.5 (c)4 (d) 10
98 = 7 % A T fer s g w1 s i -8
The size of copper wire used for sub main insgmm s [b]

(a) 1.5 (b) 25 (c) 4 (d) 10
99 7Tz Fratew ¥ A v e v et AR avee 16 e -
The size of Aluminium wire used for point wiring in sqmm s [c]

{a) 1.5 (b)2.5 (c)4 (d)10

100 33kV/11 KV Fefrfam == &1 5= qf 9T5700 e 7 o7 AT50F 787 F197 7070

The combined Earth resistance of 33kV/11 kV receiving station should not exceed [a]
(a) 1 ohm (b) 2 ohms (c) 10 ohms (d) 20 ohms

10111 kV/415 V T7-=9m F7 779=% AT 955710 - 7 587 s 777 217 7nfem

The combined earth resistance of 11 kV/415 V Sub-station should not exceed [b]
(a) 0.5 Q(b) 2 Q(c) 10 Q (d)20Q
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102.33 kV/415V, 10 MVA sm-=u ¥ Fm oy 4 Fremfir 2 smms ferrteat ey s
e T —
The integration time employed by supply authorities for recording [b]
M.D. fora 33 kV/415 V, 10 MVA Sub-station is—
(a) 5 minutes (b) 15 minutes

(c) 45 minutes (d) B0 minutes

103 FF-==v7 1 FFAriHT 797 wug vdfaT=s w7 512 F1 397 — 97 7 g o
While designing a sub-station anticipated future loads in the next ... years are taken

(a) 1 year (b) 2 years

(c) 20 years (d) 5-7 years

104. FFaT F7HHAT F 4907 T2 7 AR 17 Far — Fr
As per the present Tariff the minimum power factor of sub-station should be

(@) 0.8 (b) 0.85
(c) 0.90 (d)0.95

105, 7Tz ¥ =777 17 33 KVATHT T At 7 Fuseeer 1 e s e —
The minimum clearance of lowest conductor from the ground of 33 kV
lines, across the road.
(a) 3M (b) 4 M
(c) 61 M (d) 14M
106. =7 F =177 A7 33 kV 71z ¥ av57 7 Ay T w7 apaaw e —
The minimum clearance of lowest conductor from the ground
of 33 kV lines, along a street.
{a) 58M (b) 3.0M (c)4.0M (d)14 M
10711 KV #1ea & w3 ¥ Gl f w5 fo e afiss fmen— 2
The minimum vertical clearance from 11 kV line to any part of building.
(@ 2.0M (b) 10.M () 3.7M (d) 6.0M
108, st o wam 1 11 KV ared 1 ==y giframe s —
The minimum Horizontal clearance of 11 kV lines from any buildings.
(@1.2M{[B)3.7M(c) 6.1 M (d)10M

109, z1E 31727 § #5927 7 %4 77 599, 954, A190F A # - FEA 2
The Visible, Audible, Partial discharge at the surface of conductor at high

voltage is called -

(a) 5= mrs=Skin affect (b) ¥171 Corona(c) #mCreep (d)z=# @ %12 471 / None of these

1d]

[d]

[c]

[a]

[c]

[b]

[b]
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110, wiers woars £ e 57 37 73w § B, wige aers i aame 9297 e
2 P s &

For maintaining power supply qualitythe frequency vanation of [b]
power supply are restricted to
(@ £1% (b) £3% A c) £0.5% (d) £10%

111, #7E B 35T A02F 5T FHAAT - 7 |7 ATF 77 7177 F00270,
The 3 phase voltage unbalance in supply should not exceed [a]
(@) 25.% 10 5% (b) 20% (c) 25% (d) 10%

112, ot spars 1 spra= a9 v % fom 27 a2 7 ararear — & of7 @i =87 dr ifen
For maintaining power supply quality the rate of change of frequency [c]

should not exceed.

(a) 5Hz (b) 10HZ (c) +1 HZ (d) 3Hz
113, a¥= 7i97 =721 § - 79727 F7 3790 ey e
In Thermal Power plants the generator used are [b]

(@) AC30, Induction Generators.
(hy  AC 3 @, Synchronous Generators.
(ch D.C. Shunt Generators.
(d) AC 1 @ Synchronous Generators.
114, 9w ¥ 9rra 5 74w & (A A 33 kV & 91 3399 s des —- 2

The highest system voltage of normal 33 kV System for the purpose [b]
of design of equipments is
(a) 30 kV. (b) 36KV. (c) 33kV. (d) 66 kV.

115, 11 kV/415, 250 kVA ZT=r5mH7 1 .1 qres oo ois $197— 7.

The Rod gap on the L.V.side of 11 k\V/415, 250 kVA Transformer Is [d]
(a) 300 mm. {b) 100 mm.
(c) 50 mm. (d) Rod gap L.A. is not provided for LV side of Transformer.

116, 11 KV/415V zr=mgnde gizee= § fam man sy ez greeq — ¢

The rated voltage of L.A. for 11 kV/415V Transformer Protection is [e]
(a) 11 kV. (b) 12kV.
(c) 9kV. (d) 24 kV.

117. @y a7 7 11 kKVI415 v, 500 kVA 717 7e-29 % i —— gee sr e
For medium sized 11 kV/415 v, 500 kVA Transformer sub-station, the typeof [b]
L.A. used are

(a) === =rz7 Station type. (b) =7z= =r=7 Line type.

(c) FEfFz=rag =rDistribution type(d) == 7 %1% 771 None of these.
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118.  wr=F smamew F=esra 92(17%) 717 11 kV and 33 kV 73295 ¥ [ — qge s o 17
T Py AT

The line type L.A. used for our 11kV and 33 kV Sub-station are having a standard a]
normal discharge current (Peak).
(a) 5 KA. (b) 10 KA.
(c) 1.5KA, (d) 2.5 KA.

119. 11 kVEr= 22 /et 7 [ a0 § 7| — 7 oft sfis 5386 S =iz
The span of supports for 11kV over head lines should not exceed. [b]
(a) 100 m. (b) 65 m.

(c) 30 m.(d) 27 m.

1200 fafisg—dvmaifFm a2
The testing of relays should be performed at a interval of [b]

(a) 6 months (b) 12 months(c) 18 months (d) 24 months
121. sz i off 78 off mres sew=e 12 7 oy # 529 7T £ A7~ fefea G amom
If any live conductor in the circuit is entangled with tree branch operates. [ a]
(a) EFR (b) OVR
(c) OLR (d) Thermal relay
122, Ans=gamggsfad - fmafaaai
relay operates if there is a heavy increase in load current. [€]
{(a) EFR (b) OVR

(c) OLR (d) Thermal relay

123.
- [ 5 ¥ & Pz 8 e 77 2,
relay indicates the temperature rise of a transformer. [d]
(a) EFR (b) OVR
(c) OLR (d) OTI&WTI
124. a2 60/5 CT = frig #fzw 3,75 w7 & 7 ffory — # grm,
If the relay setting of 60/5 CT is at 3.75, then the tripping will be at [ b]
(a) 60 Amp. (b) 45 Amp. (c) 30 Amp. (d) 50 Amp
125. 7z vffe 3287 5 virmree +1amrm SPG— A7 =R
The normal SPG of electrolyte of lead acid battery should be [c]

(@) 1160 (b) 1.180 (c) 1.220 (d) 1.240
126, qﬁmm—#ﬁ?hﬂ’ﬁ?’i‘;: --'-';'

The terminal voltage of a fully charged lead acid cell is [c]

(a) 1.8V (b) 2.0V (€)22V (d)2.4V
127, 7= nfire 57 97 2w Treza — 7 oft 77 581 frear arfe,

The terminal voltage of a lead acid cell should not fall below [b]
(a)1.6V (b)1.8V (c)2.0V (d)2.2V
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128.

129.

131.

133.

120 AH 7z nfirz =91 7= 57 Amarew e 77— 7
The normal charging rate of 120 AH lead acid battery set is [c]
(a)d4A (b)8A (c)12A (d) 16 A

T i F A AT T 3w g A A i i w1 e — 2
The ratio of distil water and acid used to prepare new electrolyte for lead acid cell is [d ]

(a)1:1 by2:1 (c)3:1 (d)4:1
e nfere s w0 gt o g &
Following law is applicable in the working of lead acid cell [c]

(a) Faradays law of self induction.
(b)  Faradays law of mutual induction

(c) [Faradays law of electrolysis.

(d)Newton's law of motion.
ErF T e —F T s ST AT 2

The capacity of storage battery is expressed as [d]
(21)  No. of recharges it can take

(b)  Time for which it can be used

(¢) No. of cells it contain

(J)  Ampere hour it can deliver.

R —F T e

Sedimentation inlead acid cell occurs due to [a]
(@) =rf 7= & arav=rfaa /(Overcharging at high rate.

(b) &1 7= & =1 =737 Slow charging at low rate.

(¢) =772 # 937 Frenta Over discharge at low rate.

(d) =4t s ¥ Famats gf=rsasm Non-utilization for long periods.

TTATT § A7 219 77 o, e #mew A viEy =287 & Sy — #§ fer
Even when not In use, a flooded typelead acid battery should be recharged once in [a]

(a) 777 7777 Six week (b) 77 F#= Six days
(c) = #FThree months (d) =z 7= Six months.

AT 7 ATeA F werd FE sraw ared 799§ F agen - e s e
First step to be carried out before starting work on faulty portion ofoverhead lineisto[b]
(a) et ¥ FTT @17 77 Az w7 @4 ¥9.Earth the line on both the ends of the portion
(b) wvi 577 % v #9wt3 979 770btain the permit to work
ladder or crane (d) i/ 77 77 F2Climb on the pole immediately
Wé%ﬁ”ﬁﬂaﬁw#m—ﬂﬁﬁﬁ FIT,

Betore starting the work on faulty circuit it should be ensured that [a]
(@) =7 £% &1 71 ofa7 sr=rE & w7 %7 The faulty portion has been
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isolated from the power supply (b) #msam#719 92+ § 7w The worker
is strong enough to climb the pole (¢c) Fa= #itss % i wET Fa1 371 7
The cable is not deep enough to dig

(d) == # & %7¢ 741 None of the above.
136.  =Hfes draves s ©F FE W6 47 F6AT A6 8 9 - F R B 0 95E FT 41990 7
The electric overhead line on which work is to be carned out should be necessarily

earthed on both the ends to [e]
(a)  Frfafes oaraF o7 FEeT § 419 727 [ v 57 e

Dispense the charge stored between the conductors due to capacitive effect
(b) w7 drz=firgs 77 @A 1 71 % 77 To bring the line at zero potential
(¢} =mirT4 Botha&b
(d) == # 7 %72 777 None of the above
137 &A1 - T TEAd g0, A13F A0 T T T g69F A R Aa i g aw g #
One can protect himself from electric shock while working on live circuit by
wearing gloves of good [b]
(a)  F=iE=w F2rvawConducting materid
(hy  zafsa #5577 Insulating material
(¢) =7 5éfram Semiconductor material
(d) =74= &7 FTZANny of the above.
138 Fafafies 8 7 - g5 o 9 &
Which of the following are principlesafety precautions [d]
(@) ==t Zrat @ A1 3197 71 7w 9 guDon't touch live wire
or equipment with bare hands
(b) sr=rt Frrwr st wvmr v T v T Fe A e wE Ry
T7% 71 %7 77 7.Before switching on supplyseenc one s
working in the line
(c) #=7 =77 A7 #77w= = Use rubber gloves and helmet

(d) =7+ =41 All of the above.
137. Gufatee 7 7 -~ g fit afs maeh vz 2

Which of the following is most effective method of artificial respiration [a]
() Mouth to mouth air pumping method

(b) To use bicycle air pump

(¢c) Botha&b

(d)  None of the above

138.  wfe=r wrert & sfoomes 5o & frefea amnft —- 2,

Which material 's recommended as fire extinguisherin electrical cases [b]
(a) T =1 === Carbon tetra chloride

Page 20 of 119




139.

140,

141.

142,

144,

(b} w7 stav=1=T Carbon dioxide

(¢) #1757 gwmEz=Sulphur hexafluoride

(d) == % 7 FTAny of the above

e smszo & Pl § & — vy arvws 2

Which of the following is to be necessarily keptin a electric substation [d]
(a)  wETTETE First aid box

(b) #FZ=Stretcher

(¢) =T rizEarthing rod

(dy =7 w0t All of the above
FATIATATE , T TS 77 Wt w00 59 50 £ F FEw v sy fewr oo,

The warning board to be provided, on the switch of the line on which work is going on

a
(a) #7757 721 2 Men at working
(b) T TDanger
(¢) 7777 Keep away
(d) Frie = 7 37 a¢t None of the above
MV dra7ss a2 77 711 599 7 ffm maw b= §1 — gt
Staff competent to work on overhead line of MV should be [c]
(a) v Unskilled
(b) =rgors Semi skilled
(¢} =377 Highly skilled
(d) == 77 1= Any of the above
frmfafas # 7 sl $1 Frgas 7419 2.
Which of the following |s a renewable source of energy? [d]
a) w1497 coal b) 7 oil c) #9771 f=Natural gas d) s+ Solar

AT 1 AW 7 T2 £ waA —
The law of conservation of energy slates that energy [d]

a)  #fFa 7 72 77 77 2can be created and destroyed
by =77 gv 72 fmr wmAT 2 is destroyed in the process of burning

¢)  mw A e a7 f A e £ cannot be converted from one _
d) 71 72 Fay i 779 2 77 g5, S 7 J 7 T AT § a1 A

=/is nelther destroyed nor created; But can be transform from oneformto
another form

i 279 -~ % Absolute pressure is [c]
a) 77 717 Gauge Pressure
by  rm==eEfeE 213 Atmospheric Pressure
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146,

147.

148.

144,

150.

151,

154,

¢}  araGauge pressure + T=ureitis s Atmospheric Pressure
d) 7= 7= Gauge Pressure — mzRTFETT TFAtmospheric Pressure

100 kCals® =7 &t =r=kilojoules —- 7171,

100 kCals expressed as kilojoules would be [a]

a) 418.7kJ b) 4.187 Joules c) 4.187 kJ d) 41.87kJ
T A9E(E12) FEA AT I T T & 0 eq 7 A S W AEAT E A 9 — g At i i
When heat flows from one place to another by means of a liquid or gas, it is being

transferred by [d]
a) *fzmur= radiation b) F=Fe1 conduction
¢c) F=ATResublimation d) w7145 convection
hp # f= watts 717 #
How many watts are ina hp? [d]
a) 700 b) 725 c) 740 d) 746
TATEFA T W AW | AT FE F F F T o A
The characteristic of an electrical circuit that forces current to flow is [d]
a) walls b)amps c)ohms d) volts
sAfFwT 7 § A= d7 e Ohm'slaw 7 7497407 & 7 — Suifa s &
Voltage and resistance in an electrical circuit are related by Ohm's law [d]

and delermine
ayefime= resistance b) #7723 voltage

c) m#= 71 7917 the type of circuit d) 777 current
AT Z T A, AT FE WA AT T e

The characteristic of an electrical circuit that opposes current flow is [a]

a) 77977 resistanceb) =7 voltage c) Fwr friction d) =T power

RPM w17 & fm — 3rs7or s 3 Fomar e 2

The instrument used to measure RPM is [d]

a) Fyrite b) Pyrometer

c) Ultrasonic flow meter d) Stroboscope

fFaffa 8§ —— sd P st ama st afr 2,

Which of the following terms does not refer to specific energy consumption [d]
kecal/kLe) kJ/kg d) kg

/ton . b 2 : :
%gﬂ-}—-ﬁﬂﬁmmﬁﬂﬁ?ﬁﬁﬁﬁﬁﬂaﬁf!mi
Which of the following will not motivate the employees for energy conservation 7 [d]

a) Incentive  b) Recognition c¢) Reward d) Threatening
Which of the voltage is not available for Indian distribution system? [c]
a) 33kV b) 11 kV c) 280 V d) 433V
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155, zr=ifwumfEfasgem A o o A —— 7 annfra 2
The power loss in transmission/distribution line depends on ? [d]
a) Atz @ %7 Current in the line b) #rzw 71 vfs==Resistance of the line

c) @tz 91 747 Length of the line  d) #+TAll

156,  afz niae Rfezzgom 11 KV &7 66 KV & 72 7101 & | &1 F72 7 707 ——- 37 ofy 577 27 7779,
If distribution of power is raised from 11 kV to 66 kV, the voltage drop would [b]
lower by
8) 6times b) 1/6tmes c) 36times  d) 1/36 times

157. w=via7 RfFz=rra 11 kV 7133 kV & 72 T17 2, A7 378 AT 27T,
If the distribution voltage is raised from 11 kV to 33 kV, the line loss would be: [ 3]
a)Less by 1/9 b) More by 9times c¢)Nochange  d) None of the above

158.  wf% zrzsws 727 15 e 7 Fm 3600 KVA 7 9771 15 fe=ra1 & fr 3000 kVA e
A1 2, 30 Pzt frAmar H — 2
The maximum demand of an industry, if trivector motor records 3600 KVA for [c]
15 minutes and 3000 kVA for next 15 minutes over a recording cycle of 30 min is ;

a) 3600 kVA b) 3000 kVA c) 3300 kVA d) 600 kVA

1539. F= 59w ¥ o477 aeF 71 412 e v v — A
Presenting the load demand of a consumer against time of the day isknownas___[b]

a) Time Curve b) Load curve c) Demand curve d) Energy curve

160, i vies d fimfies 1f7 ¥ $927 99 97— 7 smavawar 2.
The vector sum of active power and reactive power required is [a]

a) Apparent Power  b) Power Factor c) Load Factor d) Maximum Demand

161, 7t == — 4= apparent power ¥T 4777 .
Power factor is the ratio of and apparent power. [a]
a) =9 7t37 Active power b| “1if¥=a 127 Reactive power c) @1z %327 Load Factor d) shrs

=92 Maximum Demand
162. 500 kW 1= A= srrefEn a7 wiae & oftr 0.85 wiae &7 7 0.95 # spure ¥ Fa amfarsy
kVAr7fzmr— 2
The kVAr rating required for improving the power factor of a load operating at [a]
500 kW and 0.85 power factor to 0,95 is _ :
a) 145 kVAr b) 500 kVAr c) 50 kVAr d) 100 kVAr
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163, wree afdes 77 Fmifaee §it oy —— i ofr gfis 58 o anfen,
The rating of the capacitor at motor terminals should not be greater than [b]
i) T 1T 07 #5127 a5 FeEre AT kVAr magnetizing kVAr of the motor at full load
h) AT AT 97 #1277 47 g2 a9 kY Ar/magnetizing kVAr of the motor at no load
c) AT ATT 77 7127 #1 #0922 kVAr /magnetizing kVAr of the motor at halfload
d) 75% load T w127 F7 AT KVAr magnetizing kVAr of the motor at 75% load

164. =5 =7 vz ota= %= 0.8 7 0.95 7% # 3tz 711 & 91 Rf=pm ol 7 =5 fr oFom —
The percentage reduction in distribution loses when tail end power factor raised from
0.8t00.95is . [a]
a) 29% b) 15.8% c)71% d)84%

165.  =f% 415 V2= Tnfeedt & A & a9 10%, 90 27 14T 2 91 7991 VAR 130 —

It voltage applied to a 415 V rated capacitors drops by 10%, its VAR output [¢]
drops by :
a) 23% b) 87% c)19% d)10%
166,  ZT=ETET F GTTHAT ZAT 7 AT ZAT F1 ATAT F 9 FATT T ==ee . 5T 5 AT ATAT 2
I'he ratio between the number of turns on the pnmary to the turns on the [a]

secondary of a transformer s know as:
a) == #97= turns ratio  b) =97 efficiency ©) ==f57 %a==winding factord) w97 =+
power factor

167. w1z % awy afuwrs qm 8 Fiew o 7 990 s afasmw w5 97 §9T T —

The ratio of overall maximum demand of the plant to the sum of individual [b]

maximum demand of various equipments is
a) #r=z %%=7 load factor b) ==+ &5+ diversity Factorc) @iz %%+ demand Factor
d) afww Fare maximum demand

168, Z=TFT¥7 | 17 E1AAT ~=e BT FTAT 2
Core losses in transformer are caused by [c]
a) fEwdifefasr = Hysteresis loss b) 751 #7= 713 Eddy current lossc) =1 both a & b d)
= 771 INone
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169.  ZFT=THEET B ATE BTAAT <o F AT T2AAT 2

The load losses in transformer vary according to [ b]
g) “@ifFa 4 2= Loading of transformerb) zr=rmd+ @1t %1 s¥77Square of loading of
transformerc) zr=rm#+ %7 717 ¥97 Cube of loading of transformer d) 7% 71 None
170, w7 2 kKW @7 20 KW 77 a7 AT 7 A12 Amrer 7 5 ey $amg 50% a e
i ZreTRE | 5 g — 2
The total losses in a transformer operating at 50% load with designed no load
and load losses at 2 kW and 20 kW respectively are [a]
a)7 kW b) 12 kW c) 4.5 kW d) 22 kW
171, Frres & T ZTteT §1 571 7779, ——— 37T 79 210 55+ fioy w1 2
I'he total amount of harmonics presentin the system is expressed using ___. [c]
a) 77 Fr=iAT F%=7 Total Harmonic Factor b) ¥ #ri=s s Total Harmonic
Ratio ¢) ¥# zrwif=+ fFa=si== ##= %+=7 Total Harmonic Distortiond) Crest Factor
172. 50 Hz nfa= rafariauz 7 541 7 7 sifAas § — 319 2
The 5" and 7" harmonicin a 50 Hz power environment will have: [c]
a) 55Hz &57 Hz sifeq dr=a 7 572 Fspand=
voltage and current distortions with 55 Hz & 57 Hz
b) 500 Hz & 700 Hz 777 w27 @7 #= Er=nier
voltage and current distortions with 500 Hz & 700 Hz
C) 250 Hz & 350 Hz 7 armzw o7 ¥92 i
voltage and current distortions with 250 Hz & 350 Hz
D) A1 47 & 792 fesnida 741 £ no voltage and current distortion at all
173, =g e & w5 =07 # 9wT — 2
The type of energy possessed by the charged capacitor |s [b]
a) Frztzw a1 Kinetic energy b) Trizm="% Electrostatic
¢)irzafima Potential d) & =f=+ Magnetic
174, m=m7 37 wrwgeA F afzE § AT 5 W — T
I'he energy stored in the bonds of atoms and molecules is called [b]

a) wrzafer 53t Kinetic energyb) sfire =311 Chemical energy
¢) wreAfeerT waiPotential energy d) #AT2F T4 Magnetic energy
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175, wifes gr== & Aty wie7 avs 51 Fetahes s 7 7 vs w1 7m0 g FErfe
Pt s,

Active power consumption of motive drives can be determined by using

one of the following relations. [d]
a)3Ixvxl b) v3x V' x| x cosd
€) v3x VxI? x Cost d) v3x Vx| x Cos¢

176. w12 (EMIEA) ¥ 57/ s a7 e st S o i, saT S e o1

foe, =3, gemaTTw ® = ¥ T ey A
The grade of energy can be classified as low, high, extra ordinary. Incase of [c]

electrical energy it would fall under category. (EM/EA)
a) w7z lowgrade b) w#mmem 7% extra ordinary grade
€) =¥ 77 high grade d) 3= 7 71 $7 771 none of the above

178 am=airwr s e i afr Fv T 2 AT T — w5

The portion of apparent power that doesn't do any work is termed as [e]
a) @ AT Apparent power b) mf#a TiavActive power
c) =7 T1"Reactive Power d) =i 7 7 712 771/None of the above

1791137 F=7 (F75) — 77 (EMIEA)sTTT 2
Power factor (PF) is the ratio of (EM/EA) [c]
a) e AT 4 v qiaT Apparent power & Active power b) nfFE e 3 finfeey afar Active
power & Reactive power ¢) nfs== nias 3 w32 197 Actve Power & Apparent power d)
anre= mtaT 3 Ao 797 Apparent power & Reactive power
180.kKVA F1 — f1 ¥77 2,
kVA is also called as [B]

a) frrfa 1ia7 reactive power b) w12 nfs+ apparent powerc) = nfa+ active power
d) ¥ff== 777+ captive power

1814 =1 F7 st 7 o 40 KW 77 72 50 KW #T27 5197 & 58T ===
The energy consumed by a 50 kW motor loaded at 40 kW over a period of 4 hours is[ b ]
a. 50 kWh b) 160 kWh c) 40 kWh d) 2000 kWh

182 Ay |13 & FAF2T ATE W AT T -— F29 2.
The ratio of maximum demand to the connected load is termed as [b]
a) == ¥%=7 Load factor b) Few= %#=Demand factor
¢) ¥izrw FewrzContract demand  d) 3= % 71 #12 721 none of the above
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heat.

¢) #7e7 T A 7w = KW minimuminput kW to the motor  d) 17 7 fm s sazkW
maximum input kW to the motor

a)Fra 1 977 £77 Latent heat of fusion b) Firerz#um #f = Latent heat of vaporization

1837 Ty T 7T w7127 230 volts 7 10 amps sl w97 £, off v w1 e e S 09 2,

AT G417 ZTT argfeq nfa7 — £
A single phase induction motor is drawing 10 amps at 230 volts. If the operating power tactor

of the motor is 0.9, then the power drawn by the motor is [e]
a) 2.3 kW b) 3.58 kW c) 2.07 kW d) 2.70 kW
1841 ©C 717 1 910 97T F ATTHH F1 32 ¥ o e avearE # -Fea E
The quantity of heat required to raise the temperature of 1 gram of water by 1 °C is termed as
[c]
a) fafafiz Fi= Specific heat b) #1= w1 Heat capacity ¢) ™+ #710ne Caloried) #=fra= #1= Sensible

185 =127 771 4971z kW 91 HP far —afas 9 2.
Nameplate kW or HP rating of a motor indicates [b]
a) wrz7 ¥ Fam 7 KW/ input kW to the motorb) 5127 F 57277 KW output kW of the motor

B ammE A E R s R o e s P s e Sia wr
—FETE
The quantity of heat reguired to change 1 kg of the substance from liquid to vapor state

without change of temperature is termed as [b]
c) #1= e7mAT Heat capacity d) =fa== 712 Sensible heat

187 100 °C 7t Fa w79 % Fm 100 °C 7= 155ar #F a7 s 87079+ 7oz 312 — AT £,
The latent heat of condensation of 1 kg of steam at 100 °C to form water at 100 °C, it gives
out the heat of [b]
a. 580 kCal b) 540 kCal c) 620 kCal d) 2260 kCal

188 A1 &t ard a1 & amx mvarveny ATt AT -~ v Fafafe S aa wfie 2
The specific heat of ___is very high compared to other common substancesdlisted below [c].

a. 9= lead b) w5 Mercury  ¢) i+t Water d) e Alcohol

189 77w 2u= =1 Faferd o
The property of viscosity of liquid fuels: [c]
a. &9 #1997 A77HTE A ¥9 #7791 2 decreases with decreasing temperature
b. =% T ATTATE 7 7277 £ increases with increasing temperature
C. AF AT ATTHA 7 9% F191 7 decreases with increasing temperature
d. ¥% #1997 ATTHTS F A4 47497 7 increases with decreasing temperature
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190 #= Q. 77 85TAT, AT T2 F ATTHIR F7 5249 F A0 aAE w1 £, g e e 2
The quantity of heat Q, supplied to a substance to increase its temperature depends upon the
following. [e]
a. s=iira g1z e sensible heat added b) w79 %1 722 £17 latent heat of fusion
)t w1 fafafae #1= specific heat of the substanced) 7= w1 heat capacity

191 S| forew & Al #9712 —
Unit of specific heat in SI system is : [a]
a. joule /kg °C b) kg/cm? c) keal/m® d) kcallem?

19277 i, T gr s md i s e e A iR ST T 1 — T AT e
The change by which any substance is converted from a gaseous state to liquid state is

termed as -—- [a]
a. 77z condensation  b) =TETTive Evaporation c) wwwFusiond) ¥4 7 Phase
change

1933777 § O % (AT 7972 22 77 F7 3T F94 27, TR a7 6 TS A A - T AT
The method of producing power by ulihzing steam generated for process in the boiler is

termed as-- [b]
a. e Extraction b) 1#+++ Cogeneration c) %11 Botha &b
d)a 4441 b Neitheranorb
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2. ZTHTHITRANSFORMERS

FTeTRTHT A 7T BDV —- g1 w1fe,
The BDV of transformer cil should be

[b]
()20 kV (b) 30kV (c) 40 kV

(d) 50 kV
5. Wit s s i — 2
The colour of moisten silicagel is [a]
(b) 77 Pink  (b) = Blue(c) 1 Yellow (d) 771 Green

ZTETRTHT FT 297 5 977 57 7T
The material filled in breather of transformer is [a]
(a) fafrer 5 Silica ge

(b) sr=Frf+ mfrz Sulphuric acid
(c) SF6 (d) fa=e=r 77 Mineral oil

TISTEET J AT vt = 07 917 s e

The protective device to indicate the internal fault in a transformeris
() =7 Frst Thermal relay (b) ==ir=# F=1Buchholz relay
{c) OVR (d) EFR

[ o]

ZIATETET 54 F (A7 Aas 4987 BDV 7% 77

The minimum allowable BDV for transformer cil should stand for [ d]
(a)15 sec

(b) 30sec
(c)45 sec (d) 60 sec
0. ZTRTHIAT A9 A 79 AT, TAFEZH F A1 F AT ~— F7 37 77 7797 747 2
While testing transformer ail the gap between electrodesis kept at a distance of [d]
ia) 1mm (b) 2mm
(c) 3mm (d) 4 mm
TTSTETHT FT FI7 e 3 TATTT TAT 2
Core of a transformer is made up of
(a) F=yiura Aluminium

[d]
(b) Fra= Carbon
(c) 7 zLead

(d) fafs=rs == Sllicon sted.
Frafiafias # 7 — zr=rend 7= sri=T= a8
Which of the following is not the function of a transformer ail [d]
(@) wrzwdT wtaAr 1 577 Codling of primary Coils
(b)  =w=f wfwn 1 3 Coding of secondary coils.
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(cl
()
Yy
(@)
(h)
(<)

()

10

11

13

14

Ffafes aspres e $99 Providing additional insulation.
s A e #o91Providing inductive coupling.
arrirae ¥ B, afisaw 2ea s fn s fua — 2
For a transformer, the condition for maximum efficiency is
Hysteresis loss = eddy currentloss
Core loss = hysleresis loss
Copper loss = Iron loss
Total loss = 2/3 copper loss.

FTFETHT A H — 721 2T A7
Transformer oil shall be free from

(a) mvg Odour  (b) @171 Gases (c) Frm=7a Temperature (d) +1 Moisture.

FFTEHT # A7 T —

The power factorin a transformer

(a) Is always unity

(h) Is always leading

(¢} Isalways lagging

(dy =1z #1797 F=wev 07 st 2 Depends on power factor of load.

The short circuit test of a transformer gives

(a) 7 #1277 37 519 Copper loss at full load

(b} gt =72 77 5177 719 Copper loss at half load

(¢y Tl o 7 e ames i ron loss at any load

(d) s Afe e st A1 %7 %97 Sum ofiron loss and copper load.
TTERIHT F AT TR T 7 e s 2

The open circuit test of transformer determines [ a]
(i) s At Iron loss

(b) T ETE 7 S At Copper loss at full load

(¢)#mar @1z 7 Fi7v 7t Copper loss at half load

(d)yF =i Total losses.

A F1 9F17 | B39 =R 59 ¥ 50 5 T
The type of oil, which is suitable as transformer cilis

(a) #= 77 Crude oil (b) @mTifa 7 Organic oil
(¢) fm#= 771 Mineral oil (d) v&wm F7 Animal oil.

[c]

[d]

[ d]

[ a]

[c]
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15 T 32 3 ZTRTHTHT e FEATAT 2

A step up transformer increases [ €]
(a) a7 Power (b) ¥7=Current
(c) a==Voltage (d) #rF=ft Frequency.

16 #FFEfar sae & 3t Zrerere 71— 719 a2
Which test is conducted on all transformers in a manutacturing concern [ a]

(a) ##17 =#Routine test (b) =1z ==Type lest
(c) Fasm z==Special test  (d) 371 +ft All above

17 TF TR F B e et v —
The colour of fresh dielectric il for a transformer [d]
{a) Pale yellow (b) Dark brown
(c) White to grey (d) Colourless

18 KW KVATT 5777 — F 5T H AT 7T 2
The ratio of kW to kVA is known as [b]
(a) 7r7=7 e Voltage regulation (b) T+ ##=7 power factor
(c) zr=rrrrer @ T Transformation ratio (d)=T=F 7 77 72 727 None above

19 zrems w1 17 Al —— aafa 5 a2 a2
Core lifting of a transtormer 1s done atter a period of [ c]
(@) 3yrs. (b) 4 yrs.
(c) 5 yrs. (d) B yrs.
20 ZeyEET | EETaEe 2 e - A g
The purpose of conservator tank in a transformer is to [ c]

(a) 7= %7 =57 =7 %77 ¥ 77 Monitor the oil level
(b) & F 737 %1 217 47 F7A1 Top up the oil level
(c) =ri= 71 Both a & b above(d) =4 # 71 %7 771 None of the above.

21 FHTH TR A SR S ST @7 9 42 19 By 2 St d oerent £ e 6y
Transtormers placed in a room enclosed from all the four sides, the minimum

spacing between the walls and the transformer should be [d]

(@ 05m (b)0.75m (c)1m (d)1.25m
22. THTT T F e T efifee A e o T T e T Ay e
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For indoor installation the minimum clearance between the highest point of the
conservator tank to the celling of the transformer room should be [b]
(2)0.25m (b) 0.5 m () 0.75m (d)1m

23, 45° C F ArgueAra AvmaTA J o7 w4 1 FafF w7 e § vw g aerwee 6
FrEfET AR —- 7 o7 Jfirs 377 g7 T
At an atmospheric temperature of 45° C and keeping in view the working condition,

the winding temperature of the transformer should not exceed [b]
.7 98%5°C c)110°C d)130°C
24, ﬂ . - Er%)aﬂq AE AT w o
Whuch of th& following does not change in a transformer? [ €]
i. ¥7= Current b. =4 Voltage
c. #1511 Frequency. d 7= 1 All of the above
25 TETETHT B S AT #1 TSR HHEE H - G HATATAT R
In a transtormer the energy is conveyed from primary to secondary [ €]
i. through cooling coil b. through air

¢. by the fluxd. none of the above

A transformer core is laminated to [b]
a, TR A A 79 99 7 v reduce hysteresis lossb, 7T 5= a5 3w we F
reduce eddy current losses

€. FITT AR FH Fe4 & 4 reduce copper losses d. T T AT F1 F9 99
¥ 7 Reduce all above losses

27, IreTETET § AETEE T TG e BT AT
The path ot a magnetic fluxin a transformer should have [d]
i, Zr2 TEeEeT high resistance b. #1% 2= high reluctance
¢. 1 =+ low resistance d. 71 feas==7low reluctance

28, ETETET U7 ST ATE 25 - F7 AT AW F 4w ey e £
No-load test on a transformer is carried out to determine [ e]
4. ¥ AT copper loss b, sw=ETTTET #¥zmagnetizing current
c. =z #7= v 717 magnetizing current and lossd.z e #7 72T efficiency
of the transformer
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29, EETHT 1 AT AT - 21 T AT 2

The dielectric strength of transformer cil is expected to be [ D]
n. 1kV b. 33 kV c. 100 kV d. 330 kV

30,  zeTEET 7 aaAT ATUEEE 79 26T T8 ——
The efficiency of a transformer will be maximum wher [d]

o, T AR = et 7@ icopper losses = hysteresis losses

b. Frdfefas amas = mit 572 Ara91/ hysteresislosses = eddy current losses
c. w7z arm = Frr7 A9 jeddy current losses = copper losses

d. 7777 A = giweT 7 copper losses = iron losses

3l. =T R ATATT ¥ E—EET R
No-load current in a transformer [a]
i, Awas 75° arew o 19 747 # lags behind the voltage by about 75° b Vi< 5
qr=q 41 7 @141 # leads the voltage by about 75°
c. =raw 15° F1==7 5 o= 797 £ lags behind the voltage by about 15°d. 7wraw leads the
voltage by about 15°

32, ETEWTAT # HEIR T TTHE F919 57 TATEA — 7.
The purpose of providing an iron core in a transformeris to [ ]

o, ArEfE ¥ Fmoarid o 599 5 BT provide support to windings b.  Fedffa
T #1 FH ¥4 7 (0 reduce hysteresis loss

c.fEf=w e ¥ =T 5w 9= F Adecrease the reluctance of the magnetic path

d. 7t %%= A %1 9% $99 % (47 reduce eddy current losses

33. v 9 — oerends seapmy s amr ad 2
Which of the following Is not a part of transformer installation? [d]
a.  FAF917F Conservator b. 4+ Breatherc. 3=ar7 7 Buchholz relay
d.m#=7Exciter

34, FTETET T AT THIE 792 F99 AT — F] 917 97 AT 5T 2
While conducting short circuit test on a transformer the following side is
Shortcircuited [b]
a. =9 7r=x arz= High voltage side b, % 7% srzLow voltage side
c. TRz Primary side  d. w#=¢ mrzSecondary side

35. T & St anefa o smwe-imes ofon afis i,

In the transformer fallowing winding has got more cross-section area [al]
a. @ 97727 low voltage winding b. 73 9=== arif¥7 High voltage winding

c. arodt arefE primary winding d. f5=f arzfEw secondary winding
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36, T IETEET — FT I F9AT 2
A transtormer transforms [c]
a.  Ar=7voltage b.¥%=current . 77 Powerd.  #1#+T frequency

37.  zrerende, S AATE W S W GI0T g7 TAAT AFT A7 A £ w01
A transformer cannot raise or lower the voltage of a D.C. supply because [ €]

A, ST AT # g% #1 4%+ 771 7 there is no need to change the D.C. voltage
b.¥fr sz 7 wfaw ot 2 D.C. circuit has more losses
C. F7TE= AT 4% THEATAET T 99 7771 £ ¥ 0% T 51 37 ° vivaAd o=
=. Faraday's laws of electromagnetic Induction are not valid since the
rate of change of flux Is zero
d. 3w # 7 %1% 771 none of the above

8.  =r=TErew st uTsed anfEn —&

Primary winding ot a transformer [ e]
a. T ERAT T W A2 7 912747 £ is always a low voltage winding bar zEm 3T

=7 qT:120 £ is always a high voltage winding
c.f7% a1 75 911 8§ 5 % 4724 71 #9547 7 could either be a low or high voltaged. =vi= ar:f=w
T 71 712 =71 none of the above winding

39, FTETHT § T4 gTS0ET § STUF T 29 5 A

Which winding in a transformer has more number of turns? [ b]
u. Ty =7 arcfeo Low veoltage winding b, =3 9= a1 High voltage winding
¢, wrzw T A= Primary winding d. =1 arsEv Secondary winding
40,  tg7 FrerEET T AT — TR,
Efticiency of a power transtormeris of the order of [ b]
a. 100 759 percent b. 98 ufvr1 percent
c. 50 7547 percent d. 25 77 percent
41, TR TR TEAT e T AT R
In a transformer routine efficiency depends upon [c]
a. 7977 w7 T natural air cooling b. m7 == Ffair blast cooling
¢. #i77 ¥ oil cooling d. 37i= % 7 #1¢ any of the above
42, ZETEET T AT T AT E
In a transformer routine efficiency depends upon [d]

o, FETE T supply frequency b. =¥z load current
¢. w1 %1 747 % power factor of load d. =151 both (b) and (c)
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43, FEfespm o a st 2 — (all day efficiency)
The maximum efficiency of a distribution transformer 1s  (all day efficiency] [b]
a. ArATz T atnoload b, 50%77 w1 7 at 50% full load
c. at 80% 771 17 w7 full load d. 7117 77 at full load

44, AT 39 24 9.
Transformer breaths in when [ b]
a. w17 ¥ 9f5 #1+f1 Zload onitincreases  b. w7 77 #17 # load on it decreases
c. w17 fog7 7747 2 load remains constant d. == # 71 #17 971 none of the above

43,  ZETRET FTAT AT 792 H-—ETH £
No-load current of a transformer has [d]
a. 73 anfa=ye o7 w9 =7 F=5. has high magnitude and low power factor
b.75 wfa=re o =g e &=, has high magnitude and high power factor
c. #1ET FaTErT A =g A7 %97 has small magnitude and high power factor
d.7i7=7 =T A7 F Tia7 F#27 has small magnitude and low power factor

46. A s ETE S asTr v s

Spacers are provided between adjacent colls [al
a7 7 % fam ff §37 27 39T 79 to provide free passage to the cooling oilb.
T FF17 A FA A1 9947 %94 % (0 toinsulate the coils from each other c.

1 both (@) and (b)  d. v ¥ &7 1 71 none of the above
47. e & AT ST T —— 1 T e £

In a transformer the tappings are generally provided on [d]
a. TrzEdT AT primary side b. 7% Amr=secondary side
c. =1 41727 7Tz low voltage side d. =3 =7 7rz< high voltage side

48.  zerEmT F B daw ® s e we v e, — e fr @ e,
The chemical used in breather for transformer should have the quality of [ b]

a. AGETEHT T jonizing air b. 771 %7 w9 741 absorbing moisture
C. ZT=TTTHT 74 %1 7% %4, cleaning the transformer oil d. FTETERINT A9 T 5ET wEAT
cooling the transformer oil

49, 9T ¥ 3Ty R =T O wiawe o—

The chemical used in breather is [d]
a. e w1raT asbestos fibre b. ffa=T #zsilica sand
c. #1fzay #917122 sodium chloride d. fafsr Ssilica gel
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S0, ATHTEA: TR T —F #7809 .
The transformer ratings are usually expressed in terms of [d]
a. Volis b. amperes
c. kw d. kVA

51.  zrerErET 17 F fwiw F A — amft o v fer e g
Material used for construction of transformer coreis usually [d]
a. =%41 Wood b. ¥ copper

¢c. a=fafrrm/Aluminium d. fafs= 5 sllicon steel

A
L5~
.

ATHT: TR 8 AT fRw A e At et —
The thickness of lamination used in a transformer is usually [a]
a. 0.4mmto0.5mm b. 4 mmto 5mm

C. 14mm to 15mm d. 25mm to 40 mm

i
i

FFETET B FHATAZ7 W AT — £
The function of conservator in a transformer is [d]

a. arfew =3t %1 7+f5 #7797 F to protect against internal fault

b.aT T TaE Aavg Avg 17 9479 1 %% 599 * Frrto reduce copper as well as core losses

C. ZT=IHNIT 77 F1 521 79 ¥ {47 to cool the transformer il

d. @19 9T W HIIT AT AVTHIS H WIEE F ORI ASTEHT FOORTEGE IT SR §T S0 TS E
f=71to take care of the expansion and contraction of transformer il due to variation
oftemperature of surroundings

34, Buchholz f7 #7 — = #arfir figr wr s £
A Buchholz relay can be installed on [d]
i, @ Z=rEET auto-transformers bore 7 s=rard=air-cooled transformers
¢. #fFm zr=rards welding transformers d. @i 772 =174+ oll cooled transformers

Lh
Ly

Buchholz's fr& Jamadt 31 & v — s whm a1 2

Buchholz's relay gives warning and protection against [a]
W, ZTErETHT A7 41 frera merdT electrical fault inside thetransformeritself
b.srzz7 fire7 # grmrents F a7 fee a9 electrical fault outside the transformer
In outgoing feeder
€. args e s it afaat % B for both outside and inside faults
d. =T ¥ 71 %1% 791 none of the above
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56,  TETETHT F ATHAGA ——- F19T 0F 7 7 2T £
The transformer laminations are insulated from each other by [ b]
A, w7 5277 mica strip b. =r#fer w1 7t 777 thin coat of vamish
c. T paper d. 3T # & 7% 7#T any of the above

57.  FreEETET A7 A0 A AT F A -
During open circuit test of a transtormer [a]
A, Tzt F1 T greew & o ape? fa A primary Is supplied rated voltage
b. sTeedT #1 %A A2 ¥z § At Fear 71 Zprimary is supplied full-load current

. Tz F1 %0 FH0 v Aeew 7 sars Gy @ Zprimary 1S supplied current at reduced
voltage

d. wrewfr &t 727 T @ A fer wm £ primary is supplied rated kVA

58. —mAT A T A s § av e = e A
Open circuit test on transtormers |s conducted lo determine [c]
a.  feedifefmr amr hysteresis losses b, ¥777 777 copper losses
c. #17 AT core losses . 7T %77 sreddy current losses
39, ——mEr A F A srerEn 8 o ez e A
Short circuit test on transformers 1s conducted to determine [ b]
a.  TEeifefm AT hysteresis losses b. =77 =77 copper losses
c. FI AT core losses  d. ¥ w72 Frweddy current losses

G,  ZTETETHT § 397 T ST — FL
The function of breather in a transformer s [d]
a TEFE AT F @17 A1iFTAES 7T 99 F (A0 to provide oxygen inside reduced load
b. ¥=172 =iz ¥ ¥ ¥ 1 59 799 7 7 to cod the coils during reduced load
C. ZT=TEIET 79 %1 9 %74 ¥ 7 to cod the transformer ail
d. 7= FrET Fr ET =T Hwae seAT £ AT Ad T ST oA § A
to arrest flow of moisture when outside air enters the transformer
6l.  FuTA § 7 —— ZTeTErHE7 1 TF T T F7 FHT % T A1
The secondary winding of which of the following transformers is always kept closed”?

[ d]
i, = o471 ZETEET Step-up transformer b, =7 2739 ZierEET Step-down transformer

¢. At s Potential transformer ., %= zr=rer+ Current transformer
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62,

64,

3.

0,

67.

6G8.

feaT are w97 7 AR F A Ay AT — 77 A
For a transformer, operating at constantload current, maximum efficiency will occur at
d]
4. 0.8 #if=7 7ia7 === leading power factor b. 0.8 Aff 1147 F427 lagging
power factor
c. o177 1147 &% zero power factor d. 3f/# 1f37 %#=+ / unity power factor

AT 517 Freer ZerEndet i e et #9777 i aa 2,
Which of the following protection 15 normally not provided on small distribution

transformers? [b]
(. e e areweE Over-fluxing protection b. =777 77 Buchholz relay
¢. 9ra7 %47 Ut Over-current protection d. == 4t All of the above

aafirde A @i s s fra e i s e el s &
Which of the following acts as a protection against high voltage surges due to lightning

and switching? [ a]
a. == 1 Hom gaps b. 3= #ra=7s {771 Thermal overload relays
c. #47 Breather d. ¥779%7 Conservator

faRfFE sz i e g EeE = e

Which of the following parts of a transformer is visible from outside? [al]
a. 77 Bushings b. #17 Core
¢. wrsadT arsFEmPrimary winding d. 71 arzfE7 Secondary winding

ETRTEIHT 217 3779 AT4TH H — T2 FAT 2,

The noise produced by a transtormer is termed as [ b]
a. T9zoom b. #Fhum
c. f#frr Ringing d. =T7buzz
ey 7 FEAfET S A gm wft er Are W e g

Which of the following loss in a transformer is zero even at full load? [b]
a. 17 77 core loss b. Fr w7+ friction loss

c. it 72 777 eddy current loss  d. fesdifefar A hysteresis loss

afz zrerende w1 e of=nfas e 9 £ 91— 7 afmam = EeT A
If a transformer is continuously operated the maximum temperature rise willoccur in[b]

a. 717 Core b. arzfz7 windings
c. =frTank d. 374+ & 7 %1% any of the above
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i)

70.

I3

0.

THT T~ ATTA F 577 T 07 40 7z 20 fear 7

An open-circuit test on a transformer s conducted primarily to measure [ c]
a. e ThreA Insulation Resistance b. 5177 @t Copper loss
c. #17 71+ Core loss d. T3 77 Total loss

ZTTETHT W7 =—ee AT ATH F 507 AT 777 722 Gy A7 2.
A no-load test is perfermed on a transformer to determine [d]

a. 717 AT@Core loss b. 17 ACopper loss
C. zaTEfficency d.  ireTsiae w9 4 e Magnetising current and loss

3. #ETEARTHING

afdar 5 F sperrr 91 g ——FrranfaA £
The code of practice for earthing 1s governed by [a]
(ay  1S: 3043 (b) IS: 4340 (c) 1S: 4340 (d) I1S: 4430

afdsr  fam o= nren T AT AT —— A T A AL
The length of pipe electrode used for earthing should not be less than [b]

fa) 3.5m (b)2.5m (c)4.5m (d)5m

IS ¥ w77, wfiw oo wffe Fer s el fr s — der fi gf s dfmea A

As per IS, the earthing electrode shall not be within a distance of mirs from any
building being earthed. [c]
(@) 0.5m (b)1m (c)1.5m (dy2m

T2 AT VAT § ATIEAE FAHT o0 ey

Maximum permissible earth resistance at large power stations is [a]
(a) 050 (b)y10 (c)2Q (d)8Q

TT AFFTIAT T ATTHAR AAAT A9 T

Maximum permissible earth resistance at major Sub-stations s [b]
(a) 0.5o0hm (b) 1 ohm (c) 2 ohms (d) 8 ohms
FIZ HAZAAT 17 ATITAT SqAT 0 7Tz

Maximum permissible earth resistance at small Sub-stations is [c]
(a) 0.50hm (b) 1 ohm (c) 2 ohms (d) 8 ohms
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10

11

13

14

fatesat 5 fam atasaw aqay ot thas=r
Maximum permissible earth resistance for buildings is [d]
fu) 0.50hm (b) 1 ohm (c) 2 ohms (d) 8 ohms

=it a7 Are o FeAeay sl == o v g 8 fEfr e s e — s aEm
Earth continuity inside an installation i.e. from plate earth to any point in installation

should be [D]
{4) 0.50hm (b) 1 ohm (c) 2 ohms (d) B ohms

AT T T TR F1 #7502 TR AT AET AR e F
The plate electrode of copper used for earthing should be with minimum size of [¢]

(@) 50cm x S0cm x 3.15mm (b) S0cm x 50cm x 6.3mm
(c) 60cm x 60cm x 3.15mm (d) 60cm x 60cm x 6.3mm

afda 5 For o Gl o #819 ¥ w92 T99212 97 9177 AT -—— FL

The plate electrode of Gl or steel used for earthing should be with minimum size of [d ]
(@)  S0cm x S0cm x 3.15mm (b) 50cm x S50cm x 6.3mm

(c) 60cm x 60cm x 3.15mm (d) B0cm x 60cm x 6.3mm

mre Atd &, Gl 7T F Fm sy e T — A
In pipe earthing, the minimum internal diameter for Gl pipe should be [b]
fa) 30 mm (b) 40 mm (c) 50 mm (d) 60 mm

TR AT ¥, FE ATTATET (A0 AW G5 ST —— 1.
In pipe earthing, the minimum internal diameter for castiron pipe should be [c]

(a)  BOmm (b) 90 mm (c) 100 mm (d) 60 mm

afber 7 Fmr oy e fan easde — T A

Copper strip electrodes used for earthing should not be less than [c]
(@) 22.5mm x 1.60 mm (b) 20 mm x 2.5 mm
(c) 25 x 1.60 mm (d) 25 mm x 2.5 mm

At o wo= Gl a1 =y g v —— A FHA AL,

Gl or Steel strip electrodes used for earthing should not be less than [a]
() 25 mm x 4mm (b) 20 mm x 3 mm
{€) 25mm x 3mm (d) 20mm x 4mm
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16

17

18

HT swarrai, S7-s29Et 7 a0y =2var 5 = st smear 57 B — 5 559 7

O 0 5 £
Earthing arrangement tor HT installations, substations and generating stations should

be inspected at an interval of [d]
() 3 wfZ7 months (b) 6 wf# months  (c) 9 #fZ+ months (d) 12 =tz months

AT FTeEA TFATTAT AT 54T wAAT, arAtaE wga 7 B g smen w GFhan —F i e
Earthing arrangement for low voltage installations such as service buildings, public

buildings should be inspected at an interval of [b]
(a) 3 wizamonths (b) 6 #=imonths (c) 9 wFFmonths (d) 12
Afermonths

sraTTT At F A s s g ffram — F e 7 e ar arfEn,
Earthing arrangement for residential buildings should beinspected at an interval of b ]

(a) 3 w7 months (b) 6 wiz=months  (c) 9 a5amonths  (d) 12 sF=months

qeaw qreey drqrrat 5 e g srEe e — F a1 e s e
Earthing arrangement for medium voltage installations should be inspected at an

interval of [d]
() 3 wFmonths (b) 6 #f#7 months () 9 %5 months (d) 12 =fEq
months
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4, T FAFEIT AT TEAT
LIGHTING & ILLUMINATION

Al =257 T TET A7

The illumination level at A class stations should be

(a) 20 lux (b) 30 lux (c) 40 lux (d) 50 lux
B #nfr =T mv v =
The illumination level at B class stations should be

() 20 lux (b) 30 lux (c) 40 lux (d) 50 lux

C aft sut v adine =1
The illumination level at C class stations should be
(i) 20 lux (b) 30 lux (€) 40 lux (d) 50 lux

zte | (DR) g7 & iy =me= ¥ aviey #1 w9
Recommended no. of light points in type | (DR) quarter is
i) 5 (b)6 () 7 (d)8

TI".TT" Fr=v 3 ::'J‘.Tq M e ="'—T :':_-"?ﬂ'
Recommended no. of light points in type Il quarter is
{at) 5 (b) 6 (€)7 (d)8

#rem N F37 § ae A F ey v s
Recommended no. of light points intype lll quarter is

{21) 5 (b) 6 (e} 7 (d)8

are IV §727 3 5797 ATZZ F LA A Ay
Recommended no. of light points in type IV quarter is
(1) 8 (b)9 (c) 10 (d) 11

Z12T IV PT9™aTET § 5T ATIE T ear 1 5
Recommended no. of light points in type IV spl. quarter is
() 11 (b) 12 (c) 13 (d) 14

[d]

[b]

[a]

[b]

[b]

[d]

[c]

[c]
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1)

11

13

14

15

16

17

Z1eT | 7757 |/ A7 e 5 oreEt 1 smmRecommended no. of fan points in type | quarter is

(a) 2 (b) 3 (c) 4 (d) 5

e || 3777 & o e ¥ it ¥ e
Recommended no. of fan points in type Il quarter is
{a1) 2 (b) 3 (c) 4 (d) 5

zr Wl g7 & s & ¥ et e
Recommended no. of fan points in type Il quarter is
(@) 2 (b) 3 (c) 4 (d) 5

e IV 757 H 39577 T F AT 7 A
Recommended no. of fan points in type IV quarter is
fi1) 2 (b) 3 (c) 4 (dy 5

Zre IV #1ar §7127 | w57 & F T A e
Recommended no. of fan points in type IV spl. quarter is
(a) 2 (b) 3 (c) 4

ziz | (DR) 577 & 9 997 o2 A9
Recommended connected load for type | (DR) quarter is
(i) 1.36 kW (b) 3.4B kKW (c) 4.17 kW

Zret | $727 ¥ 19 A e AT
Recommended connected load for type Il quarter is
(a) 1.36 kW (b) 3.48 kW (c) 4.17 kW

=120 Ml 3737 % v asA sases Are
Recommended connected load for type lll quarteris
(i) 1.36 KW (b) 3.48 kw (c) 4.17 kw

=12 IV 7727 5 0 7049 9527 712
Recommended connected load for type IV quarter is
(a) 1.36 kW (b) 3.48 kW (c) 4.17 kKW

d5

(d) .85 kW

(d) 6.85 kW

(d) 6.85 kW

(d) 6.85 kW

[a]

[a]

[b]

[c]

[d]

[a]

[b]

[c]

[d]
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24).

D

[ S ]
ad

I
L ]

Z1ET IV #1791 727 F Fan e S q1e
Recommended connected load for type IV spl. quarter is

(a) 4.17 kW (b) 6.85 kW (c) 8.6 kW

ZTET V #1r F17 F [ et $e s @12

Recommended connected load for type V quarter is

(4)4.17 kW (b) B.85 kW (c) 8.6 kW

AT ZA 6 qiuaa agar

Luminaus efficiency of a fluorescent tube |s

a. 10 lumens/ watt b.20 lumens/ watt

c. 40 lumens/ watt d. 60 lumens/ watt
fr FeEtE A a e gl 2

Candela is the unit of which of the following?

a4, wavelength b. luminous Intensity
c. lumincus flux d. frequency

FTIE FT 99 = T7 ST 2

Colour of light depends upon

a. =l frequency b. ¥ 7= wave length

c. (a) 7 (b)=151 both (a) and (b) d. =rz= 1 71f% speed of light

% que ufH o der s adm A A E
lNymination of one lumen per sq. metre is called .........

A, 7R #127 lumen metre b. 7 lux

c. F= ¥=7 foot candle d. Fz=rcandela
The unit of luminous fluxis ............

u. "7TE watt! m? b. 7=+ lumen
c. THFlumen/ m* d. 717 watt

Filamentlamps operate normally at a power tactor of

a. 0.5 lagging b. 0.8 #fif lagging
c. 7f% 7= unity d. 0.8 #ifzwleading

(d) 11.85 kW

(d) 11.85 kW

[c]

[d]

[d]

[b]

[c]

[b]

(o]

[c]
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30.

)
Lk
N

33

fraTsE A 3777 (e offve e et sz a2

What percentage of the input energy is radiated by filament lamps? [a]
a,  2to 5 afru percent b. 10 to 15 wf5ur percent

¢. 25 to 30 7f3sm percent d. 40 to 50 75«17 percent

GLS &7 %1 fpama= e gaa =

The filament of a GLS lamp is made of [a]
i, =T tungsten b. sfTrcopper

c. Fr44 carbon d. s=qfafaaw aluminium

fraffas dra = aEa s s A £

Which of the following lamps is the cheapest for the same wattage? [c]
a. w7rHE =17 Fluorescent tube b, %47 777 &7 mercury vapour lamp
c. GLS 7 GLS lamp d. #rf7w 377 A7 sodium vapour lamp

FafafT & & sref GLSH T fr == v ad 2

Which of the following is not the standard rating of GLS lamps? [b]
a. 100w b. 75W

c. 40W d. 15W

TriEw 7 FEo=Ta AT Ay e

The colour of sodium vapour discharge lamp IS [c]
i. =T red b. TATET pink

c. 1 yellow d. #7771 bluish green

frrer fran —w P frafr 2

A reflector is provided to [d]

a. 77 #7 77am protect the lamp b, 777 T swrear 7 7 providebetter jllumination

. 717 7 75+ avoid glare d. =74 73 7 do all of the above
AR AT S AT A AT A S F I RIET ST Seeg F 1 &
The purpose of coating the fluorescent tube trom inside with white powder is [d]

Q. T A7 3 7 9 to improve (s life
b. 771 7717 ¥ 57 toimprove the appearance
¢. mfazs 1= %1 ¥ s 7 nfrafis 799 F f7 to change the colour of light emitted to white
d. et nfer & s arez e w1 § o
to increase the light radiations due to secondary emissions
T = At 5 T T T T T2
In the fluorescent tube circuit the function of choke is primarily to [c]
i, e w3 w7 reduce the flicker b, =1 25 7 %35 %751 minimize the starting surge
C. 97§ 77 TiTImE FAT 47 797 #7497 initiate the arc and stabilize it
d. =172 ¥77 %7 7% %747 reduce the starting current
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35.

36.

37.

38.

40,

¢. Fort & B Ao & Fee waw e

a condenser is connected in parallel to the supply
d. af¥= &7 mw Ffrmas e s e &

vapour

FrE EE F A amAnt w ST s s e
The functli:m of capacitor across the s;JppJ},r to the fluorescent tube is primarily to  [¢]
A, wrF F1 fegw 947 stabilize the arc b. =157 ¥= % #7471 reduce the starting current
C. FATE AT FFET § are #5941 improve the supply power factor

d. smara % F7a1 reduce the noise

T Tfraas F e Feemiz & w5 it o fendre

Most affected parameter of a filament lamp due to voltage change is [b]
a. 77 waltage b. 77 life
¢. A= 79a7 luminous efficiency d. 7=z w3277 light output
EE R e AU E e AT I R )
In electric discharge lamps for stabilizing the arc [e]

N, TATE Fam A s ArTeEs I A= fF o g

a reactive choke is connected in series with the supply
b, e F v g § s3= w9 v awr

a condenser is connected in series to the supply

a variable resistor is connected in the circuit
Farem (fiffer) vt F Fo sravers gdmem s B aw o gy s
For precision work the illumination level required is of the order of [a]

4. 500 - 1000 lumens/m? b. 200 =400 lumens/m?
b.  50-=100lumens/ m“d. 10 =25 lumens/ m*

stroTer FifEw F A srgvTs o o947 JaaT — =%
For normal reading the illumination level required s around [b]

d4.  20-40lumens/ m? b. 60-100lumens/ m?

c. 200~-300lumens/ m* d. 400-500lumens/m*

Tafees e 8 — g AT T EET A

In electric discharge lamps light is produced by [b]

i, T4tz 7 mfwerT cathode ray emission b, 7 4T T #§ @rATEAYE lonization In @ gas or

¢. ¥7= %1 #1fzn war7 heating effect of current d. 7= ¥7 &3f5= 7917 magnetic effect of current

A substance which change its electrical resistance when illuminated by light is called [ ¢ ]
a.  wETzAtET photoelectric b. w=rar2% photovoltaic
c. TrEEiH=T photoconductive d. =74 # 7 Frf 7¢1 none of the above
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41.

c. ArA7aTe=7 lower voltages d. #=17 1==7 higher voltages

46.

47.

48.

e T AT W, AT T TN FAT R

In case of ... power factor is the highest. [a]
4. GLS 77 lamps b. =¥i#1 ar¥ 7 mercury arc lamps

¢. =77 71e7 tube lights d. sitfs=w 7777 %7 sodium vapour lamps

A mercury vapour lampgives ... light. [d]
{. 7%= white b. st pink
c. i1 yellow d. =71 411 greenish blue

wfradt Wiz &7 § vare 7 T wefedt § afer Seeft s & e — £ Sometimes the
wheels of rotating machinery, under the influence of fluorescent lamps appear to be

stationary. This is due to the [b]
a. =Ty 7 low power factor b, =rEiTs marT stroboscopic effect
c. @77 fluctuations d. = (FEa=T) 7979 luminescence effect

FATIHE AT 7 (T Tar — 7 wfuE e g
The flicker effect of fluorescent lamps is more pronounced at [a]

a. At gt lower frequencies b. #=v7 frg=fr higher frequencies

GLS #7 % w171 fm w71 7747 7

Which gas can be filled in GLS lamp? [d]
a.  #wiE oxygen b. 7 sra-sf+ris carbon di-oxide

€. HATA xenon d. #1% +f1 74 7+ any inert gas

b i A1 | FieAT o ol AT 2

The gasfilled in vacuum filament lampsis [d]
ia. 72194 nitrogen b. w9 argon

¢. TH7 air d. ¥7¢ 5#1 None

eiafizs arzfan % fm o 3 s s a — e,

The vapour discharge tube used tor domestic lighting has [e]
. A1 fEAraE no filament b. o= fATH= one filament

c. 71 === two flament d. 1 fFATa= three filament

FreATAET | fewamsd A 1 30 949 F v ZEms v g g - FEet L
Stroboscopic effect due to use of discharge lamps in workshops results in moving

machinery appearing [d]
A, #2oA stationary b. =aw#1 +fr =91 stationary running slow

¢. =t frrfie frur & 571 741 2 stationary running in reverse direction

d. =i+ 7141 all of the above
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AT F —— FTT ¥ AT AT 8,
Glare is reduced by

[d]
. Feraet w T using diffusers b, A 1 3T == 27 increasing the height of the
lamp
C. % A T F2-4% Fo ® v Frwrs=T &1 3T usingreflectors to cut-off thecertain angle
d.ri= i1 allthe above

FATIEE w1 T o fAwfata § 7w e 2T

Which of the following is present inside the fluorescent tube?

[c]
A. s A7 Rt argon and neon b, s ST FrEs Tt argon and CO;
. §¥I41 777 mercury vapourd. o 7 stwiras heium and oxygen
T TATEE A7F T2 AAT 2 AT 92 THER(A) T2 07 B 0w e E
When an electric bulb i1s broken it produces bang; thisis due to [a]

{. T F 4% 7979 vacuuminside the bulb b, === & a7 797 pressure of air in the bulb

. #%7 FT T7 ATET F q97 F 99747 214 F 190 pressure inside is equal to that out- side
d. =T @ &1 =12 971 none of the above
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5. srsta=D.G. SET

1 gz 3T 717 F2E AFT AT 21, AT T TATEA F1I0 AT FTAFATE
If 2 DG set fails to start, the probable cause may be [d]

(u) 7 Fat7w mav #4197 Dirty clogged air cleaner (b) 2u= =47 51 Fuel tank empty
(c) ats= fazw wm #47 Nozzle niddle jammed  (d) =74 7+ All of the above

I3

wf% ot 72 =72 Frn 3, T 9 T 9T % A0 E, AT ST AT W AT E

It a DG set starts but stop after some time, the probable cause may be [d]
(a) Zu= 5777 Airin fuel (b) o1 =z =77 Fuel line choke
(c) Tuw 7=+ =% Fuel filter choked (d) == =1 All of the above

3 afrdrdraE u of el ad o & A o el e e g e 2

If aDG set is not gaining full speed, the probable cause may be [d]
() Zuw 1 At Fuel tank empty (b) sr=i7 form zza1 Governor spring broken
() #u= Fies a1 Fuel filter dirty (d) =v%= =51 All of the above

4 i drdr 7= ofETe F wew a2 E, 91 T ST T F R e f
It a DG set mistire during operation, the probable cause may be [d]
(a) v sz @ g7 Air in fuel line (b) at#= =77+ Nozzle damaged

(c) Tum 7 7T Faerem Water mixed with fuel (d) =ri= =1 All of the above

35 af% #AT 7= o AT £ T E. AT T AATEA W0 T AR
If aDG set lacks power, the probable cause may be [a]

(a) 7 Suw gty w17 TEe 99 w97 £ Pump may inject insufficient quantity of fuel
(by Fu= Fr =71 pra=T Poor quality of fuel
() a7 5+ fiw=w Dirty cooling system  (d) =i a7+t All of the above

6 #TEHFHFTTaar T A ETaaET I e S AT
It a DG set gives excessive smoke at no load, the probable cause may be [d]

(a) w Ftes maw w77 Dirty clogged air cleaner (b) stz $u= TH¥ur9 217 choked fuel injection hole

() =1 2u= i1 Faulty fuel pump (d) == =41 All of the above

7 A T S 7 AT 72 A S T 2, A7 SN0 AW $000 47 2 AT £
If a DG set excessive smoke at full load, the probable cause may be [d]
(a) a7 gfes = 579 75 57 77 #1 One or more cylinder not working (by =77 A=
Poor quality of oil (c) #t#7 719 Nozzle jammed (d) == a+f1 All
of the above
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8 g I 5 AT FHIE AT R, AT IHF ANTAA T T I AFATE
It a DG set gives out blue smoke, the probable cause may be [d]
(a) = 97 [ 27 =z Worn out liner on piston () o= & s = 5= Wrong graded
lubricating oil (c) 7= wwa #1% == #7 77417 Engine used after along time
(d) == =1 All of the above

V] af2 F47T 7= T THE TR, A7 SONT AAIAT FOOMAT AT AT £

It a DG set gives white smoke, the probable cause may be [a]

(a)  Fus T Ava T T 2T Water mixed with fuel (b)) =57 s arz T3 71 7T Engine used after a
long time (c) 1 77 =irzee Fe=sr Worn out liner piston (d) 7= @41 All of the above

10 =F% 3t 717 Fr=73 37A7 2. A7 TR0 AT I A AT
It a DG set overheats, the probable cause may be [d]
(a) & o= 3% 907 high exhaust back pressure (b) T#7 @727 Engine overloaded
(c) &= a1 Ttz gafer afio+s Damaged main or connecting bearings  (d) == =41 All of the
above

11 of Frfy #r= afire T A7 &, A7 7909 AT FEW T A A 2
If a DG set consumes excessive fuel, the probable cause may be [d]

(a) T mzav=az fe7==t Injector adjustment disturbed (b) T T T T
Externaliinternal fuel leakage
(c) Tu= w7 F7 779 771 Incorrect value of fud timing (d) =1 =+ All of the above

12. 712 911 72 71 A=7AET AEIEIE 1, A1 T AR 0 10 f ARAT 2
If the alternator of DG set is overheats, the probable cause may be [d]
() =T T30 Improper ventilation (b) = 7rmm Misalignment
(c) wofrs 47 arg=fza Overloading of machine  (d) =74+ =71 All of the above

13. ufE F14t fz ¥ ari=e A=A FAT £, A1 oE AafEe wew e AT A 2
If the armature of DG set overheats, the probable cause may be [c]
(by Fre=tET Overloading (b) T=7=7 o #1f%= Internal short circuit
(c) a &b =11 Both a &b (d) 3771= % 7 ¥1¢ 771 None of the above

16. 125 kVA sf=r &g Fr3ft 7= % P w22 vf
The maximum rated speed for 125 kWA Cummins make DG set is [a]
a 1500 rpm (b) 1800 rpm (c) 2100 rpm (d) 2500 rpm

17. 947 &2 57 Sz I7THA T FT ATHIRT A7 07 —— F JT9 TIT AT
The oil temperature gauge of a DG set should normally read between [a]
a B82-116degC (b) 90-125 deg C (c) 100-140 deg (d) 122-148 deg C
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19.

20.

21.

22.

23.

24,

25.

18. 77w 37 F #179, A4fTH ATTHA = F% TE99 7%, A7 72 97 A1 77 fresfir =7y =y =, During

warming up, the load should be applied gradually on a DG set until the oil temperature reaches
b]

a 40°C (b)6O°C  (c)80°C (d)100°C

nfe=TR & T T2 F MAT I AT F 7F FARE AT T — F AT ZH7 AT
The water temperature of DG set in operation should normally range between (b]

a 60-80degC (b)74-91degC (d) 88-98 deg C (d) 95-110deg C

1 i § ez § 597 F pH 979 F1 e T o1 5T 7T AT,
The pH value of the coolant in the radiator of a DG set should be maintained between([b]
a 6.5t085 (b) B.5t0 10.5 (c) 10.5t0 12.5 (d)12.5t0 14.5

i & afz pH 777 — & ¥ &1 A1, S T 57 afrnfa wdt fer .
The diesel engine should not be operated if the pH value in the radiator is lessthan  [b]
a 6.5 (b) 8.5 (c) 10.5 (d)12.5

41 7= ¥ Tyw w7 arredt et #1 morE — 0 A e e,
Primary filters in the fuel system of the DG set should be cleaned at every [e]
a 1509 =hrs (b) 200 ==hrs (c) 250 7= hrs (d) 300 T=hrs

71 7= F TR Fe=w ¥ mrredt e §1 v E - g e A
Primary filters in the fuel system of the DG set should be replaced at every [b]
a 500 %=hrs (b) 800 =hrs (c) 1000 T=hrs (d) 1500 ==hrs

¥t = 7wt uw Feer wr Az fr 79 Sug qor 09 — T FH AL
The secondary fuel filter of a DG set should be replaced when the fuel pressure gauge is

below

a 10psi (b) 12 psi (c) 15 psi (d) 20 psi [b]
AT 7= | e —

The exciter naDGset is [a]
a vz 74727 Shunt generator (b) #1722 772w Compound generator
(c)awrbEitherofaorb (d) Tvi= # ¥ %1% 751 None of the above.

AT TAA1 A FAIA AT AT A
The compression ratio in diesel engines is in the range of: (bl
@) 10:1t0 1511  b) 14:1t0 25:1c) 5:1 to 101 d) 1:2 to 3:1
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30.

| 8

e
I

33.

m eaa s A FatafE s s s sm e

Which of the following is the last step in diesel engine operation? [d]
1) T¥#4 == Induction stoke b) s #=r% Compression siroke
¢) =fiwr =1 Ignition stroke d) i+ #21% Exhaust stroke

T 77 1 AT drgeTEAr W it AT A
The power requirement of the DG set is determined by: (bl
a) =9 47 base load b) #firs=w Az Maximum load c) wifsr+ =1 Partial load

d) 4= =1z Zeroload

rfig & 9171 712 § =hwm &R dus v ger ama - 1
Present specific tuel consumption value ot DG setsin industries |s about ___. [c]

W) 220 g/kWh b) 100 g/kWh c) 160 g/kWh d) 50 g/kWh

o vt e fr o — e R arfr 2
The efficiency of diesel generating set falls in the region of: [a]

) 35-45% b) 50-60% c)65-70% d) Above BO% 1 577

Auxiliary power consumption of DG set at full load in its operating capacity is about _ [a]

a) 1-2% b) 5-6% c)10-12% d)Above 15%

500 kW Fa¥2= a1z o7 1.5 Traafif e, 80% T 4 0.8 w97 %7 % ama 11 a2 % B aravas
T e

The rating required for a DG set with 500 kW connected load and with diversity factor of[a]
1.5, 80% loading and 0.8 power factor is

a) 520 kVA b) GO0 KVA  c)625kVA  d) S00 kKVA

it 7z w7 =i w7 ey Y 2 T 0 AT WA F — % & i A e
The starting current value of DG set should not exceed__% of full load capacity of DG set. [b]
a) 100 b) 200 c) 150 d) 300
T 717 77 T AT § AT e 1R g — 2
The maximum permissible percentage unbalance in phase loads on DG setsis____  [c )
a) 5% b) 15% c) 10%d) 1%
afrsrm % 77w 12 997 4 1 92 F Fw $6l 72 0w sy e e A — 2
The permissible percentage overload on DG sets for 1 hour in every 12 hours of operation
is____ [c]
a) 5% b)15% c) 10% d) 1%
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3. T T wheE T TTET T ST - T A AT 2
Designed power factor of a DG set is generally at: [b]
a) 1.0 b) 0.8 c)0.9 d) 1.1

35, FTH1 = T ATHT 7E T —— TR AT

Lower power factor of a DG set demands_____ [b]
a)  ATaE mwIEedE 97 Lower excitation currents b) zrre meTzze 7= Higher excitation currents
C) mHIZEE 72 § 12 779949 7771 No change in excilation currents d) 371+ = 7 %17 771 None of the above
36, Fafmtfm aaswham a2
Which of the following losses is the least in DG sets: [d]
a) From 7f=7 z1f7 codling water loss b) meaf= #1f7 exhaust loss
c) frwas= 71f5 frictional loss  d) w==7+= z1T+ altemnator loss

37. 1100 kVA 5= % Fm B00 kW 77 41 480 “C  rarafs= 91 ATmH1= F 7t =04 #12 T4+ —— 2. The
waste heat potential for @ 1100 kVA set at 800 kW loading and with 480 “C exhaust gas
temperaturejs ____ [a]
4) 4.8 lakh kCal/hr b) 3.5 lakh kCal’/hr  c) 3 lakh kCal/hr d) 2 lakh kCal/hr
38. 5 MW ¥t 1= w1 Fafire v v fo7 svansy 5 80% =2 7 w7 afrF= g A ww -
Typical exit flue gas temperature of 5 MW DG set operating above 80% load is of the order of

— [c]
a) 550 to 560 °C b) 210 to 240 °C c) 34010 370 °C d) 400 to 450 °C
39. Frfrm ¥R g s I T ——F A 2,

The maximum back pressure allowed for DG setsis in the range of_. [b]
a) 100=200 mmWC b) 250 - 300 mm WC(Water Column)
c) 400~ 500 mm WC d) above 500 mm WC

4),  Frdr = 1 AT AT -— T W7 a2

The operating efficiency of DG set also depends on: [d]
) Za1 a7 turbo charger b) z39= m97 armaA Inlet air temperature  c©) % 9% loading

d) 7vi= i all the above

41, T HE ¥ B greeaeT § $10 2Aar — e e

For a DG set, the copper losses in the alternator are proportional to the: [b]

a) Frzeaze g7 w592 Current delivered by the alternator

by s g fa e v g7 =31 Square of the current delivered by the altemator

¢) wr==7az7 g7e1 f2m o 9= 57 59 g7 Square root of the current delivered by the alternator
d) =74 # 1 7% 777 None of the above

42, i B 1 ate e - § 1 ° Fr i
The jacket cooling water temperature for DG sets should be in the range of [b]

ay 40-50°C b) 30-40°C c) 80-90°C d) 45-60°C
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3, wfrEmes & S S A F auer #1 TwA § B a3 & T o et g B avEr onm
AT —- 2.

The main precaution to be taken care by the waste heat recovery device manufacture to prevent
the problem in DG set during operation is: [D]

b) 7+ 717 Back pressure

¢) 7#= #1= Frerdt =gt 7 srrefer Overloading of waste heat recovery tubes

d) mrafe= i #1 =471 Turbulence of exhaust gases

iA) FATTHE TEAT Temperature raises
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6.97 PUMPS

| g arE R et e T s FT E
If pump delivers no liquid, then probable cause is [a]

(a)yarza 1 #7347 Lack of prime (b) 1= 7 1 71 77 Gas or air in liquid
(c) 9= «ir#= Benl shaft (d) shawfzar sfrs 7 55971 Moisture in lubricating oil

14

Wiz 7 foa=TA e AT E, AT AR FTM T

It pump discharge prassure s low, then probable cause is [b]
(a) 7w 1 %47 Lack of prime (b) fiafi= & &1 =1 va7Gas or air in liquid
(c) = smr=Bent shaft (d) Al @iz & FsiMoisture in lubricating oil
3 wi# vy & wiAtrr areavs 21, faria s v 2y reAr
If there is excessive vibration In pump, then probable causeis [c]
(a) Tz T ¥rLack of prime (b) M= & =1 a1 w97 Gas or airin liquid
(c) 7= «r=Bent shaft (d) et ste @ adiMoisture in lubricating oil

- T F AT AR A=A =L AT AT w i g
It the beanng of pump overheats, then probable cause s [d]

(a) wTz% FrFfiLack of prime (b) Faf= @ &1 a7 ma7Gas or air in liquid
(c) 7= vrm= Bent shaft (d) v wrw 7 ATMolsture In lubricating oll

T2 T JTTAT W AT FAT B, AT AT s e g

It pump overloads the driver, then probable cause s [a]
(a) ¥ 7 77z Packing too tight  (b) Suction line not filled with liquid

(c) Gas or liquid in air (d) None of the above

L

(] FafEfEaaa sy, T SR AET S,
Which of the following is not a criteria of pump selection [d]

() =791 F w1 F7 sravmwAr Type of duty required  (b) 37 77 f7 Details of head
(¢) 7= sy AT &7 9= Duration of availability of power supply

(d) 77 77 77 The look of pump.
7. —— T FT F A70 HS 77 717 747 £
HS Pump works with suction head. [b]
(a) 15-20 feet head (b) 21-40 feet head
(c) 41-80 feet head (d) =ri= @ 71 $12 797 None of the above.
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10,

11.

14,

— FAETF AT VS T I T L

V'S Pump works with total head [b]

(a) Uptc 46 Mirs, head. (b) 46-70 Mtrs. head

(c) 70-100 Mtrs. Head (d) None of the above

VS m #1 W7 w71 w2

Motor of the VS pump is located [c]

(a) TTT= =7 ¥ =77 Above the groundlevel (b) am== 777 7 1= Below the groundlevel
(e) =17 @ =71 Deep in the bore (d) =v4= % 7 ¥1% 777 None of the above

VS sz v w1 fmm A e 2

Line shaft of the VS pump is lubricated [c]

{a) == ati= Spindle oil (b) Fra= sttt Diesel oil

(c) =717 %= Lub oll SAE-40/30 (d) +7i= # & #7% 771 None of the above
- F o urefirm 47 s £

Priming is required for [a]
(i) HS 71 Pump (b) VS TTPump (c) sraufaa 71 Submersible Pump
sy 71 A2 71 RPM

RPM of submersible pump set is [d]
fa) 440 (b) 1440 (c) 380 (d) 2800

Which pump is most suitable for deep & tilted bore [c]
(@)  HSTTPump (b) VS T1Pump (c)#awf==7 Submersible (d) 7= Jet pump
(e) =7+ # & :1% 771 None of above.

A7 F7 AR T e AT A

Redevelopment ot bore is done [b]
(@) T ¥ aeE i % 7 For smooth operation of pump

(h) % fm s ot & T For taking good yield for bore

(¢) = Fr =T @y a4 7 e To maintain long life of bore

(dy o fr A FEEE At # 399 % F To avoid the frequent failure of the pump

T 57 £ STHAT = F 377 7 Tafaq £ et A

Capacity ot pump set is selected on the ground of [a]
Yield, Static-water-level, Working-water-level.

(hy == Fram Location of bore

(c) T AT AT #2127 #1977 1ype of starter provided

() T fem wrET T #1 5T Quantity of water to be used.
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17.

18.

19.

a0

|

T JITE ETA WO AT

Pump fails mn;';tly due to

{a1) =x Ty 7 77 Less working

(hy sl =ram 557 Excessive working
(c) T =T Incorrect operation
(dy i Failure of pump
I T HE HTET WAL 2

Pump set motor burns due to

()  Fa 7737 Single phasing

ih) Frat wfa Reverse phasing

(¢) %% 7afa ¥ fm g 51 Over loading for a shorter period
(dy g # & 2 777 None of above.

10 HP 7 &= F i =187 57 v 9907 70
For a 10 HP pump set which type of slarter is suitable

(2 DOL (b) #=17 == Start Delta (c) ar=r zI=ra Auto Transformer

(d) =71= % 7 %7z 751 None of the above

S HP 7 77 e A72 77 ¥ AEh A FA1 2
A 5 HP pump set draws current on full load
(a) S5A (b) 10A (c) 75A (d) GA

T A F A e F i it s — 57 A F fam of i 2
Ammeter is provided in control panel of pump set to measure the

{a} === Voltage (b) =11 Frequency(c) T &#=7 Power Factor(d) 7= Current

7.2 2147 § TS FTEAEIT 40 A,
No. of contractors provided in star-delta starter

i;:r}méﬂmi—ﬁmggﬁﬁ%?ﬁ :[EAJTI maé. s
Pump Guard functions to protect the submersible pump set against
) T wFET Single Phasing

by fr=t w7 Reverse Phasing

¢) e A= Over Loading

d) g7 757 Dry Running

¢) 7= a4 All of above,

[b]

[a]

[b]

[c]

[d]

[c]

[e]
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T HZ T AT e F T Ty AT
Automation of pump set is done to [e]
a) vy F A g7 #ifEF Fv= F Fo To limit the working of pumps
by T ¥ 37 7 357 ¥ 77 To avoid the wastage of water
¢)  fFEm w3t §a99 577 % 70 To save the electrical energy
dy  aw o 47 #9570 F 77 To reduce the man power
¢) T At All of the above.
24, T FT FATEA T A w &
Centralized control of pumps means [b]
a) T T ETEAL 7 T 7Era9 Operation of pump from individual pump houses
by =z == @ st T F1 1frse Operation of all pumps from a single location
¢) T & %1 971 None of the above
TIET AT 8 T F FEF ST FREE 72 F arg qrefi Seen £ dand
The functional head due to flow of water inthe pipe line—— length of piping system. [b]
a)  Frfm s e 2 Inversely proportional to
b) #frir sy 2 Directly proportional to
(¢) F777 @ #7771 =7 7 Conslant and independent of
(d) == # & %1% ## None of the above.
26, TIET JTsS 8§ 717 5 7 F F90 ST 2% F 978 TS 57 sTAraTET
The functional head due lo flow of water in the pipe line— Diameter of pipe. [a]
a)  Farfra = & af=+ 2 Inversely proportional to
by  #fiir srpfaw & Directly proportional to
(c) 7= 47 7977 =7 7 Constant and independent of

(d) == ® 7 %1Z 71 None of the above.

L

27, T ATES # O F FAF R0 G FITAT F e 7 AT ST 2L
The functional head due to flow of water in pipe line is directly proportiona to--— of water.

[d]
a) ==ttt Velocity
by (=7 gyEaifafz (Square root of) Velocity
¢) 1/ 7=tttz Velocity
dy  F=iET=Velocity?
28. TRE TTET 7 OTHT 1 iAo, whEefr o a =

I he average of velocity of waterin the suction pipe — the delivery pipe. [a]
a) 7% Less thanin (b) afirs & More than in
(c) ¥ @71+ Same as in (d) =vi= ® & ¥ 57 None of the above.
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30,

3.

tard
Id

33.

35.

36.

(@) Titaf=7 Positive(b) === Negative (c) «=r Zero (d) =74 & 7 %72 777 None of the above.

araTe Szt ¥ f sfieaw a7 — T afiw A A
Theoretically the maximum suction head for ordinary centrifugal pumps should not

exceed. [b]
a) 20 feet (b) 34 feet (c) 10 feet (d) 5 feet.
e o 0 S aEwtia oy ¥ A e B shen :
For vertical shaft pump and submersible pumps the suction head s always. [a]

e o A1 0127, 75 HP 720 77 ———

The motor of vertical shaft, 75 HP rating pump is. [e]
(@) T maT 7% Force air cooled (b) wrfF% ma= Natural air

cooled (c) f=+ 7= Water cooled.(d) == = 7 1% 771 None of the

above.

77 (RPM ) 7 fBfafie o e o o —-F 52 5 7 —— 37 G 79 5 o v,

The specific speed of pump (in RPM) is the speed at which the impelier would run to give
discharge of -—— against head of -— [a]

(a) 1 GPM, 1 Foot

(b} 1 GPH, 1 Foaot

(c) 1 GPM, 34 feet

() 1 GPH, 34 feet

& AR aff—adframmfs 2 s GPH A a1 = 'Q &

The specific speed of pump is directly proportional to — where 'Q’ is rale of discharge in
GPH. [a]

(ay Q (b)Q (€)Q? (d) 7= & 71 F17 =#1 None of the above.

€1 fafafie aff —— a sfra s 2, 7271 RPM 7 mr firafa ‘N2

The specific speed of pump is directly proportional to — where ‘N’ is speed of pump in
RPM.[b]

(a) Square root (N) (B)N  (c) N2 (d) 7= 5 @ #712 71 None of the above.

nifafes feesrire o armrer A 0 dfewpre T 7w 2 £19 E A4F E A e A
Positive displacement pumps are generally less efficient than centrifugal pumps. State

whether the statement is true or false [b]
(a) 7 True (b) 7= False

i fe=w # a7 TraTEET e 7 AR w9 F AT — 7 w5 AR
Installing larger diameter pipe in pumping system results in reduction in
a) #=f=7 2= slalic headb) s == frictional headc) a 1= b 777 both a and b
d) 41 a 7 #1 b neither a nor b
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38.

39.

HATAT F17 97 127 TET ATAT F1 == F 127 TATATZ F AT9 ATaw i Far am &
Generally water pipe lines are designed with water velocity of [b]

a)<1 m/s b) up to 2.0 m/sc) > 2 m/s d) =i # 7 ¥7¢ 571 None of the above

AT I T T T ST aAE & 2
What is the impact on flow and pressure when theimpeller of a pump is trimmed?[c]

a) 7 27 w7 ¥ wra w1 79 2197 £ Flow decreases with increased pressure

b) T drF ez = 72 # Both flow and pressureincreases

€) AT A7 w7 471 ¥4 714 “Both pressure and flow decreasesd) 1= # &7 #rt w71 None
of the above

T AT AAVTEAT ¥ T, T #7 wTRTErET - # it fem e A
For high flow requirement, pumps are generally operated in [a]

a) f==r parallelb) :frfr= series ¢) s # & ¥12 1 any of the above d) 7ri= & & ¥7& 7

rione of the above

4),

41.

+4.

“ gtefr afreaE F A 75w w0 5§ By o af{fEE we 5o s fent v e an
F=F AT AT T,
“In case of throttling operation, the pump has to overcome additional pressure in order to

deliver the reduced flow". Please indicate whether this statement is [a]
a)  #FTrue (b) 777 False

i = o e T ——

Friction losses in a pumping system |§---—- [b]

a) 1/Q ¥ o gmfas Sproportional to 1/Q b) 1/Q%F i @i+ = proportional to 1/Q2c)
1/Q ¥ fAm arfaF & proportional to 1/Qd) 1/QF m @ 2 proportional to 1/Q¢

T FHAT ¥ ATz T F fAw, e w0 e —
For large capacity centrifugal pumps, design efficiencies arein the range of [b]

a)  #wawaround 70%  b) mramaround 85% c) Amwwaround 95% d) I # A
1% +f1 any of above

sifergar it & giET
The moving part in centrifugal pump is =—-- [a]
u) T impeller  b) e diffuserc) a &b ITbotha &b d) AT a 7 #1 b neither a

norb
v B T e o A e o2l — 1

The most efficient method of flow control in a pumping system is—-—- [b]
i) wi=f# w1 Throttling the flow b) =% frm Speed control
c) =+ f=faw Impeller trimming d) ¥72 771 None
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45, wpr e e e 93w 6, 2T v ———
In case of increased suction lift from open wells, the delivery flow rate——— [b]
i) TZ77 7 increases b) ¥= 211 7 decreasesc) 771 771 # remains samed) ITET H 7 T1L A7
none of the above

36. 7 7 AT ATRTAR AT Atere wfF ¥ Ay 37 £ 97 == 9 A .

Pump efficiency generally increases with specific speed. State whether the statement Is

True or False. [a]
a) 771 True b)i7 False

347. mEifEfam s —agfz i i
Throttling the delivery valve of a pump results in increased ; [e]

a) == head b) "=+ power c) (a) i+ (b) =7+ both (a) and (b)

d) (@) =7 (b)either (a) or (b)
48. it w7 nfr=res 722 - I TEETT AT R

The operating pointin a pumping system Is identified by [e]
n)  FEER AT T A T R T

Point of intersection of system curve and efficiency curve
by T FF A ST TET $9 9 I T

Point of intersection of pump curve and theoretical power curve
¢)  TrET AT RS 9T e T

Point of intersection of pump curve and system curve
d) 7 Frefrfaes wF g7 Rulfes =5 fear 31 o9,

Cannot be decided by pump characteristic curves
49, T F4 417 s 9 F TEIAseE T F 0 FE5 F e
The intersection point of the pump curve and the system curve s called——— [b]
o 1 2T Pump efficiency b) == =u+1 112 Best efficiency point
c) s et System efficiency d) =74 # @ %72 777 None of the above
1), 7% s 7 7 o 2redt 27 0 &, AT — s AT A | Atz A A
If the speed of a centrifugal pump is doubled, its power consumption increases by---—-—
times.[cC]
i) ZTtwo b)swfour ) @ eight d) %z a7 771 no change

51. Ffrmaw fg=it 7re3 (VFD) %7 #9419 - % 579 5127 F7 71147 %99 47 FA00T 597 7.
Installation of Variable frequency drives (VFD) allows the motor to be operated with ___.[
al
i) Ara7 w=rE-am 7= lower start-up current  b) =TT s #42 higher start-up current
c) #1917 %77 constant current d) 37 # 7 #12 571 none of the above

Page 61 of 11§




Ay
b
H

Ly
“ad

sfermrs ¥ v ®, T Ty ofrads a1 s ST SwE - F 9w T w9 a0
FFHfET fFmaET e

In case of centrifugal pumps, impeller diameter changes are generally limited to reducing
the diameter to about ____ of maximum size. [a]

i) 75% b)50% c) 25% d) None of the above
wf% o w et v ooy ater g Fr o 30% Tw A A A FwfEe s e v P
=7 fawe wr Z1. If the delivery valve of the pump is throttled such that it delivers 30% of
the rated flow, one of the best options forimproved energy efficiency would be

[c]

i) =7 1 B2 Trimming of the impeller b) #1== 71 wf=ar Replacing the motor

C) T % e 7 A arers w1 0Tae 7T Replacing the impeller with a smaller size impeller

d) =79 # 7 7% 71 None of the above

FATAAT = 5 (77 FTE FTA-TT9 ATSAT F7 941007 AT ATAT £
Small by-pass lines are installed some times to ; [e]

i) = F1 7= control flow rate b) ¥#m 77 =Fr= 77 control pump delivery head
¢) Fart 1 = v #f=ar §71 77 prevent pump running at zero flow
d) T 7T =S T T wEAT reduce pump power consumption

Page 62 of 119




(4]

7. T wrram TRACK CROSSINGS

7T IE AT ae weaardt 11 KV to 66 kV aravEs At (rf e afE) 7 Gl of Seee T fesew
0 % 74 397 F 307 =999 A4

The minimum height above rail level of the lowest portion of any conductor of 11 kV to 66
kV overhead lines crossing (including guard wire) the railway track should be [a]

(ay 141m (b) 14.6m (c) 15.4m (d) 17.9m

o S W w Tt 66 KV t0132 KV sz At § filt oft vrer v R s s v e
The minimum height above rail level of the lowest portion of any conductor of 66 kV to132
kV overheads lines crossing the railway track should be [b]

(1) 14.1m (b) 14.6m fc) 15.4m (d) 17.9m

TTET (% AT) T F7ATTT AFFATIT 94 2F 7 7A9 12978
The minimum depth of underground cable Irack crossing (through) pipe should bela )

(h) 1m (b) 1.5m (¢) 2m (d)y 25m
i v 7 e frnas AW 2

The Electrical Inspector at zonal railway is [a]
(¢c) CEE (b) Dy.CEE (c) DRM (Elect.) (d) CESE.

Y &% 0T 9w B v ¥ B R Retaiae ® Feoam sdi g
The requlations for electricalline crossing on railway track is not applicable to [d]
(i) A=44 ==,@?ﬁ7m?m1a=.|lltnﬁm%?ﬁrrﬁn i
Crossing of railway track laid underground/ inside tube and tunnels
(by 1500 V DC #7m ffm== 1500 V DC traction system
(¢) 25 kV, 50 Hz s fis=sr 25 kV, 50 Hz traction systems

(y == et All of the above

Frim wrrat § w7 5 o few i 5 e e a s fr — g s e £
In special cases the reductionin specified clearance of electrical crossing on railway track

can be permitted by [a]
(ay T f5¥u Electrical Inspector(b) sr#ro+ e fifrers Astl. Electrical Inspector
(c) &7 DRM (d) swrx ADRM

A 2w o7 Pregs Avear € sl 0 onm 7 9mA 2o, sl e w99 § Beonsdry e B

T A Fen =i, F R v 8 i et a fere s fer s

In view of electrical lines crossing on railway tracks the materials used should comply with
Indian Standards specifications but where these are not available, which of the following
should be followed [a]

1) fafzar === 79 British standard specifications
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10

11

13

(h) US #==2 faf=2s7 US standard specifications
i) Thirg === ke Russian standard specifications
(dy = #E=7 fafdes France standard specifications

7 T e fagm e v B anfas av w0 8 5 —— F A 1 e g i,
Electrical crossings on railway tracks should be inspected by the owner at a interval not
exceeding [d]

(@) 3= months (b) 6 sfzFmonths (c) @ szamonths  (d) 12 =fZ=months

afz Fft sy T 55 v faelt faep wrfem o0 fore B A & s fear 9 &1 A7 oo A
TIH TATEITL(F717 7 789 P F1 sare § /77 79397 797 97)

If at instance of ralways any electrical crossing on railway track is to be shifted or
modified the cost will be borne by___ ( shifting not foreseen at the time of agreement) [ b ]

(a) @ Owner (b) ¥"7 Rallways (c) == Both (d)a=rbEitheraorb

T S 7 P T & AT i a7 g e i, At i i i it w1 A
et Py Freitd et Foirs 3 coeeme o 5 3w it ST

In case of defects and failures in electrical crossing on railway tracks, owner has to sent a

detailed report to all the authorities mentioned in the regulations, within hrs of the
first report [d ]

(21) 12 (b) 24 (c) 36 (d) 48

Angle of overhead electrical line crossing to railway track shallpe [a]

(1) 7177 i Right angle

(hy w1z T Acute angle

() Ar==1= T Obluse angle

() T A F 1S T Al 71 Angle does not matter,

Forr st # w3 55 6t draee vafeess A wifEm 3 e 8 afaees sawe ofsEein special
cases the maximum permilted deviation in angle of OH electrical line crossing to railway
track shall be [c]

(a) 10 ffrdeg (b) 20 F=ideg (c) 30 f=ideg (d) 45 F=fideg

e 794 39 § #1277 FeaArs (At Arga el w ) & smew g aesm & i v ooy
fr== = 7 -2,

The minimum distance of structures (for electrical line crossing) from the centre of nearest
railway track shall be equal to the height of the structure in meters plus [b]
() am (b)6m (e)9m (dy12m
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13

16

17

18

19

I 5 1 AT FEAA AT e vatesa A 1 71— 7 vhEhie R
The span of the OH electrical line crossing the railway track is restricled to [c]
() 100m (b) 200 m (c) 300 m (d) 400 m

T 2w A wraArdt 132kV lo 220KV ST ArzAt (i e afE) w el fr ST ¥ Rea
f3 5 9 T4 T 077 STHAR SIS e L

The minimum height above rail level of the lowest portion of any conductor ot 132kV lo
220kV overhead lines crossing (including guard wire) the rallway track should be [¢]
(i) 14.1m (b) 14.6m (c) 154 m (d)17.9m

TAT 5 AT #1 FoAarar 220kV to 400kV draeEe avsAn (arf vy atE) ¥ G off e 1 Feew
751 % 79 797 ® T AR ST - T,
The minimum height above rail level of the lowest portion of any conductor of  220kV to

400kV overhead lines crossing {including guard wire) the railway track shouldbe [d]
(a) 14.1m (b)4.6m (c)15.4m (d)17.9m

oy afrfeafagy i ofy vag a9 91 sesr eafmm s e s s smwsra @, A Faa9 33
Tz Fr 33 KV Aret ® Fwaw wwr 7 I maaw s — 2

In special circumstances if the railway crane has to work under the under the overhead
electrical line crossing, the minimum clearance between the highest point of the jib and
the lowest conductor of the 33 kV lines should be [a]

{a1) 1.5m (b)2m (€)2.25m (d)2.5m

e nfvfrafaan & afz =7 = 51 daee wafeew oo wifemr & s @ wv=r 81 41, o 5 o= 590
Trez 7 66 KV AT F Fway fEwe w 19 = e — 2

In special circumstances if the railway crane has to work under the under the overhead
electrical line crossing, the minimum clearance between the highest point of the jib and
the lowest conductor of the 66 kV lines should be [b]

(i) 1.5m (b) 2 m (c)2.25m (d)2.5m

femoafrfafim s s e sr o s e s fssm a1 e s 55
rez si 110KV Arest ¥ Frser dewes 5 iy e e — .

In special circumstances if the railway crane has to work under the under the overhead
electrical line crossing, the minimum clearance between the highest point of the jib and
the lowest conductor of the 110kV lines should be [c]

(i) 1.5m (by2m (c)225m (d)2.5m
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o e |

1<
L

o nffafam & oft 777 %9 % drree TAtREET AT ®10 & A1 w08 w0 77 A7, A w e 5=
iz v 132kV Azt F e v ¥ A9 mpaaw Faeer —- 7L

In special circumstances if the railway crane has to work under the under the overhead
electrical line crossing, the minimum clearance between the highest point of the jib and

the lowest conductor of the 132kV lines should be [d]
fa)  1.5m (b)2m (c)2.25m (d)2.5m
frirr nfefrafaat & ofz g W= 1 drgeee gafezes s wrfamr & 5 s w01 #1471, T oo 59

e v 220KV AT ¥ frew #=eT ¥ #19 s st —— 21 In special circumstances if
the railway crane has to work under the under the overhead electrical line crossing, the
minimum clearance between the highest point of the jib and the lowest conductor of the
220kV lines should te [c]

() 2.25m (b)2.5m c)35m (d)B.0m

fupr afifeafat & ofz & i 1 dees fesm s e s s smw s o a1, Bm w999 55
T2 o 400kV 713 7 Fwew #2997 F 41 o Fraeer - 21 In special circumstances i
the railway crane has to work under the under the overhead electrical line crossing, the
minimum clearance between the highest point of the jib and the lowest conductor of the
400kV lines should be [d]

(a) 2.25m (b) 2.5m (c) 3.5 (d)6.0m

T A2 S R e { A Af A R 1 KV e aim aw AnAT e AR v e tw

Fam s s fg —— s s g T e &
In sections where tracks are not to be electrified in future linesupto 11 kV overhead

crossing are permitted with clearance between lowest conductor of the line and railway
track [b]
() 9m (b) 10.85 m (c) 11.05m (d)y12.1m

Tﬁ!ﬁ? gz tateTA wfEn & o e meare e § o T g e - F
9 ¥ El.
The factor of safety of each string of insulator used for overhead electrical crossing on

railway track should not be less than [b]

(a) 1 (b)2 (c)3 (d)4

THT IH T AR FIET T ATE ATAT A7 AAT FLHT T AT AATH AT - E

The mimmum height between any guard wire and a live conductor of electrical
crossing on railway track shall not be less than [b]
{a) 1m (b)1.5m (e)2m (d)25m

TR 5% F DT 917 T TAE A9AL. WY ST TATRRA ATI FI R AT & E W —— L
HAV-F 59 F1 T4 €1 47 2.
Each structure on either side of the railway track, supporting the span of overhead

electrical line crossing should be provided with no. ofindependent earths [D]
@ 1 (b)2 (©)3 4
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3l

TIEEFA AAET AT g (779 3 ) F IET @ aiusAaw 9T af s — 2. The
maximum permissible earth resistance on either side of the electrical overhead line
crossing (on railway track) (s [c]

(i) 5ohm (b) 8 ohm (c) 10 ohm (d) 12 ohm

T IF T AR TATEE AT FI9 F AT W —— F 3 07 oy 3 29 af e S e
ATH T T ATAIATAT 2.

The owner of the overhead electric line crossing on railway tracks, 1s required to inspect
and test the earth on hot dry day at aninterval of [d]

{a) 3 sf=amonths (b) 6 #fFamonths (c} 9 wfzamaonths (d) 12 sF==months

T IF T AIIATIY 9 FIAN F T4 A1 97 Awiataa § 7 F1 qre 77 w2 fey
Which of the following should be displayed on the marker at each end of the underground
cable crossing on railway track [a]
(1) a1 £1 7. No. of cables (b) ¥ %1 w1917 Size of cable
(c) ¥ §1 f5FIf5 Make of cables (d) 774= =ft All of the above
TG FF 0T NG DA AT w0 F AT wira w99 anw, mifas g et 0 a s e
77 7 W 2
Which of the following data i1s to be provided by the owner, while proposing tor overhead
electrical line crossing on railway track [a]

(a)  ATTETE =121 770 Temperature data provided

(by =i 47 a7 5 e 71 ate Name of supervisor from owner's side

(¢)  wrfEa FrATEE Life of crossing

(d) == 7 & % 757 None of the above.

a3 e i wfe s F wenfae eafRess e el § P e mar afm afisrfr e g
The final authority to grant the approval for proposed electrical line crossing of EB
authoritieson railway track [b]

ta)  TafsFa ffraw Electrical Inspector  (b) w77 DRM  (c) =77 (Frar7) DRM (Elect.) (d)
gar7 ADRM
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8. st fa=ra R=wINDIAN ELECTRICITY RULES

LV & MV AC sTaTE % 42w § ahreas saa mfaes

The maximum variation allowed in voltage of LV & MV AC supply 1s [d]
(@) 2% by 3% )+ 4% (dyt 5%

HV& EHV AC s=TE § 9172w § dfrsas www Tiadaq

The maximum variation allowed in voltage of HV& EHV AC supply is [c]
fa) £85% (b) £ 10.5% (c)x 125% (d) £ 14.5 %

AC =t ¥ gt 5§ wlrsag aaus 1frada
The maximum variation allowed in frequency of AC supply is [b]
() 2% (b)£ 3% (c)x 4% (d)x 5%

LT s MT mre=t & fm wdm 7 feey fewee (=12 1) 71 fmars — 31

Clearance of the lowest conductor (across the street) from the ground for LT and MT lines
should be [c]

(a) 17t (b) 18 ft. (c) 191t (d) 20 ft.

HT ar=+1 % fam w7 Femw w9 (& ) 71 s — 21

Clearance of the lowest conductor (across the street) from the ground forHT lines should
be [d]

(a) 17 1. (b) 18 ft. (c) 19 ft, (d) 20 ft

LT o= MT mrz=t 5 fam w9fm @ Feew s9vr (52 & o) 771 Feaesr —- 21,

Clearance of the lowest conductor (along the street) from the ground for LT and MT lines
should be [b]

(a) 17 fi. (b) 18 fL. (c) 19 L. (d) 20 ft.

HT ==t % o it @ Fsem s29= (52 5 o) %1 Fmesr -—— 21,

Clearance of the lowest conductor (along the street) from the ground for HT lines should
be [c]

(@)  17H. (b) 18 ft. (c) 191t (d) 20 ft.
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14

15

LT = MT =ret ¥ i w5 afis 577 ey #2977 feageay ——- 57,
Clearance of the lowest conductor vertical above the building for LT and MT lines should
be [c]

(a)  4A. (b) 6 ft. (c)8fL (d) 12 ft.

HT #rzat & Fr aa= 7 2w 5 Feew se9=7 971 a1 —- 21
Clearance of the lowest conductor vertical above the building for HT lines should be [d]
() 4H. (b) B ft. (c) 8. (d) 12 fi.

LT sfr MT =1zt 5 fam wa= &1 gtfrarea s95=7 w1 e — 71

Clearance of the conductor Horizontal from the building for LT and MT lines should be
[a]

(@) 4ft (b) 6 ft. (c) 8 ft. (d) 12 ft.

HT are=t & & aaw 7 gifaiza we7 o7 G —-71
Clearance of the conductor Horizontal from the building for HT lines shouldbe  [D]
{a) 4 fi. (b) 6 ft. (c) 8 ft. (d) 12 ft.

400/230 V, 150 ft. = mre1 7 o s2=71 5 17 afq e g sfar

The on line vertical spacing between the conductors for 400/230 V, 150 fl. span lines
should be [b]

@ 13 (b) 16" ()2 (d) 26"

400/230 V, 150-250 ft. #r Arzat F P w2071 % 419 o7 Fre7 afaga syl

The on line vertical spacing between the conductors for 400/230 V, 150-250 ft. span lines
should be [e]

(1) 13" (b} 1'6" (e)2 (d)26"

11 kV w5 Frr few2+7 & 419 st ares st fe
The on line vertical spacing between the conductors for 11 kV lines should be  [¢]
(@) 13 (b) 16" (c) 2’ (d) 26"

400/230 V, 150 ft, 7 =77zt 5 Fo a3 F 49 9w mg= gitraes i

The on line horizontal spacing between the conductors for 400/230 V, 150 ft. span lines
should be [a]

(i) 3 (b) 1'6" ()2 (d)2'6"
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18

19

20

400/230 V, 150-250 ft, #1= =zt F v $29=91 5 419 o= Az gifraes of b

The on line horizontal spacing between the conductors for 400/230 V, 150-250 ft.
span lines should be [ec]

(@) 13 (b) 1'6" (c)2 (d) 2'6"

11 KV =7zt 7 Fm #wwest & 4t atw area #ffeare safam
The on line horizontal spacing between the conductors for 11 kV lines should be [d]
(@ 13 (b) 16" (c)2'6" (d) 39"

4001230 V, 150 ft 717 7z 7 0 w297 ¥ 79 & 919 g
The clearance between the conductor and pole for 400/230 V, 150 ft span lines, should be
() 6" (b) 9" (c) 127 (d) 13" [a]

4001230 V, 150-250 ft == drzat & Fam s=s27 @7 v 7 = Feaeer

The clearance between the conductor and pole for 400/230 V, 150-250 ft span lines,
should be [b]

(@) & (b) 9" (c) 12" (d) 13"

11 KV =127 ¥ Fme ggee7 o 77 5 fr9 ey

The clearance between the conductor and pole for 11 kV lines, should be [e]
(i) 6" (b) 9" (c) 127 (d) 1'3"
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9. A1t POLICY

1 ufz a7 e 1 —-F e T 9 2, A7 ove B w2 e w oo &,
Provision of rebate by state electricity authority |s applicable if the power factor |s kept above

[c]
(a) 0.9 (b)0.92 (c) 0.95 (d) 0.98
2. ufZ g7 FwET — 7 w®w 21, 71 v Faga mifime g anfe gtaafead e 2
Penalty is imposed by state electricity authority if the power factor is below [a]
(a) 0.9 (b) 0.92 (c) 0.95 (d) 0.98
3 T FrATAAT 7 g v wEatet a frage e v fr e
Electnic energy charges from the railway employees residing in railway colonies are at
[d]

fat) w1z z7Flat rate

(by =77 Fixed rate

ic) 4119 777 Average consumption

(d) =qrry wrs wiirerem 41 57 The rate that of local supply authority

4 T FAAAT W AT A AR AR § A R sat e fr g
Electric energy charges trom the staft/ teachers of KendriyaVidhyalaya residing in railway
colonies is at [d]
{i) w1z z7Flat rate
i) 77 Fixed rate
(c) 4 =7 Average consumption
(d)y = A =7 The rate applicable to raliway employees

5 AT FFAT0 FATAT TAT T FEAH, IR 2, ¥ At T e At ver frm—2
Electric energy charges from the social welfare organizations such as railway Institute,
community halls, clubs, efc. is at [d]
(a)%= =7 Flat rate
(b)fr =7Fixed rate

(¢4 =17 Average consumption
(dym #7 gfusas dmn &7 o9 77 7 =TT F oA %7 The rate applicable to railway
employee subject to maximum limit of consumption.
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9

10)

11

sifi et mar e, wfise ol (G g B s Fege seend 5 B & e st o fr ae -

-

Electric energy charges from the religious buildings (electnc supply fed by railway) such
as temples. Mosque etcis at [d]

(a) wm==zTFlat rate

(b) 7727 Fixed rate

(c) = =T Average consumption

(Jy =T T e 47 27 The rate that of local supply authority

o v a2 & Avaragta sva F fw gt v A st (19 aoft ol e ® fwoewee) a
- %, T e ware 7 A,
Per day charges from officers on duty (entitled to 1 class AC travel) for occupation of air

conditioned accommodation on railway rest house is Rs. [c]
(@) 3 (b)5 (c)6 (d) 7

vy Faeamy a2 f Avarastaa srar & v gdt or ey afasafon (i aoft st oo & P sy o
frythe = 77 3 — = o7 &7 397 797 Ty A,
Per day charges trom officers on leave (entitled to 1* class AC travel) for occupation ot air

conditioned accommadation on railway rest house is prescribed room rent plus Rs
[c]
fay 3 (b) 5 (c)6 ()7

s 7 2o T Frare 2 # st e ® B ods s sl (i o mef e ®
o g 71 97 5 —- =, 3977 P s,
Per day charges from officers on duty (entitled to 1% class AC travel) for occupation of air

conditioned accommadation on railway rest house during winter seasonisRs. [d]
fy 3 (b) 5 (c) 6 (d) No charges

Fied arrezz = g wofia] F ara $7 F99 97 90 A1 —— F T oigfF wwr v A9 F99

The firms dealing with coin operated person weighing machines has to deposit security
money equivalent to [a]

(2} One month electric charges (b)Two month electric charges

(c) Three month eleciric charges (d) No charges.

T A7 TATHF Fwe § P araes el oreae mfEat 1 -— F awws ofgf{ awr s 3 g
The private parties applying for electric connection from railways has lo deposit secunty

money equivalent to [e]
(@)  mF =g #71 FEE 7917 One month electric charges
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(b) 31 w#= #7 =77 797 Two month electric charges
(c) == =" w7 Faa ware Three month electric charges
(d) 772 a1 777 No charges.
12 o arE Ay Frmfeit = g, Fafafe 5 6 i ok 5 avr w592 Foar o,
As per Railway Board recommendations, following are to be connected with DG set
supply [d]
() Ty Zfezr =1 Vacuum lesting plants
(b)y  wrwnm w7 a7z 397 Water coolers on platforms
(c) arreur Fames 5 ar aF AT Hospital with operation theatre
(d) == 1 All of the above.

13 =y a8 & Tt 5 s, =emrete= 51 Bdee B s, w21 Bam st — 5 e ey
7l
As per Raillway Board recommendations, the stations/ halts should be electrified, where

the electric supply is available within [a]
() 1 km (b) 1.5 km (c) 2 km (d)2.5 km

14 127 T2 H23T F e F T AT FAT 2.
I he poriers rest cenfres are trealed as [a]

(i) 77 w3 Service building (b) 7rz3= W=7 Private building
() =rfr syr-sifaem Passenger amenity (d) =70 # 51 712 771 None of the above

15 w7 e ahfs § ame, safia Fem sem s Ao e
As per Indian Electricity Act, penaity against unauthorised electricity connection is[a]
(i) 377 7% FreATA 47 1000/~ 7 7ui41 Imprisonment up to 3 yrs and fine up to Rs. 1000/-
(b) 257 5% Fremm @7 1000~ = sui=rimprisonment up to 2 yrs and fine up to Rs. 1000/
(¢) 3= 7% wremae #1500/~ = Faimprisonment up to 3 yrs and fine up to Rs. 1500/-
(dy 29 a5 sreram 47 15004~ = gHiarimprisonment up to 2 yrs and fine up to Rs. 1500/

16 afirmrfrar F iz & (FrrT s ) & fem foraet 1 7ree e mamaT £
Number ot geysers that can be provided in officer's flat (on special request) [a]

i) 1 (by2 (c)3 (d)4
17 qETTET § 99 § e fraet 51 3y e srasar &

Number of geysers that can be provided in the GM's bungalow is [b]
(1) 1 (b)2 (c)3 (d)4
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18 srfT ST B/ TET w2t @ v 7 rauTi 1 - F772 F 20 ¥ =0 7 ifteas G e
The railway stations at zonal headquarters and state capitals are classified as of category
fi1) A (b) B (c)C (d)D [a]

19 w= T o7 B ey F 1A et 7 - 51 F 2 § ity fe 3 £ The railway
stations at divisional headquarters and district headquarters are classified as of category
[b]
() A (b) B (c)C (d)D

20 TEa v F Fwfi F s, v s A wif et o e § F e i —
As per Railway Board recommendations, the light fittings tor plattorm on category A and B

stations are [c]
{a1) 1 x 36 W FL tube (b) 2 x 36 W HPSV
(c) 1 x 70 WHPSV (d)2x 36 W HPSV

2 e Ard Ay Bt F sepme, @ et o oeard F o ez e —-
As per Railway Board recommendations, the light fittings for plattorm on category C

stations are [a]
(1) 1x36W FL tube (b) 2 x 36 W HPSV
(c) 1% 70 W HPSV (d) 2 x 36 W HPSV
a7 A Are 7 it ® wene, 0 @ @t wifE Seer o asEwr s, ST v, T A
MAE AL 08 i LA P i s pa—
As per Raillway Board recommendations, the light fitings for ASM office, SM office,
enquiry and PRS on category A and B stations are [a]
(i) 2 x 36 W mirror optic FL tube (b) 4 x 36 W mirror optic FL tube
(c) 2 x 36 W box type FL tube (d) 4 x 36 W box type FL tube

1d
o

e are A Frwfren F s, 2 i e w5 mfEe | A fEfEr —
As per Railway Boards recommendations, the light fitlings in slation approach and car

parks are [a]
(@) 1x70W HPSV (b)2 x 70 W HPSVY
(c) 1 x40 W Box type (d) 2 x 40 W box type

24 T a2 F Grwfen ¥ oagere, 9-6 €1 S1ETE 99 HEEE 07, FA9 f1 =57 — 7 7LAS per
Railway Board recommendations, on platform having width of 8-6 m, fannage should be
provided in [a]

(a) 1 row (b) 2 rows (c) 3rows (d) 4 rows
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T 412 A1 Frmfeort F wpme, 9 o @ e Sferd am vt 0, e e - A
As per Railway Board recommendations, on platform having width more than 9 m,
fannage should be providedin [b]

(a) 1 row (b) 2 rows (c) 3rows (d) 4 rows

Targ ATE A Frwrfeeit F e, SRt v 3vAss AT 7 71T —— T
As per H&Ilway Board recommendations. the sweep of tans provided on plattorms should

be [d]
fa)  BOOMmM (b) 1200 mm (c) 1500 mm (d) 1800 mm

Ty e i Frmfeedt F aene, st s § Ty A e AT - A
As per Railway Board recommendations, the sweep of tans providedin offices,

waiting hall etc. should be [b]
() 800 mm (b) 1200 mm (c) 1500 mm (d) 1800 mm

T Aré 1 Fmrfrant ¥ s, Fame 72 7 e v T R o i - AL
As per Railway Board recommendations, the sweep of fans pravided in retiring rooms on

each bed should be [b]
(@) 800 mm (b) 1200 mm (c) 1500 mm (d) 1800 mm

=T 8 WE A atEsa viaws o a f1 ofteef viwas e £ 3few o g i oA e

AT BT B

Al stations where neither electrical supervisor nor engineering supervisor is

headquartered, the upkeep of pumps in water supply system is under [b]

() S &T wiaus supervisor (b) =+ wr+=+ Station Master (c) ddg  Gangman
(d) =57 Pointsman

s ERE s A —s i v T T R

State Electricity Board charges Electricity Duty against selling electricity to railways

amounting Rs. [d]

(i) 10.000/- (b) 50,000/- (c) 75,000/- (d) =% ware a5
No charges

T At q Grwrfeer 8 & & A = HPSV dm w#ftw 3+ frmas sren 31 ownfas 599 2L 91
Railway Board has recommended that locations where HPSV lamps affect the colour light
signalling should be replacad by [e]
(#7791 Mercury Vapour Lamps

(b)FL == ffEss FL tube fittings
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33

(CVA&B=a# Anyof A&B
(d)m=ft w771 frmrfror =51 1 it 2 No such recommendation has been made.

The maintenance ot waler coolers donated by privale partiesis tobedone by  [b]

(@)  F= FaAATE 7 The donaling party
(hy 777 Rallways

(¢) =% 7 On contract

(dy =T & 7 71 1 Any of the above.

The electrical energy consumption on water coolers donated by private parties are to be

borne by [b]
fi1) =z #74ard1 7T The donating party

(b) =74 Rallways

(ch SEB

(d) =T 7 F%e F77 20 Through collection from public

T e e 77T (13 o7 AT T S0 7 ORI F AT 7 S w9 % A v 9rd T Grarfre
LA

The Railway Board has recommended to provide water coolers at stations with
passengers (inward & outward) per day [b]

(@) 500 (b) 1000 () 1500 (d) 2000
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(@)

1w

(a)

{h)

(i)

(a)

10. 2= gfee: awet =i wigar
ELECTRICAL UNITS: EQUIVALENTS & FORMULAE

% One HP =

746 walts (b) 746 watts

fl. Ibs. =% Torquein ft. Ibs. =
HP x 33000 / (RPM x 2m)

HP x RPM /(2 x 33000) (d)

F+= Current =
175 ar=/Watts/Volts
(c) f#=T a1z Fr=/Kilowatt/Volts

HP # #4127 ar3==
Motor output in HP=
KW input x efficiency/0.746

[a]

(c) 860 watts (d) 856 wats

[a]

(b) HP x 2/ (RPM x 33000)
RPM x 2 / (HP x 33000)

[a]
(b) ar== ar=#/Volts/Watts
(d) FFAmErFE amE/Kilovolt/watt

[a]
(b) KW input x 0.746/efficiency

(c) Efficiency x 0.746/KW input (d) 0.746/(KW input x efficiency)

L [}

0.

i)

kKVA =
kVA egual to
1000 x Amps/ volts
(c) Volts x 1000/Amps
T4 427 Power factor =

7 nra7 ez qra/True Power/Apparent power (b)m== 13+ 7 mra+/Apparent power/True power

[d]

(b) volts x Amps x 1000

(d) Amps x volts/1000
[a]

(c) s a7z Tra7/Average power/True power (d) 7772 w919 A TrEv/Apparent

7.

True power in three-phase circuit in Kilowatt is

(i)

power
Fwimare 3 o1 o #f = 7 7 T

1.414 x volts x amperes x pf/1000

power/Average

[b]
(b) 1.73 x volts x amperes x pf/1000

(c) Volts x Amperes x pf(1000 (d) Volts x Amperes x 1000/pf
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g i w5 |12 g aet mferrs s e imr e —
Amperes drawn by single-phase maotor are equal to [c]
(a)  Efficiency x Volts x pf / (HP x 746) (b) Efficiency x pfl(volt x HP x 746)
(c) HP x 746 / (Efficiency x volts x pf) (d) HP x746 x volts/(Efficiency x pf)
Amperes drawn by three phase motor are equal to [c]
(a)  Efficiency x Volts x pf / (HP x 746) (b) Efficiency x pfl/(volt x HP x 746)
(c) HP x 746/(Efficlency x volts x pf x 1.73) (d) HP x 746 x volts/(Efficiency x pf)
10, % frarz One Kilowatt = [a]
@) 1.314HP (b) 13.41 HP (c) 134.1 HP (d) 1341 HP
1. 7% f=mEE One Kilowatt = [d]
(a) 1360 Metric HP (b) 136 Metric HP
(c) 13.60 Metric HP (d) 1.360 Metric HP
12. ™ One Kwh = [c]
(a) 34.13BTU (b) 44.13BTU
(c) 3.413 BTU (d)4.413BTU
13. ™ 0ne Kwh= [D]
(a) 1000 3= calories (b) 860 fF=1%7/17 Kllocalories
(c) 740 =717 Kilocalories  (d) 970 f=r3=17 Kilocalories
4. "4 0neBTU= [d]
(@)  0.2520 5774 calories (b) 2.520 F+1% calories (c) 25.20 717 calories
(d) 252.0 #1717 calories
15. % F=r%771 One KiloCalorie = [d]
(a) 39.68BTU (b)4.968BTU (c) 49.68 BTU (d) 3.968 BTU
16, = %2 s One fool pound = [a]
(@) 0.1383 M Kg (b) 1.383M Kg (c) 13.83 M Kg (d) 138.3 M Kg
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17. ™ QneBTU= [d]
@ 01076 MKg (b) 1.076MKg  (c)10.76 MKg (d) 107.6 M Kg

18. % fF=mam One Kilowatt = [b]
(a) 202 M Kg/sec (b) 102 M Kg /sec (c) 20.2 M Kg/sec (d)10.2 M Kg/sec

19. v f47 1f42 One Electrical Unit = [a]
{a) 1 Kwh (b) 1 Kw (c) 1 kVA (d) Walt

20. AT T4 Power factor = [a]
@ RZ (b) Z/R (c) /I (d) IV

21, s F (e de | A9 aan e iy 120PVC e | PVC e Y
< Lie 3 Tz F17 FreanE aegtatam
3 e T A7 F T A
The current rating of PVC insulated and PVC sheathed four core, armoured aluminium cable
size 120 sq mm (laid direct in ground) is approximately [b]

(@) 80amps (b) 185 amps (c) 290 amps (d) 320 amps

22, AEEE F (TR d Ay aan) Arad B 70PVC seres i PVE . X .
3 Y - — ST F17 FITAEE SR 19 7,

w i

The current rating of PVC insulated and PVC sheathed four core, armoured aluminium cable

size 70 sg mm (laid in duct) is approximately [a] q
(a) 115 amps (b) 210 amps (c) 290 amps (d) 350 amps

AT F (FAT F A ) A ® 50PVC TmeE | PVC

The current rating of PVC insulated and PVC sheathed four core, armoured aluminium cable
size 50 sq mm (laid in air) is approximately (b] ¢f
fa)  B5amps (b) 105 amps(c) 200 amps (d) 250 amps

24 wrErE F (AT e J A ) A i 35PVC teraE @ PVC

B e T 7 F2 TR A ofrirs T ST seafafw
The current rating of PVC insulated and PVC sheathed four core, armoured aluminium cable
size 35 sq mm (laid direct in ground) is approximately [a] af
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(@) 92 amps (b) 160 amps (c) 200 amps (d) 250 amps

23 AT F (g T 7 Awar ) Arad [ 25PVC smAeE @ PVC oftrs s svaras seaiafeaa]
£ T T TL IO AT
The current rating of PVC insulated and PVC sheathed four core, 5rmoured aluminium cable of size

25 sq mm (laid directin ground) is approximately [b]
55 amps (b) 76 amps (c) 90 amps (d) 150 amp
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11. Z==%99 #4127 INDUCTION MOTOR

. T A7 a7 Gt o a Fer srime 5 Wi e a 66 Far s 2
Which of the following component is usually fabricated out of silicon steel [c]
a. T Bearings b. “mF= Shaft ¢. 7=+ 17 Stator cored. =74 7 7 #1Z 771 None of the above

1

F=H9 0T §1 w Ay A1 0 B A gmrd e 2
The frame of an induction motor is usually made of [b]
a. fafsis == Silicon steel b, #15= w7777 cast iron ¢. #=qf&fH%# aluminium d.af# bronze

3. TTwE ATET T AT e ae e A

The shaft of an induction maotor is made of [c]
. #1% =% =79 high speed steel  b. =7+ #17 stainless steel
c. #7147 =177 carbon steeld. F1#2 4177+ cast iron
4, Fogeer A Towe W § e T A A 717 09 T w1t A aewm Ay g far e f

In squirrel cage induction motors, the rotor slots are usually given slight skew in orderto[d ]
Q. = ariaT %1 9 7741 reduce windage losses  b. reduce eddy currents
C. S AT 7 T 5T 21 9 77 reduce accumulation of dirt and dust

d. #ai=% #v %% %7+ reduce magnetic hum

5. TEHA HIZF B U7 T A57 F ATHA H =
In case the air gap in an induction motor is increased [B]
. AT F7 avErta #792 F9 #07 the magnetizing current of the rotor will decrease

b.  wmav %7 5w 20 the power factor will decrease
c. W=7 F1 af 77 7T speed of motor will increase
d. = z1faar a1 the windage losses will increase
o, NsFrars afF 3 s vy By 2.y Seaumy avae $r aratas o afh G anft
In Ns is the synchronous speed and s the slip, then actual running speed of aninduction
motor will be [c]
i, Ns b.  sNs ¢  (1-s)Ns d.  (Ns-1)s

7 A= /17 77 fFa oy B e 2
Slip rings are usually made of [c]
a. #iv7 copper b, F94 Carbon c. #=%7 af# phosphor bronze  d. s=1fafaw aluminium
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i.

il.

b.

8. TEFUA W27 AT AT A TF T AR
The efficiency of an induction motor can be expecled to be nearly [b]

i. 6010 90% b. 80to90% c. 95t0 98% d. 99%
0, AT 7T 0 R e s A T ey framm e a2

The number of slip rings on a squirrel-cage induction motor is usually [d]
a)y 3 b) 1 c) 6 d)0

10, 97 &1z 97 Fgea-5e Te9vm Az w2 BT A
Running torque of the squirrel-cage induction motor on full load is [a]

A AT low b. 7w negligible €. 77 AT =% ¥ 7w same as full-load torque
d. w7 Arz =1% 7 4arz1 wfrE slightly more than full- load torque

11.  Z=T =000 99 751 2-F 779 7 71271 571 =7
Star-delta slarting of motors is not possible in case of [a]

. fra 77 W77 single phasemotors b, affmaw @ty ®wF variable  speed
c. A1 & AT 7T low horse power motors d. T3 f# 52+ high speed motors

12. 1000 r.p.m. 7 F #19 T297 A4127 7 F 2 —

motofs

An induction motor with 1000 r.p.m. speed will have [b]

a. 8 poles b.6poles c.4poles d.2poles
Yhe crawiAg M 1hd HHUCHBH O s caused by [c]
A =1 917 72 low voltage supply b. zm7 7129 high loads
c. #rz7 # fa=fH7 #mifa79 harmonics developed in the motor  d.  #sfis a1 wfas f=arsd
design of machine
14, szt Az § e =3 8 quey @2 s o avann F2a A g i
It is advisable to avoid line starting of induction motor and use starter because [a]

HTZ7 334 AT 22 7 77 7 474 7471 4471 2 motor take five to seven time its full load current

impropgr

b. a2 g «fF # =7 941 2 4% =2z 4% =27 a1 w441 2 it will pick up very high speed

may go out of step c¢. A7 e % 77 =51 it will run in reverse direction  d. ET
starting torque is very high w=rfaer =14 aga ard

Rotor rheostat control method of speed control is used for [b]
T4 771 77 299 "rz7-squirrel-cage induction motorsonly
Fa= e 1 2339 A=+ slip ring induction motors only
¢. (a) #17 (b) =1 both (a) and (b) d. = # % 912 471 none of the above
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i
b.
C.
d.

d.

16.  Z=wva oz F A gfz B @ et 1 Tz B s ar,
If any two phases for an induction motor are interchanged [ a]
w.  wrze fAvdrE Fer 3 =991 the motor will run In reverse direction
b.  #@rze a4 afF F2vm 7 5951 the motor will run at reduced speed direction
c. §rz7 #1# =11 the motor will not run d. sz w7t the motor will burn

17. ===« | Aninduction motor is [c]
a. 371 2% F Ay sew =fEa self-starting with zero torque b 18 =15 % arg #9w w=21ff self startin
with high torque c. #T = ¥ @ma &=% =127 self starting with low torqued. 77 7% =115 non g¢
starting

18. ot %a g sz3e 91291 #-In three-phase squirrel-cage induction motors [b]
e For & sifer 7127 F=a27 = o wif92% 219 2 rotor conductor ends are short- circuited through
rings
b. = fr % i 712 F=aes o 7192 #19 2 rotor conductors are short-circuited through end rings
C. =¥ FTFAT T AAT 771 747 2 rotor conductors are kept 0pen § i g sy F AT T A
rotor conductors are connected to insulation

19. ot Fa TEHOR AT HETAT 2 —— T127 AT § 0 A7 A 290
In a three-phase induction motor, the number of poles in the rotor winding is always [d]
F371 7227 zero slator

¥ | T A1 AT A #6F more than the number of poles in stator
¥2z7 § uT 41 777 7 79 less than number of poles in stator
w=z7 3 it 1 7= 7 a9 equal to number of poles in stator
20, TEwE ATz # =1Ea DOL Amarg 717 77 7% ufqg —cofim Zar e,
DOL starting of induction motors is usually restricted to [a]
A1 #f# 7147 #4127 low horsepower motorsb. 4fma7 a7 #rz7variable speed motors
c. 1% gf#mmaT w127 high horsepower motors d. =g @7 W=7 high speed motors

21, ALF FatEE v — Are BT § T3ee 9T 57 rEe e

The power factor of aninduction motor under no-load conditions will be closer to [a]
a.0.24frrlagging b. 0.2+ =wleadingc. 0.5#fzwleading  d. #f+fz unity
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22, v EfE arae % oAt =i are F g | g i e e o w1 e
Size of a high speed motor as compared tolow speed motor for the same H.P.willbe [b]

a7=Tbigger b. Zrzrsmaller c. FFTsame d. TvE H 7 F1¢ 7 any of the above
23, T ey wree A memteer £ A 2 9w/

Slip ring motor is recommended where [d]
a. 1t e 7 arsaaAT 2 speed control is required b e et d Prft
AsrEAT 7 frequent starting, stopping and reversing is requiredc.

g

high starting torque is needed. D. zwi= a1+t 1 arasa7a7 2 all above features are required

4. TmureE i s fmagr znmaer R s s fiemen 2
Which typeof bearing is provided in small induction motors to support therotorshaft

[a]
a. 719 T+ ball bearings  b. = wru7w Taf¥ cast iron bearings
¢. v 3975 bush bearings d. T & % 91% 7% none of the above

25, At afar T wr Al anme 1 0 1 A g
Lubricant used for ball bearing is usually [D]
a. Irz7 graphiteb. 4771 grease  ¢.f#F T 77 mineral ol d. s molasses
26, fz g T dwew A 9 AT afdE geHr f — AT ey,

If the rotor circuit of a squirrel cage induction motor is open, the rotor will [d]

a. 777 717 =112 F 90977 run at very high speedb. 327 ¥% =frz & =997 run at very low speed
¢, HAETH 9 make noise d. 771 =917 not run

27, BFe T e A 1 A 8 R R T A 9w A 2
The advantage of a slip-ring induction motor over a squirrel cage induction motor is that
[c]
a. THH 37 “\AT #7141 7 it has higher efficiency b. =59 257 m=+ %427 #1471 2 it has higher I
factor ¢. 717v == =7 F @ =H =rF FAr A1 @97 7 .0t can be started with halpl
rotorresistance starter d. 374 # & 1% 771 none of the above

28w 3T fE Far S we w1 20 2 FET AT 2 e =27 —-
A 3-phase slip-ring induction motor is always started with [d]
a. =112 gz a starting winding b. 77 ¥ a1zf37 squirrel cage winding
¢. 717 iz | 1% v ohaeeet 991 7 no external resistance in rotor circuit
d. 1= e H T UEEECE] RE T full external resistance |
rotor creuit i
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29, 3% Tz Az A B ot e (v
The synchronous speed of a 3- phase induction motor is given by the formula [a]
a. Ns =120f/P b. Ns =120P/f c. Ns=120fPd. d. Ns=fP/120
30, TEFA AT 7 74 FaA W qfE R w5 ae-e a6,
If single-phasing occurs on the running positionin an induction motor, the motor will [a]
a. A1z 7 914 ¥ =74 fall to camy load  b. w3 @7 %951 produce peculiar noise
¢. #=AfaA @7 #foF 372 4= draw unbalanced and excessive currents d, 771 5731 not start
3L, T TEEAS HIEF T A AT A A dd # AT S H a9 B atw anfrafes 7 25
A pump induction motor is switched on to a supply 25 percent lower than its rated voltaga.

The pump runs; eventually [a]
a. 97 TR g ST FeEey |9 2T 8
the pump will get heated and consequentlyget damaged
b. F# 797 Atz 77 A 219 the pup will stall after sometimes
¢. [=AT A FW #9297 97 AT 97 72anthe pump will continue to run at lower speed witholit
damage d. 7= 77 None

32, FoFvA FF TER6A ATET ¥ A1 W af A A # AT,
If there is an open circuit in the rotor of a squirrel cage induction motor [d]
a. 71zv @ravErz Z1 rotor will overheat b, #rE A =41 #rm - line fuses will blow
¢. #7127 A149ra 491 motor will be noisy d. 5127 =217 771 7771 motor will not start

33, FAHTE —— T TR AT F wirarEa 97 AT owa 3
The principle of operation of a 3phase induction motor is most similar to that of [a]

a, AT AHER! & ATY FEHHT transformer with a shorted secondary
b. a5 |27 synchronous motor ¢. #f#H27 #=12 T=#4 74 H1Z7 capacitor start induction rup

motor d. frpmers #2712 5127 22999 |12 repulsion start motor induction motor
34. rﬂﬁﬁ?ﬁﬂqﬁﬁwmmm¥ﬁvwﬁ*ﬂwww¢ﬁnwﬁﬁmﬁﬁiﬁl
The A.C. motor which would be best suited lo drive a centrifugal pump for discharging a variab
guantity of water against a fixed head is the [d]
a. st w2 repulsion motor b. Fr#a #9127 synchronous motor

¢. e v squirrel cage  d.fesw For =9 wzxslip ring induct'on motor
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35, HIZE F SATEW F ATZ TAATAA F A9 -3%F T3 A1Z7 F M 9aw aArs § 94 41 e A9 §-
WIZT AT AT AT 0 797 9797 2
Two of the power supply terminals lo a 3-phase induction motor get inter-changedduring
reconnection after maintenance of the motor. When put back into service, the motorwill  [d]

a. w7y 711 £ A7 affaes a1 2 get heated up and damaged
b. adwamr 1 73 FafF & 7+ Bar 7 guwdt 2 rotate in the same direction as it was priqr
to maintenance c. 5#+ ¥ @@\ 2147 2 fail to rotate
d.srgeamr @ 1 Fafe # frfE fRar # @A 7 orotate in the reverse direction to that prior )
ma’ntenance

L=

36, T= w127 f1 i e AT £
The frame of an induction motor is made of [b]
a. ¥4 carbon b. #15= o7 %= @79 closed grained cast ron
¢.  segtEEad aluminium d. =377 17 stainless steel

37. ety & G azfs o Sewm g g aftm eEn s aa frgan adr 2,
Under which method of starting an induction motor is expected to takelargest starting current
[c]

"

a, =17 zw21 #=1tan star-delta starting b. @iz1 =rsni =1=1-auto-transformer starting
¢, #1 wi Az =2ifE direct on line starting  d. #2727 7127 =if#w  stator rotor starting

38.  -3%A TTHA HIZT F ¢ A1 Fer F1 g A far e g —
The direction of rotation of a 3-phase induction motor can be reversed by [a]
a, [T 21 T W1 A A ¥ 0 Interchanging any two phases b. AT ATHZT AHATT F09 F
supplying low voltage
¢. A= 41 %% 779 27 reducing load  d. = #1 #8399 20 reducing frequency

39, [ o fewem Az ¥ sty 20 6 g atE oo awdt F —
The starting torque of the slip ring inductiuﬁ motor can be increased by [b]
a. 7227 F1 7T WrEA 27 adding resistance to the stator b, 77 #1751 15727 adding
resistance to the rotor c.=== 4= 7127 =71 *fw=== 4124 27 adding resistance to stator as well as the

rotor  d. ITE # 7 97 771 none of the above
40,  TERE 1T # e A # A = 2T e T EET AT ——
The value of average flux density in air gap in an induction motor, should be small [c]
a. =41 2aA1 9 ¥94 ¥ fAv to achieve good efficiency b. &+ ma7 %427 7 ¥ A7 to get pod
power factor c. #=21 747 %27 7 ¥ 7 to get good power factor  d. Fw ATmA F AU g

minimum cost

]

-
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41.  TETREAEETH 720r.p.mozEd et dafy fes B am fa E e afa g
An induction motor has a rated speed of 720 r.p.m. How many poles has itsrotating magnetic
field? [a]

a.8drpoles  b.6 9 poles c. 4 71 poles d.2 1 poles

42, =l A afz T3 A 29 AT BAT S aartae e e A A 7
During starting if an induction motor hums, the probable cause could be [d]
a. @A #Af$z open circuit b, ssETE A Ffae== unequal phase resistance
¢. 7127 0 727 24 7 afia-inter-turn short circuit on rotor d. 3w # & #r§ Wt any of the above

43, TEFUA AT AT AT 209 F1 AT T AT A AT 2
The probable reason for aninduction motor running too hot could be [d]
a. 71 a2 low voltage b, #7319 a7 7 uneven air gap
¢. #f= 3ffa =99 clogged ventilating ducts  d. =T i & 777 it any of the above

M. T waEEE A A B e fm o ame u
In case single phasing occurs in delta connected motor [a]
a. TF FF A1 AfeAEAT A2 Fem anen S S 23 1 =l qaeAre Har aren one phase will be
serously over-loaded and two others will be slightly overioaded
b. two phases will be seriously over-loaded and there will be no current in the third phase
C. T A H 412 92 721 2191 . there will be no current in one phases
d. Z1Ea g a7z a7t there will be no current in two phases

43. s =iz # s afam 2 Synchronous speed is defined as [b]
a. ffram w7 41 #f1= the speed of a synchronous motor

b. Fm=fas =iz e 7 fuf=s == 7122 7177 7 the actual speed at which a magnetic field rotates|
¢, T F 7127 417112 the speed of the rotor of an induction

d. 471 |27 ArE 07 T wreT 41 0fr the speed of an induction motor at no motor load

46,  ft wF FTH 9T A F — T2 Tz A i ofre

The speed of three phase cage-rotor induction motor depends on [d]

a. Fa= 917 &1 77y 07 number of poles only b, T a7 input voltage

¢ Fa7 qvATs 41 g frequency of supply only  d. = $1 sy v syers £ fFg=i number

of
poles an frequency of supply e. 7= 7 &1 1% 741 none of the above
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47.  -3%F TEAA HIZT A WEATH AT FATE
The two important parts of a 3-phase induction motor are [b]
a. 7177 #@17 @ri=7 rotor and armature b. 7127 417 #7727 rotor and stator

¢. #0171 #7291 slip ring and brushes d. ===+ {17 =2 stator and field

48, ¥ A Smmee AT T AT e wEATEE L A 2T Gy A # —-
Phase advancers are used with induction motors to [ d]
a. 94T F9 747 # reduce noise b. FTTay=T T7 7797 7 reduce vibrations

C.ar st #1 w9 @ & reduce copper losses  d, a7 7 § ipare 4741 2 improve power

factor
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12. Fa<7 CABLES

L. T A el A At —

The insulating material for a cable should have [d]
a. 7 A7 low cost b. 7% =Taf#z% === high dielectric strength

C. #1% 41134 #27=4 high mechanical strength d. =74+ =41 all of the above

2. fafasa =f1 g 1w w9 fm s frar w2
Which of the following protects a cable against mechanical injury [c]
B af=w bedding b, 4 sheath ¢. swif¥7 armouring d. =73 & 7 F1Z 771 none of the above

: 4 FA1 | Fraf=ias 8 F 98y s9 19T 9 2 2

Which of the following insulation is used in cables? [d]
d. arie= ¥ Varnished cambric b, 737 rubber ¢. T paper d. 3w # 7 %1% 1 any of the
above

§. T Y T 2

Empire tape is [a]
. 41f+v=z 3f=r% vamished cambric b. #=F+rz7% 737 vulcanized rubber
C. s Timpregnated paper d. 7w+ 41 none of the above
= FAAT H F2ET T THFAUA 17 AT HT G T7 S 2 e
The thickness of the layer on insulation on the conductor, in cables, depends upon [c]
- af¥7 bedding b. «fra sheath c. s+ amouring d. =74 7T+ none of he above
0. FA9 T AETH FATE ——
The bedding on a cable consists of [c]

u.  ZfFEE a=T Hessian cloth b. 77 jute €. 77+ # & %12 +f7 any of the above
d. =T & 7 97 74 none of the above

The insulating material for cables should [d]
. i"f#= 4% be acid proof b. #3441 be non-inflammable
c. At FuRIfTE-be non-hygroscopic d. =+ w41 f2ém=rT have all above properties
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8. g1 ofra F a=9r7 307 ¥aa 6 F7 sraey a8 —

In a cable immediately above metallic sheath........... is provided [b]
a. afdw Fa70= Earthing connection b. =27 bedding €. AMTHT armouring

d. 7w % & %1¢ 971 none of the above

O, ot w1 T = AR S A EET R —
In case of three core flexible cable the colour of the neutral is [a]
a, Arrblue  b. =11 black c. arsabrown d. =7 § 7 %7 721 none of the above

10, AT Z90 F371 F1 TTA ATATA 717 77 8% fFar Arar 2
Low tension cables are generally used upto [d]
. 200V b. 500V & 700V d. 1000V

11. PVCFryi=7T

PVC stands for [a]
a. polyvinyl chloride b. post varnish conductor
c. pressed and varnished cloth d. positive voltage conductor

e. all above parameters

12,5471 51 FAA1 %91 2 AT A7 07 |1 FTTET F #4 Z2 AT 2

In the cables, the location of fault is usually found out by comparing [d]

a. ar‘-"m‘# TFﬂrf'#r H‘le resistance of the conductor b, #=%71 ¥ 7292 the inductance of conducto
C. T2 =471 % wataz= the capacitances of insulated conductorsd. =73+ =471 wr7== all a

parameters
13. FA9 T AT F o ATy A 0 ST At 2

The material for armouring on cable is usually [C]
a. 4 z7 steel tape  b. =77 =7 amTgalvanized steel wire
¢. =74+ # 7 % any of the aboved. 74 # & %1 741 none of the above

14. AT 7 ofrq F71 2t Feerfar Far w2

In the cables, sheaths are used to [a]
a. FA4 1 A41 #71 w4 7194 7 47 prevent the moisture from entering the cable
b. ATy #=2=4 $1 #r9#41 74 F 97 provide enough strength

c. 3 e it =raear 379 7 7 provide proper insulation
d. 374+ 7 7 F1 971 none of the above

Page 90 of 11§




15. TZTATTE FAAT 1 TATH 2978 A |rfEe =i

Underground cables are laid at sufficient depth [c]
2. ATTHTA #2437 F1 F4 F79 % 7 o minimize temperalure stresses

b. fadr %1 22 F Frw AT A Wl & 7E=a 7 399 7 Fv to avoid being unearthed easily dug
toremoval of soil
C. TITHT ATZAT F F199 479 17 ATzau=1 51 7479 397 594 3 7 4173 to minimize the effect of shocks and
vibrations due to passing vehicles, etc

d. T =it Froui = o for all of the above reasons

16 AFTET TRITHIA ATZAT AT AAGT § T4 1 F97 474 2
The advantage of cable over overhead transmissionlines is [c]
i. A7 974 easy maintenance b. T3 =TT low cost

c. =Tz F 441 # 2y A 9 @947 2 can be used 'n congested areas
d. 275 a7 @f421 ® v e 71 w97 2.can be used in high voltage circuits

7.  T=pATET AT 7, ZHT AT e

The insulating material should have [d]
a. =1 gfafzfafz low permittivity b, g1 THafE=ffhigh resistivity

c. 7T =TTt 7274 high dielectric strength d. == =41 all of the above

18.  z=EAfE At FF0 § Ty F 9y FE A
The disadvantage with paper as insulating material is [a]
i, 7 sar=4if1s 2 itis hygroscopic b. =% #712 ¥7f4== 2 it has high capacitance

C. a7 ¥ AT ATl 7 itis an organic material d. =TT T4 #1277 none of the above
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13. AR wiie SOLAR PLANT

1. What is CUF in solar plants? (d)

a. Catholics United for the Faith b. commercially useful function

¢. categorical use factor d. Capacity utilization factor
2. The Pyranometer measures (a)

a. Direct radiation b. Diffusion radiation c. bothaandb d. None of the above
3. How to calculate CUF of solar plant? (a)

a. Ratio of actual output from solar plant to the maximum possible output
b. Ratio of units generated to installed capacity

¢. Ratio of sunrays to the No. of solar cells

d. None of the above

4. The solar heater function is to convert the solar energy into (c)

a. Radiation b. Electrical energy  ¢. Thermal energy d. None of the above

5. Which cell is used to convert solar energy directly into electrical energy? (b)
a. Dry cell b. Photoelectric cell c. Battery d. None of the above
6. In solar cells material is used. (c)
a. Copper b. silver c. Silicon d. None of the above
7. What is the output of solar panel? (b)
a. AC power b. DC power c. Pulsating DC d. Thermal energy
8. A solar cell converts light energy into (a)

a. Electrical energy b. Thermal energy ¢. Sound energy d. Heat energy

9. Series and parallel combination of the solar cell is known as (b)
a. Solar light b. Solar array c. Solar sight d. Solar eye.
10. Net metering records the difference between (a)

a. Unit consumed & unit supplied by the consumer

b. Units consumed by consumer and unit supplied by supplier
c. Botha&b

d. None of the above

11. What type of solar cells gives the heighest efficiency? (a)

a. Mono crystalline b. poly crystalline germanium c. Thin film  d. Poly crystalline silicon
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14 . sferta= 1 707 =7
ABBREVIATIONS OR EXPANDED FORM

1.What is the abbreviation of BARC(a)

a. Bhabha Atomic Research center b. Bombay Atomic Research Center
C. Bhagya nagar Atomic Research Center d. None

2.What is the abbreviation form of COFMOW (b)
a. Central for Modernization office works b. Central for Modernization of workshop
C. Central for Modernization of other works d. None

3.What is the abbreviation form of CONCOR (a)
a. Container corporation b. Central corporation
C. Cement corporation d. None

4. What is the abbreviation form of CORE (c)

a. Central organization for rural Engineering
b. Central Organization for roads Engineering
C. Central Organization for railway Electrification

d. None

5. What is the abbreviation form of CRIS (b)
a. Central for Rural information system b. Central For railway information system
C. Central for railway investment system d. None of the above

6. What is the abbreviation form of CAMTECH (d)

a. Central Advanced Management Technology
b. Central Advance Management of Tracks

c. Central Advanced Monitoring Technology

d. Centre For Advance Maintenance Technology

7. What is the abbreviation form of IRCON (a)
a. Indian Railway Construction company Limited b. Indian Roads Construction company Limited
C. International Railway Construction company Limited
d. None

B.What is the abbreviation form of IRFC (b)
a. International Rural Finance Carporation
b. Indian Railway Finance Corporation
C. Indian Roads Finance Corporation
d. None
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9. What s the abbreviation form of IRIEEN
a. Indian Railway Institute of Electrical Engineering

b. Indian Railway Institute of Electronics Engineering

(a)

C. Indian Railway Institute of Economics and Engineering

d. None

10. What is the abbreviation form of IRWO
a. Indian Rural Welfare Organization
C. Indian Rural work Organization

11. Whatis the abbreviation form of PNM
a. Passenger Nominating Machinery
C. Permanent Negotiating Machinery

12. What is the abbreviation form of RCT
a. Railway Claims Tribunal
C. Railway change Tribunal

13. What is the abbreviation form of RDSO
a. Railway Design and Standards Origination
C. Railway Design and Standards Organization

14. What is the abbreviation form of RITES

(d)

b. International Rural Welfare Organization
d. Indian Railway welfare organization

(€)

b. Permanent National Machinery
d. Permanent Navigating Machinery

(@)

b. Railway Charges Tribunal
d. Railway Cleaning Tribunal

(b)

b. Research Design and Standards Organization
d. None of the Above

(d)

a. Railway Institute of Technical Engineering services Itd.

b. Railway Institute of Technical Electrical services Itd.

C. Railway Indian Technical Electrical services Itd.
d. Rail India Technical and Economics services Lid

15. What Is the abbreviation form of SCADA
a. Supervisory Control and Data Acquisition,
b. Supervisory Central and Distribution Acquisition
C. Supervisory Central Advanced Data Acquisition.
d. none of the Above

16. What is the abbreviation form of FRCPY
a. Fault rate Percentage per year
C. Failure rate Percentage per year.

17. What is the abbreviation form of PATB

a. Passenger and Terminal bracket
C. Passenger aluminum terminal Board

(a)

(c)
b. Failure rate Practice per year
d Fault rate Practice per year

(b)
b. Passenger alarm Terminal Board
d. Permanent alarm terminal Board
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18. What is abbreviation form of EIG
a. Electrical Institute of Government
c. Electrical Inspection to the Government

18. Who is EIG

a. PCEN b. PCEE

20. What 1s abbreviation form of DGS&D
a. Director General of supply and disposal
c. Director General of Stores and Disposal
d. None of the above.

21. What is abbreviation form of EMD
a. Earnest Money Demand
c. Earnest Money Deposit

22. What is abbreviationof form of SD
a. Supply and Dispatch
c. Security Data

23. What Is abbreviationof PG
a. Performance Guarantee
c. Play and Ground

24. What is abbreviationof CRI
a. Colour remaining Index
c. Colour rendering Index

25. What is abbreviationof SAF
a.Supply Application Form
c. Supply Advanced Form

C. PCME

(c)
b. Electrical Inspection to the Government
d. None of the above.

(b)
d. PCPO

(a)
b. Director General of stores and Distribution

(c)
b. Earnest Monitoring and Dispatch
d. None of the above

(d)
b. Supply and Demand
d. Security Deposit
(a)
b. Programmer Guarantee
d. Program of Goods

(c)
b. Coach rendering Index
d. Colour resonance Index

(d)
b. Stores Application Form
d. Stocking Application Form
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15. ®&1941 ESTABLISHMENT

1. wagd A At T e T
What is the main object of the payment and wages Act ? (%)
a) AT F1 A 7 7 AT 711 Wages should be paidin time
b) w31 | & 31 s=fugA #4175 £ 5 No unauthorized deductions from Wages

c)a 7 b 4T Botha and b d) % 741 None.
2. waEd "y Afafas aea § s A g ?
When payment and wages Act came in to operation w.e.f. in India? (e )
a)21.1.1937 b)21.2.1937 €)21.3.1937 d)21.4.1937
3. wAzd A auy AT E
What are the permissible deduclions from wages? (d)

a)daTr Fine b) =rft & sauf#41 ¥ FAmafaat a1 #1f1 ¥ 9i4 #2141, Deduction for absence frof
duty, towards damages or loss ¢) afars ffi afiw siv #w §1 9= Deduction of provident
fund, advance& Loans d) 37+ 1471 All the above

4. HOER =71 qvf =7 %71 2

s

What is the abbreviation of HOER? (a)
a)Hours of employment regulations b) Hours of employment rules
c) Hours of Employment roster d) none
5. HOER =1 77w
Classification of HOER? (d)

A )7z Intensive  b) #f541d = 7 «fq79+ Essentially intermittent  ¢) 9777 Continues &% =gt
Excluded d) =74 All the above
6. WCA =77 =7 #471 2
What is the abbreviation of WCA? (b )

a) Worker compensation act  b) Workmen's compensation act

c) Worker company act d) %% 71 None
7. Freaman afafaaw 7 19487 A1 247
When factory act 1948 camein force? (d)

a)w.e.f. 1.1.1949 b)w.e.f1.21949 c)w.e.f. 1.3.1949 dyw.e.f. 1.4.1949
8. ‘T " s A T E
What is mean by “suspension”? (a)
a) Freas o w2 Tt v w9 F1 =08 § 9w Ay A
Suspension is an action where by railway servant is kept out of duty
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b) Fe== mF Friars # B = v I =i EE AT
Suspension is an action where by railway servant is remove from duty
c) Feas v w1fare 7 T5wd o $H9T 91 =9 § 3vEv Fy o
Suspension is an action where by railway servant is dismissed from duty
d) % 7% None
9. AT W= A A e 3R matua 2
Rule -3 of Service Conduct rule is related to (a)
a. AT 414 — S AT % 913 aai @iz
General Conditions-devotion to duty integrity etc.
b. 7= #3741 7171 7299 Demonstration by Railway Servant
¢. AaArET 7T 1 Fara Employment of near relative;
d. za% & %72 777 None of these.
10. e fgm & a0 S 71 0=
According to Rule 5 of Conduct Rules Railway Servant (b)
a. TTaHATTAF 7T #7770 71 7741 7 Can be a member of Political Party
b. TraTT= T Fi7 7=Fw 747 21 71%A7 £ Can not be a member of Pdlitical Party
c. TA% 7 F1= 771 none of these d. a&b
11. AW 6- 717 77 FHATIT
According to Rule -6 Railway Servant (b)
a. 1 {27 7 Ava i a7 37 At 7 .Can Criticize Govt. in public interest.
b. 1 2 # sz 1 Arr==n 491 %7 9941 £ .Can not Criticize Govt. in public interest.
c. a&b d. =75 7 ¥ 747 none of these
12, #ar draew oy F Fas o1 $990T 0 F A9 13 -
According to Rule -13 A, of Services Conduct Rule a Railway Servant (c)
a. 77 A1 4 7AAT can not take dowry b, #FF #m7 AF ¢ A% cannot accept dowry
c. A& B 711 Both A& B d. =% # 91 771 none of these
13, a7 W= fee & e 7 3R et [T awar 8 s T qEEnE S 99T S9EAT,0F AT 430
AT 3 AT
According to Rule -13 A, of Services Conduct Rule a Railway Servant desires to file a
defamation suit in his private capacity, he is (a)
a. qFAT FITA F4 7 TE w919 T F947 @r=ea+ 2 Required to obtain permission before filing suit
b. =81 TTA T 7 7= FA A1 A A7 7 No permission required before filing suit
¢. a&b =141 both a&b d. z9% & F1% 471 none of these
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14, =7 7t 1 6 6 afm 5 g § oF 7 sFafa § —

Condition regarding sale and purchase of immovable property mentionedin (c)
a. A7 Rule-7 b. 7 Rule-9 c. 1 Rule-18  d. =% & 7 571 none of these
158797 12§ & off fravdr &
On Sports Quota recruitment is made in (c)
a. 77 #1 Group “B"  b. 77 #1 Group “C" c¢. g7 13 % Group “C" & “D" (. =z=1# &1 51¢ 751 none of thesk

16. frge3 ft B 7% 5 —— 7 fy 37 59T 2

Paternity leave can be sanctioned up to (c)
a. 12 = days b.20 =7 days c. 15 27 days. d. =43 7 %1% 477 none of these
17. o FFHAAT 19 F " #§ Foy serwdan g Fe oft eea v/ —afi a9 2

In respect of one disability special disability leave shall in no case exceed. (b)

a. 12 w#r monthsb. 24 w#= monthsc. 28 ## months d. T9%  F1£ 77 none of these
18, oA FATAT ¥ FT oA T S ain gd ¥ o agawrw § -

Railway servant working in administrative office is entitled for casual leave (b)
a. 12 fz= days b. 08 &= days c¢. 11 days d. z9% & 12 977 none of these

19,773 FAATT 1 2qvaiatea o av s=zoa 7 789 #9192 Forusy @99 F FHo gaae 2 el 2 2025

The distances of transferred stations of Railway employee are 2025 KMs. He is entitled for joining
time? (c)

a. 12 fzdays b. 10 fz7 days c. 15 7 days d. =% & F1Z 771 none of these

20, F AT #FA T A AT 8 ——

School pass are granted according to (b)

a. 5427 a7 Calendar Year b. srsfors 277 Academic Year c. fa= 97 financial Year
d. =% 7 F1¢ 771 none of these

24 grrafas srate # w5 Pl 5 ararfes a0t o7 G 6 8
The weekly duty hours of a clerk in the administrative office is (a)
a. 42 %= Hours b. 45 5= Hours c.40 s2Hours d.48 5= Hours

25,571 % A gy 7 fam 799 § B ggar & — o o opft 5 oaw oMo aderf g
A running staff after performing 9 hours duty Is entitled to rest at Head Quarter (c)

a. 122 Hours b. 14 == Hours ¢.16 =z Hours d.10 7= Hours
26. ‘Tavas w=rft 5w 7 v e g3t s 2

The long on period in case of “continuous "staff is: (b)

a. 08 5= Hours b. 12 7= Hours c.14 %= Hours d.10 == Hours
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27 3 FHATT AT a0 7L a7 F = avy 2 19§72 37 s w5 B oA e g -—-

Railway staff is eligible for TA/DA if he goes out of his head quarter (a)
a. Pt @ «frs 8Bbeyond 8 KM b. st &1 =ifirs 6beyond 6 KM c. Fadt 1 sfas 10beyont

10KM d. =#% & i ##1 none of these
28.77 #H=HT F B ggEe 2
Railway servant shall be entitled to (b)
a. " F427 99 ¥ .7.4.137 9 1515 days LAP in a Calendar Year
b. % F=7 37 7 .35 3 3030 days LAP in a Calendar Year

c. T ¥4=27 911 H .7.4.5% 9 2020 days LAP in a Calendar Year

d. =% 71 %1¢ 71 .none of these

29. =97 ST A9 ZaT Atad F9 F o iy o

Maximum limit for accumulation of LHAP is (d)

a.240 71 days b. 180 = days ¢. 300 29 days

d. #f5a ##9 F B 5 e 5 No limit for accumulation

30. F HHF § 7 FHATT Al fAn B e gf frarh 2

Leave not due may granted to Railway Servant at a time (c)

a.60 1 days b.90 f&7 daysc. 360 P daysd. =% & %1% 777 none of these

31w a7 F w7 www A1 & s a7 anei —

All kind of leave in one spell shall not exceed (c)

a. 02 a7 years b.04 717 years c.05 717 years d. z=# 3 %% 47 none of these.
32,7 #r a1 § T FHEAT 971 wfirwaw feae B deed ad frafr s

Maximum Hospital leave granted to Railway Servant in one spell (c)

a. 24 we months  b.28 7= months ¢.12 7714 months d. =% 7 97% 771 None of these
33..7 ¥ o i - F= it 04

04 set of PTO are admissible to (a)

a. wdr T all groups b. Fa= a7 A A1 afuwreaT % Fm Group A& B officers only

c. ¥4 g7 m #7771 .Group A, B & C only d. 7% 7 #1< 771 None of these
34543y ¥ afirras Fae faar 5 B aawfa 2

Maximum dependent permissible in privilege pass (a)
a.2 b. 3 c. 4 d. 7% & #12 771 none of these

35. 5 =17 mrratdT Ist AC 7 477 7 7947 £
The holder of Silver pass can travel in Ist AC (c)
a. 77477 Self only b. wirar= sifeq @=+=a1 7% 4With his family up to 4 members.
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c. 74t #fza with wife d. z% 7 717 791 None of these
36, FafagaTee ATt abEr Gem 7 Baw 92 57 a0 d=r o0 7 £ 26 s amrd et F
Gazetted officer on retirement who completed 26 years of service are eligible for post retirement

=

complementary passes.
a. 03 7= sets b. 04 7z sets c. 06 7= sets d. == 7 %1% 721 none of these
37. W= W FAAT AT AFAT F AT wEeAn

Member ship for clubs & Institute in Division is (a)

a. T=f=1= Optional b. wfamd Compulsory

C. 4% #=Al § Jafo7% 417 4= #zA41 § “f4ar7 On some division optional and on some Divisiop
Compulsory d. Ta% 7 17 771 None of these

38,71 AT T2 A1 A a1 41 A 2

Half day LAP is granted to (c)

a. 77 #t 7 91 #9=rFr Group C&D employees b. 7t 71 FH=171 All Railway employees
C. FIFETAT F713A 47 % F1iae wrEr i/Artisan staff of Workshop/Production unit
d. =% 7 97% 777 .None of these.

39.Fm1 wmre § S T i AEi a#
In which case special pass is not allowed (d)
a. @9F= af4a1f7Ar sports tournament b. ar=for F=1 Territorial Army

¢. 739 72% Union meeting d. za% 7 %17 921 None of these
40, 7% oy arwfans g a9 597 Fir 557 =1 w2 1 afHar § —

DRM is empowered to sanction special casual leave up to (a)
a.90 %7 daysb.30 27 daysc. 20 %7 days d. 7% 7 %12 71 None of these
41, === % oo s B e asfes gl ags frarawd 2

For blood donation, special casual leave can be sanction for (c)

a.02 f27 daysb.03 f3= daysc. 01 f3+ day d.z=19 &7 712 73 None of these

42, TTC" &'D" =TT 7 A iz 0t F v gEmw g

Group “C" &'D” employees are entitled for three sets of pass on (c)
a. 77 #3179 219 7 010n completion of 01 year service

b. @ &4t 1 #19 77 010n completion of 01 year service

c. 7 #4101 #14 7F 050n completion of 05 years service d. None of these
43,7 e % P ara w81 2

Not entitle for running allowance (c)

a. =1797 Driver b. «rz# Shunter c. % 292 wder travelling ticket examiner
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d. % Guard
44, F g ArEERT i 1 A= AT AFAT 2 ——

Casual leave can be combined with (a)
a. o swfaT 2 special casual leave b. s 397 %41 LAP

c. #TH1¥1 £ Hospital leave d. =% & %77 771 None of these
45, wfzger T s wd F For g

Female Railway servant entitled for maternity leave for

a. 90 {7 days b. 120 G days  c¢. 180 f3 daysd. =% & 12 None of these

46.11% Arfrg F1 Tram B A7 2 AT AR 9AET 2 A S A —
Composite transfer grantis permissible if VPU is used (b)
a. T H#1 94 994 one month basic pay  b. §7 377 %1 80% of the basic pay
c. g a4 %1 70 % of the basic pay d. =% & 71% 777 None of these.

47 P SraaT 41 % AT T A e A 2
During special disability leave, full payment is made

a. 795 uAT1 04First 0O4months b, 795 w#1+ S5First 5 months c. 799 w219 6First 6 mont

d. =% 7 F72 74 None of these

48 wrdE 7 41 At § af g g —

Recruitment in Group D category from open marketis to be done by

a. w=# Frara7 Divisional Office  b. 77 &+ 1% Railway Recruitment Board
c.RRC  d. za# & %1% 771 None of these.

(c)

(a)

(c)
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16. 2TSIHISI RAJBHASHA

3. amafrar odves AT & ToT TrraTeT wee AT I
Questions and Answers on Rajbhasha for Departmental Examinations

STl HEr AT TTSTHTST &7 &7 (™
What is the Official Langunage of the Union of India ?

I U EEIR RO ARE  dngs e ) S 2n) fEar

Hindi/ in Devnagan Scnpt.

m#ﬁmﬂﬁrﬂﬁrxvummﬂmﬁﬁgm? (T)
On which date, Part XVII of the Constitution was passed in Parliament ?

3 T)14.09.1949. dT) 14.09.1950 Hr) 14.09.1963 3r) 14.09.1976

TTeIST AT 1963 T T EHI?

When was the Official Langnages Act 1963 passed? (@
3 T)10.05.1949 @)10.05.1963 T) 10.05.1952 1) 10.05.1969

TrorsmT AT 1963 Fa w3

When was the Official Languages Act1963 amended? (T)
3 T)1967 dT)1963 Hr)1964 21976

ST Tt & aga aeffeadrar T wlaa &2 ()
What are all the three regions classified under Official Language Rules ?

FIOF, T @A @) A dTnFIRT

‘A’, 'B" and ‘'C" Regions.

g ure 5l feaw & waTar ST & ()
When is ‘Hindi Day’ celebrated every year ?

3. U) @Fav 14 ") Seadr 26 Hn) et 24 ) waEd 14

TS AT & 3ER, A R FeaR gdweg e 8 & e AT (™)
According to Official L anguage Rules, under which region Andaman & Nicobar [slands come?
30w CIoke Hnar N

) “A’ Region

89 W & agd afiead &g onfla e sl & ()

Which are the Union Teritories classified under Region ‘B 7

) oA sger 92Te, grer R AR gde AR gAw R §iF
") 3= 3l EeEr
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11.

13.

) AT

2N aﬁaﬂwm

TUnion Temtory of Chandigarh, Dadra & Nagar Haveli and Daman & Diu.

FEOTT=IeT W2l 2T TISTSITST &4 &7 (™)
What iz the Official Language of Anmachal Pradesh ?

3. WS LUELA ) féér &) Fearlr

T) English.

IRy sy @erieRT fw T JrearwEr & FeeEaes & o g i Far g (M

What is the Act passed to give legal form to the assurances given to Non-Hindi speaking people?
3 URTarsaT (Fenfee) dfeEaE-1967 A TersmeT (gt daETE-1963

) Trorsmer (@ fae) Af@Ta-1957 &) aorsmer (g fEe) sfeRTE-1976
TOfficial Langnages Act (Amended) -1967.

ot AT & anr 3(3) waw wurdr (M
From when did the Section 3(3) of Official Languages Act take effect?
3 T) 26 ST=Tadr 1965 @) 26 HIGL 1966 ) 26 STagdr 1972 2 26 SaAair 1959

T )26 January 1965.

T HiAfaaH 1963 #ir anr (V) fFeg gafea & ()
With which Section (IV) of Official Langnages Act 1963 1s concerned?
3 TyHEer aaamT RfAT & meag gEfua g MHoaEF T dFaRT ¢

o) Y &Y TrsrsTeT @A ¥ wERa g &r) TSTHTST & FrATFadd W HaTUT &
) 1t 12 concerned with the Constitution of Parliamentary Committee on Official Languages.

TSI AT i SRS Gofarel HeTede 343-351, Fiawa & a7 ¢ ()
In which part of the Constitution are the Articles 343-351, that gave information about

Official Language available?

3. ) HRET-XVII(HTT & H197 #)

1) $TaT-V 11(EHT 19

NSET-X V(HTS & o197 )

1) STV [1(9T= & 79T )

T Part XV1I (In the Seventeenth Pait).
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19.

26.

aaATA Wiaure @ Sl AR & Reas st g @y fRammr
At present how many languages are enlisted in the Eighth Schedule of the Constitution ?
3 W2 ared #m2s 228
wfaara & smer V- gee-AfaeEa T svEy & e et A
In which Article is the provision regarding OL Policy availlable m Pait-V of the Constitution?
3. U)HTOE 120 IO 40 WNIHETOE 100 ENIHATOE 90
A) Article 120 B) Axticle / 240 C) Asticle / 100 1) Axticle / 90
afeurer &1 HTedi gT-Had saure 59 # 397y ¢ 39 Heoq & AH adEv
Name the article in which the provision of the Eighth Schedule of the Constitution is available.
OHAEOE 344(1) 3351 A e 342(1) R 350 ) IgOE 244(1) X 251
TMArticle 344 (1) and 351.
ToraTeT HPATATH (1963) FT T feamaam
Why was the OL Act 1963 passed?
1965 & arg o BEr & AW IS H SIIT A § W
#1)1965 & a1 AT F 39T F 2 FA F AT
N & & 9aier @ 9 e & T
mmmmmwgﬁﬂmﬁm
To use English along with Hindi even after 1965.
TremeT A F@ R g
When was the Official Language Rules passed?
3: T)1976, 1) 1963 ) 1981 &) 1952
wferare & 0T XV 11 # e 30T &7
How many Articles are there in Part XVII of the Constilution?
ERUL CINEA:] s g
HATOG 344, & o H AT HIGT #7754 e HITIAT AT
In complhance of Article 344, when was the Official Langnage Commigsion formed?
IWMEY1955F  d@Nav 1956 dr) aw1963 2N av 1976
TSTHTST HTITI T TEAT HEET Tl T ?

Who was the First Chainman of the Official Language Commission?
3 vprdrsr @y d@nsfrarssdssy dnsrshrdras &) AT TS A1IS
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27 U FE & wiet ) TR & & Prafse Rt & e s a0 @y

Who was the First Chairman of the Committee which was formed on the recommendation of the
Official Language Commission?

3 oAfrdr s & dsrstamasst  Wnafrshadrge 2 shereh st A
Shri. G B Pant.

8. WRUW & R wiRftes Faw Rfaaw ok smdeiter sieae St e @
As per the Constitution, who 18 translating the statutory mles, regulations and orders? (@
s ofeftmTem @ AAeE W WTATIT ) AWIHE AT
T)Law Ministry.

29 1965 T WA §Y F HUHNS 36T & fow Toemer HT T T & ¥ 7 Sy
HraT & I9E T 9 @

Which was the main language and co-official language used for the Official Purpose of the Union of
India upto 19657

)T - FET TSI T IS FEra TS

3T TET TSTHIST FUT 3E-HEAH T

EEhd AST TS ST TUT Tl-HErd e

TEnglish was the main language and Hindi was the co-official language.

30. SE-VIH HIF-AT 30T ¢ ()
Which Article comes wnder Part-V'17
T UPEESE 210 dNIEEST 370 N HAEOE 375 &) Heeow 209

3. T 1973 F TfsT vuw Wd B geger @ & wewear ae o (@)

Whio chaired the First Ralway Hindi Salahkaar Samiti constituted in 19737
3 Ui SfeeRrer T @) A TeE FAT sl s ARrer Enelr drege S

T) Shri. Lalit Narayan Mishra.

32. AW 1976 A Freauadd TS e & e dia & (@)
Who was the Chairman of the Parliamentary Commuttee on Official Language constituted in the yes
19767
U) dcehTeie AE FA AT HEAEAT 1) AT Ao AT
) 47 TetE FAT &) At A& AT

T)The then Home Minister Shri. Om Mehta,
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13, FEew vaew @faa & wiad gfaadle daw s ()

34

36

F. 2

Which Commuttee of the Commuttee of Parhament on Official Language prepares the drafl?

TEHET st RAfEEdr rew vd wrew svwaiy

dnggdr s BfET

4 jareter AT

) rfer wfafa

TDrafting & Evidence Sub-Committee of the Committee of Parliament on Official Language.

& HEA & Heere # @d A eEn R weraw & 9z W a9 @ an
In which year the post of Hindi Assistant was created in Railway Boand in compliance of President s
Order? (@)

WEN1952 F (T @18 7 WHT AT @

dnav 1965 &

@ av 1976

3 ay 1956

T General Branch of Railway Board in the year 1952,

fhw av & I aoresn ffdr anqare daR Reammr ot A e St & (@)

In which year, the Hindi Translation of Railway Budget was prepared and who was the
Railway Mimster?

W) ay 19567 FEAT A FerEEgT A

N av 1956, 7 Faafta 4t eqe HerA 36T

€ aw 1956, Al T A

) aY 1956, AT AATEE

T) In the year 1956, Late Shri. Lal Bahadur Shastri.

O AS A TR (FHE) T HT 6 T EHT U1 )
In which year. Hindi (Parliament) Section was established in Railway Board?
3. TEW 1960 dn ¥ 1956 #nav 1976 ) ay 1977

TaHr el gEg fraRfE el s s amnas Rl add (@
Wlich Sub-Committee of the Committee of Parliament on Official Language inspects Railway
Ministry?
30 gud swaffy @ g sg wfAfy o) dredr sty mwmaﬁa]
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38, @E A5 ZEw R & FAea & We stadr feer @) fars

39.

40.

41.

42,

43.

What 1s the scheme implemented by Railway Board for doing work in Hinds ?
3. URTSTHTNT STEFAId Tehg JIED

) TSt e g

o) Tt oies

) AT SATFAId GG

() Rajbhasha Individual Cash Award Scheme.

THeT B & T § 41 Ha £0
What is the expansion for OLIC used by Dept. of Official Language

URTSTHTNT #TaT=ad+ AT AryrsTeTT WHET WAL
T TS IE AT FiAT Zn) st g wfAfe
TOfficial Language Implementation Committee.

FrT WER FFAAET F Bv Fas B gsgwy Rufiag

How many Hindi courses are prescribed for Central Govt. employees?

3 odfe daw d@ngaw o
T)Three.
FErT TR & FAaEr F B Puifte s T aeuse staar

Which 1s the elementary Hindi cowrse prescribed for Central Govt. employees?

TETY @nwdor @) 9 ) wYuTHS  T)Prabodh.

#z 8 s Eraashh
Who 15 the Chairman of Central Hindi Commuitiee?

T #Ar A AT AEA ) fore #A ENEDEE ]

T Prime Minister,

ferelr fareher Farerr / Remer F B & vamewRd g3 v @ weer siad gty S Y

Which Committee reviews the progress made in the propagation of Hindi
in particular Mirstry/D epartment?

v) B werg s wAf dn) & Tmw
) (g HArerg wAT @) e @A

T) Hindi Salahkar Samiti.

@
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W“.

45,

46.

48

49

T
p—

TAAI WHEGTT IASTATT FIATT F TS Dl §HT U

When was the present Parthamentary Committee on Official Langoage constituted? (T
3. UAAa 1976 @)AAAL1956 el o77 &rjAaair1os2

T) January 1976,

Terser & wEe AT & faa seew B (@)
How many members are there in the Parliamentary Committee on Official Langnage?

31730 dn 40 ) 50 7o

ggdrT ersmer BT & degsr & e e ()
How many Lok Sabha members are there in the Commaittee of Parliament on Official Language?

3 T)20 @3l #Hr42 ) 65

TretETe TaeImaT $r FEET giARfa & aHr 39-aaE & @)

Al pregent. how many Sub-Commiltees are there in the Parhiamentary Comumittee on Official
Language ?

3 mpIgEREE dnsmafa O FEwo swE@RE 2n3ed A AT
T3 Sub-Committees,

U AT WA F FET weed F4TE @
What 12 the main duty of the Committee of Parliament on Official Language?
el & wemer Iuaer fir gereT Har dr) & & saier o dael g # A ST

(@) T & ST Y FH T &) & & wermHr 39T & TER T
T)To review the progressive nse of Hindi.
THE AE # ATSA T3 TAHT FAeadd FiATT F HeAE Ha ™

Who is the Chairman of the Town Official Language Implementation Commitiee constituted
in major cities 7

T) AR F g T & aes AfUEr (@Y F U= WHR & givs Afuwdr
() 2,METH TS THUAT (&) e wurferes vadT
(@Senior most Central Government Officer of the dty.

T TFATST FIAT=aAT FiHTT $r dad H7 HaTiear 47 &7 ()

What 15 the penodicity of the meenng of Town Official Language Implementation
Committee?

T)3AgIA H UHaA 1) 2 Aple H Tha

) 01 A 7 THaAT ) 6 AEA A UHarT

TOnce in 3 months.

USTHIST &7 a1 Idme BT Sl 44K 4T &7 ()

Who prepares the Annual Programnme on Official Language?
) I HAAT ) W& AT wnawdra gAfa e aearw wfaf

Page 108 of 115



53.

35.

56

-7

Ministry of Home Affairs,

1 g WER & seETRar & e e K e a7 @

What are the Hindi courses prescribed for Central Govt. Employees?
3. U)9aTy, SETOT R WTAT /Prabodly, Praveen & Pragya.

Fry g@R & B FEad sAAiE & B fuiite 3@{F 75 goswwe @ o Do
Which is the final Hindi course prescnbed for clenical cadre employees of Central Govt.?

T) WA (Pragna ) ) 9T r) st & faemg
U S WER & wHary & e Gl oeamar # g 89 & @ sverey
wfeveror gieare w2 & @

What are the trainmg facilities available to a Central Govi. employee to gel trained i the
Hindi courses ?

vfea@e, g, T aw AR Tehueaee @ mEaoeEms dhwew &) Eefae
T)Regular, Intensive, Correspondence and Private.

vE Y # Tl ar Pafae B oder smafae & ardr @ (@
How many tumes are the Regular Hindi examination conducted in a year ?

TR drjefrer an #ERar g T aR

T)2 Times.

e Rl sew e 7= srfee & e £ (W

In which months, Regular Hindi examinations are conducted ?
JEECECERy dgFasEE ) e e & fewat-anter
T) May & November
e qreamat ¥ SRR £ & Rw Bl @
Who are eligible to be trained in the Hindi comrses ?

UjdhE BUER & g Al HR 3 FR & FeEEnr
) &g R & g Aofr 3 3Ed IR & FHAd
) v Aofr & FAaTr

&) g el

) All the Central Govt employees in Class [II and above.

AofT & e iy HHATY G 87 (Y]
Who are all the employees classified under Category A’ ?
T FAATY Toedr A s Bdr ar fEeEardrar 3adr @ &
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59.

60.

61.

drn) S A smaT aEer

) e arq SST IRT §

&) fomdr A amer afRer g

T) Those employees whose mother tongue 15 Hindi or Hmdustam or 1ts dialect.
FemHr T ofdEaaipas

Who are all the employees classified under Category ‘B” ?

TR FHAN Formdr A 91T 35, Sorme. HHAR, A, T O seageey s §
dn @ FAAd Sl avg smar B ar Rgrartar sadr @ &

#n) fSraehr AT ST I[ERTAT &

&) s 8

T)Those employees whose mother tongue is Urdu, Punjabi, Kashmiri, Pushto, Sindhi or
other allied languages.

‘i wAEEr e Aefr & wd

Who are all the emplovees classified under Category ‘'C" ?

w) e ATqerST FREY, TSR, delr, A ar wfAar &

oy ArgsmeT Ao &

) foreer Argamer Fes €

&) 3% S TE

T) Those emplovees whose mother tongue is Mamatha, Gujarati, Bengali, Oriya or Assamese.
Fied wAGANT TS0 F

Who are all the employees classified under Category ‘D"?
T) & FHATR AT ST ST swrar HASh ded §

@) ST HRATT Srer ded @

& & s o R ared &

&) 3% Hg T4

T) Those emplovees who speak a South Indian Language or English.
Aofr @ & HATY F FE TETEs & TRIET g dEas B

From which course a Category ‘'C’ emplovyee 1s required to be trained?

T) S&ToT ") 9T ) sy &) o=
TPraveen.

Page 110 of 115



63.

65.

67.

68.

69.

70.

aoft & & HAA # FE ogaEs ¥ TRET g9 s @

From which course a Category ‘D’ employee 18 required to be tramed ?

) weor ) 9T o) wary EL

@) Prabodh.

T @ G H & 0 TE {IT R A

What is the lnmpswm award for passing Pragya ?

) T 2400/- #1) % 2800/- HnE 3200/- 2% 4600/--

TIHEH e [EHR T & Ted TUH PR & 60 dehg TEEHR 1 F47 87
What is the Cash Award amount for the first pnze under Collective Cash award Scheme?
) F 1500/- M) 2000 TqT #1000 39T & FE AR

TR e, TUERR AT & Aed aady e & o Fshe [EhR A = &
What is the Cash Award amount for the second pnze inder Collective Cash award Scheme?
) %.1200/- ") 51500 T)1000 /- 2N 1600%/-

AR Aehe [EHR o= & d5d 9 AR & B qwe [Eer i el & @

What is the Cash Award amount for the third pnze under Collective Cash award Scheme ?
800 T N 1000/-F dn1200/-% o) FISTET
T ZHIE A 10,000 F HTUF oreq Forwar & fre vah o 3 fvaat srus QR v S &7

How many first pnzes are given in a year for writing more than 10,000 words in one unit?

) &l Two N TR Hn 9 ) FrEFE

T SRS 7 10,000 ¥ HUH oeg foEe & T U a¥ F T ada TR
few s &

How many second pnizes are given in a year for wnting more than 10,000 words in one unit?
el Thiee n I d@nyarer a’]ﬂé’aﬂ

TH S F 10,000 F HfUE oeg Pwe & e ve av F B gt weeR
few Sra &

How many third pnzes are given in a vear for writing more than 10,000 words mn one unit?

)T Five @n ar dnare #nerg A
In which order Name, Designation and Sign Boards are to be exhilited?

@n

TEeiiE smeT #niEdr Epkiris T A FAH
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TL.

76.

HTH SaT GaRT Fa B0 S aret Srdfaa smeT 7 S faar smar ¢ @
fsmies (1 wRRFm e @ Fea R @naEsh &) wels
U)Trilingual form (1 Regional Language2 Hindi 3 English).

@ v fow wF § d9r e I (™
In which order Rubber Stamps are to be prepared?

vfEdr-3Eet gfaemdr-ve ofFa &l A ve ofew s

dr) g ST FES A

) gt o il &

& #g e

)Hindi-English Bilingual from-one line Hindi and one line English.

fAslr sres Enr ey, wEor AR g 3w & e e dr R e

Amonnt of lnmp sum award for passing Prabodh, Praveen and Pragya by private study.
T) Tard/Prabodl F1600/- T/ Praveen F1500/- ATV Pragya F 1200/- 9cdd &

@) waETg/Prabodh F1200/- FEOT/Praveen F1300/- WTATPragya F1100/- Wedd & oI
#T) ware/Prabodh F800/- WATOT/Praveen TBS0/- WTAT/Pragya T600/- Weddh & For each.

forstr srearger garw fedr cwor qder 30T wE & O AT gearel v qed WERR

TRy = @
What is the lnmp sum award for passing Hindi Typewnting Examination by private study?

)T 1600/- an T 1400/- #1300/ 2N F 1100/-

Hiodl FTge & anfAer el smar &=w &

What 1s the Foreign Language included in the Eight Schedule? (T
TSI ") g &) TS A

T)Nepali.

FITE FAET FAHT ForT TWHN F FARAT & [ gfrer & 3w & & (@
Which Ministry /Office 1s conducting the exams. for the Central Govt. employees ?

WAE AT & Hfe BEr e e

dnie #@ae & wder BEr Preor aer

) e s & e Réy Rvaor dveew e A

T)/Hindi Teaching Scheme under Home Ministry.
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i s

9.

80

81

Teh 'ﬁﬁ‘?{ 'EHH‘-TIT # AT Slaaa Pwhois eligible for lnmp sum award? ()
T FHA S @S garEt & Ry & ol g w

ang FHATT S e aaret @ @l & olfer aw &= E

g T & gl FHaEr

2n) fedr alvem 9 S arer e T & T HAHEr

(T)Those employees who pass the Hindi exams by private efforts.

e #r dwont TR we 7 @ e @ (@)
In which order are the Station announcements made 7

w) Frsmir (e R iR 3fs ) 2Rrsmi AT iR 3ism

) a2 2r) fonelr off smaT &

W Trilingual ( Regional, Hindi & English)

F a3 # fmw s wefila e s @ @

In which proportion the Roof Board has to be displayed 7
wyEAr T - @i, Bl R sEsh) dngreeEa e A

) fer ofr srepara & 3r) ohael &7 ST H

T) In equal proportion-Trilingnal (Regional, Hindi & English).

¢ & 99w @13 TP yer wefia fear e & @)
How the Panel Board of a train has to be displayed?

o) et (&, fEdrsitanis) # dnyefrsmdn ey, fEén &

) g R 31 3t o) &)ty sfr s o

TinTrilingual { Regional, Hindi & English).

AfFas ddq & v Hlea g7 ()

Who all are eligible for Personal Pay?
Uy BN & THEIVH @RI AT WA GOarn Faria gdrem 3HT aee

W, &g WHR @N Fo A & v @fgse o s g a5 )
&) geor g e 9T FTe 90

A1) IRETT GEET 9TH e 9T

&) wrE A

) Passing Pragya Examination organized by the HT'S of the Central Government or on passing the prescribed
exam. Duly securing the specified ®o of marks for ceriain categories by the Central Governmeni.
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83.

84

B5.

86,

&% WHR & ATHY FHaar & B wiEeor st e & (®
Why traming in Hindi is imparted to Central Government Officers/Employees?

) arfehd BEr # IueT e Bw wH &1

&) anfer 31 & dae # gaiY 8

r) AT geletia e

&) e e

B2 araTaT SreamH fr dafeFar &/ ()
What 15 the duration for Hindi conversation course?

) 30 6 #@n 20 g 40 B2 &) &S A8

T30 Hrs.

fEdr sremer & gfErer | & e @i a7 & ]

Who are eligible to undergo training in Hindi Workshop
wRrsi-11 3R Tea i weEany Breg TRl @ e wrus AT srea &

") TsfT g TN & FHATY

9r) e - B T &

&) thad HigHrdr

e Jmeferiren, Torarhr ar smar fEdr weh &, @ R smyfefe alam ot w Weafda &
ad+ fora= fear smar & ()

What is the Personal Pay given for passing Hindi Stenography, to a stenographer? Whose mother
tongue is not Hindi 7

W12 A # A & BT 2 99 gEfuat & e Jfeg | dae

#n 1200F wid ATE

) g st & Jrarefr & 3w 01 ae gEfY & awEw

=) g G

TPersonal Pay equivalent to 2 increment for a period of 12 months.

fer erefier / ¥ewT Zanr fmar Sraaret f&ér erefier & wrar & A ey seangsr s

& fore grer @t & fore & grefr arfge 2 (®

What is the quantum of Hindi Typing work to be done by typist/Steno to become eligible for Hindi
incentive allowance?

g # wi@fege s are ar fardr i 300 A
a@n fEer A uidfga o1ae I &g #A100aE
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87.

9l.

9.

dn &S AufRfes 03 /e ar fagr & 200 e &) HIS T8
T)S Notes in Hindi in a day or 300 notes in Hindi in a quarter.
90% AT3H I HfAF HR95% & w7 3 Red Bd oo 9 A W Wewaarar

e, TR FI1E?

What 1s the amount of Cash Award for passing Hindi Typing with 90% or more but less than

95% marks ? ™
T) T 400/- a0 600 3/ @ 700/-F ) FIE F6T

fedr amyfafr & 9500 & Hfs I Ao R X Fhaer aehg REAR e

What is the amount for passing Hindi Stenography with 95% or more marks? (44
™) $1200/- n) 1500 %/- HT) 1800/-F &) 359 SIS A8

3r & foreh fgdr s qrerer fGam Sirearer Ay 4 87 ()

What 12 the honorarium amount given to Pari-time Hindi Libranan?

T) F 500/~ Wi A &) 1000/- T 9fF 71F &) 200- FwfdAE A aE

fedr ey R alrem 9 A W Aedarer v goa [ER fhdear @
What is the lnmp sum award given for passing Hindi Stenography Examination?

©) T smafef®y & 1500~ ) Ry s € 1100/~ ) B AR F 2000~ ) WA
) Hindi Stenography Rs. 1500/-

THE END
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